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[ 53¢k ] Modern society has become more complex, so it is essential for the young people to
have the ability to plan and organize.
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[33Cf] should the purpose of television be all educative, not entertain
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[ 53¢k ] If you need to discuss upsetting or controversial problems with others, you will use
e-mail or text messaging, OR use the telephone or voice-messaging.

vER: e-mail or text messaging /& —M%&Ti; the telephone or voice-messaging & 55 —™ik
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[#3R] In 20 years from now on, students will not use printed books anymore .
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[ 53k ] Nowadays people are more willing to help the people who they don’ t know (For
example, giving food and clothes to the people who need them) than they were in the past.
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[ 5 3ChR ] It's much easier to achieve success without help from one's family than in the past.
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[ :3Chik ] The ability to read and write is more important now than in the past.
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[ #3ChR ] Getting advice from friends who are older than you is more valuable than getting
advice from friends your same age.
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[3<3Chi ] teachers are appreciated and valued nowadays not as much as they were before.
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[F3ChR ] Is it easier to be a success in the past than it is today

(5 —AhA]

[ 53¢k ] In the past, it was easier for people to identify what types of career or job would lead
to a secure, successful future.
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[ 530k ] business to successful, must put more money in advertising
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[ 53¢k ] advertising is the main cause of unhealthy eating habits?
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[ 53¢/ ] Advertisement is a waste of time and money, because customers already know what
they want.
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[ 53¢k ] modern agriculture method damage the environment, but providing food for the
growing population around the world is more important than protecting the environment
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[ 53¢k ] although a lot of people know the environmental situation ( global warming etc) the
present situation is unlikely to change in the future

(5 —AhA]

[ 5532/ 1 Most of environmental issues are too complicated, and individual can do nothing.
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[3< 3¢ ] Using clean energy to protect the environment, but the traditional energy sources
such as coal and oil is less expensive.
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[ 53¢k ] Is it more important to use land for human use such as farming, industry than to save
for endangered animals.
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[5£3Chi] It's better to use own knowledge and experience to solve question, or ask other
people for advice?

28+

(EEY N
[xitt]
(A EY £iRAT AT

[ 5e3Chin] If people are on vacation, they should leave their mobile phones at home.
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[JE3chR] Al scientific discoveries should be shared among all scientists all around the world;
the government and businesses should not keep any discoveries in secret.
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[5£3Chik]  Scientists have been working to make technology more easy and human friendly.
How do you think technology had affected our lives? Give specific reasons and examples to
support your answetr.

[ —MhicA]

[ 53k ] technology make people's lives simpler in turn to make people's lives more
complicated..
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[5£3Chx]  The most important problem affecting our society today will be solved in our
lifetime.
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[ 53¢k ] e car(automobile) has had greater effect to society than the airplane has to.
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[ 53¢k Y It is better to choose a university whose graduates have good job opportunities than a
university who has famous professors.
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[ 53¢k ] Most of the parents at some times find disapproval of the ways teachers are teaching
their children. It's not suggested for the parents to express their disapproval to the teachers. Do
you agree?

[ —MhicA]

[ 53k ] Do you agree or disagree with the following statement? The most important goal of
education is to teach people how to

educate themselves.

[ —MhicA]

[53chin] The most important investment that can be made to the education of children
aged from four to seven is giving them a computer.
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[ 53¢k ): To make children do well in school, parents should limit the hours that children
spend on watching TV or movies.

[ —MhicA]

[ 23k ): To make children do well in school, parents should limit the hours that children
spend on watching TV or movies.
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[ 53k ] Do you agree or disagree with the following statement? Teaching is harder than it was
in the past.
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[ 53¢k ] improving school is the most important factor to sucessful development of a country.
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[ 3% 3¢k 1 When choosing living place, which factor is the most important one for you?
Living in an area that is not expansive

living close to relatives



living in an area with many shops and restaurants
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[ 3% 32 X1t is often not a good thing to move to a new city or a new country because of the lose
of old friends?
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[ 23] the young people today are less dependent on their parent

[ 5 hAk]

[ 5:3Cfi ] should parents help to their children do the school or encourage them to do
schoolwork independent
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[ 3£k ] Parents should let children make and learn from their own mistakes.
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[ 32fi ] similar jobs with you for your children?
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[ 9:3Chi ] one of the best way for parents to help their teenage children prepare for adult life is
to encourage them to take the part-time job
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[5hi] Busy parents have less time to spend with their children. Some people think time
should be spent to play games or sports. Others think time should be spent by doing something
together related to schoolwork.
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[ 3% 3¢k ] The more money people have, the more they should give away to charity.
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(R schi Y BuniRA e, 23K lasting time ELEK I ZR 7 such as a expensive piece of jewelry
& /& spend on a short-term pleasure, such as a vacation?

[ 5% 3Chk 12.spend money on long last thing or spend on short-term pleasure; e.g. buying jewerly
or taking vacations.
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[ 532k 1 Should we always state our honest opinions  (statement) even though most people
don't agree with you?
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[ 2 3¢hi ] Having jobs with low paying salary and being high secure is better than jobs with high
salary but being easy to lost
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[ 9:3ChR ] A job with more vacation time but a low salary is better than a job with a high salary
but less vacation time.
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[ 53¢k ] People care more about public recognition than about money.Even if no more money
is given, public recognition can still make people workharder
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[ 53¢k ] Some students prefer to have their final grades determined by numerous small
assignments, whereas others prefer to have their final grades determined by only a few large
ones.
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[3%3Chi] children should play sports only for fun, children should not attend competitions.
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[ 530k ] It is better for students at university or in college to choose difficult classes even if
they cannot get top grades.
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[ :3ChiR 1 Most businesspeople are motivated by only desire for money
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[ 53¢k ] When making major purchase(for example ,car or lapton),our decisions can be
influenced by different sources of information. Explain how each of the following sources of
information can influence your decision.(1)recommendations from friends or colleagues.

(2)information from media(for example, TV,magazines,newspapers)

(3)recommendations from sales person in the store
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[ 53¢k ] Do you agree or disagree with the following statement? the government is not
educating people enough about the importance of living a balanced and healthy life style.
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[ 53¢k ] know about the events happening around the world that do not affect our life.
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[ J:3Chik ] Visiting museum is the best way to learn about a country.
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[ Z<3¢hi ] The best way to improve quality of education is to increase the teachers’
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[ 53k ] people should not have to pay for the public transportation

68.
(8] 2
O LE Y [ 82 5510k 1 B

O T RIRAME, B H 3
[ SRR Y AT %K Pl 7 T 2 AR AN ZE AT 7 o

69.

(M)
[xFEE] 22 S5 o
[HA-FEY AEATHAS

salaries.

[T ] RTINS SEAT—RE B, IS “ it il AT VR RTIIE ", 4 REAE i 0 A L

Ho WRIRIIEE-

[ 53¢ ki 1 Drivers should pay a certain amount of fees so that they can be permitted to drive out

in traffic busy time.
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[ 53k ] Do you agree that the government should support the scientific research even there’

s no practical use
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[ Z:3ChR ] do you agree with the statement that the opinions of celebrities, such as famous
entertainers and athletes, are more important for the young people than they are to the older
people.
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[ 53¢k ] Famous entertainers and athletes deserve to have more privacy than they have now.
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[ 53¢k ] society benifits more from works of great artists than from political leaders
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[ 9:3Chik ] The friends that you can have fun with are more important than the friends that you
can get help from?

[ R]

[ #3ChR ] if you cannot say anything nice about someone, you'd better not say anything.

[ RR]

[ 5 3ChR ] If your teacher says something incorrect in a class, what will you do?
Interrupt your teacher right away
keep silent

correct your teacher after class

[ hA]



[ 53¢k ] Some people like to record their life by sharing pictures and other information on
social-networking sites. Others keep this information to themselves and never share it online.
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[ 3% 3¢k ] When people are going to celebrate a special event such as graduation or a special
party, some of them prefer a large party, while some others prefer a  small party with only a few
close friends and family members. /&= XA 2
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[ 53¢k ] Can two people be good friends if one people has more money than the other?
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[ 53¢k ] Competition with friends usually have negative effect on friendship?
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[ 530k ] Is there a good reason to be impolite(rude) to another person?

[ hA]

[ 9:3Chik ] In themodern world, we should never be impolite to another person.
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[ 532k ] In the busy and crowded world, we should not expect people to be polite to others.
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[ 53k ] you can know a lot about a person through the types of friends this person has
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[ 3% 3¢fi ] spending money on traveling & vacation vs. saving for future.
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[ 23] spend time alone is the turely best way to relex the stress.
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[ 9:3ChR ] Itis better to relax by a movie or reading a book than doing physical exersice.
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[ 3% 3¢ ] Playing sports teaches people more lessons about the life.
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[ 53¢k ] technology has made children  less creative than they were in the past.
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[ 53¢k ] Movies and televisions should always show audience good people are being rewarded
and bad people are being punished
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[3<3Chi ] it is only worth watching movies that can teach us something about real life,agree or
disagree.
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[ 53¢k ] A high school has decided that all students must take a class in which they learn a
practical skill. School administrators are trying to decide whether to hold a class in cooking,
managing personal finances or auto repair. Which do you think the school should require
students to take? Why?
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[ 3¢k ] Some people say that students should study many lessons during a semester, but
others say that it is better for

students to just take three or four lessons. Which do you think is better?
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[ 3% 32l DIt is necessary for high school students to do household work after school because this

can give them a sense of responsibility.

[ —icA]
[ 9:3ChR ] Teachers should assign homework for students every day.
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[ 5:3ChR] The best way to learn about a foreign country is to read the newspapers and
magazines from that country.
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[ 53¢k ] Many high school and university require students work projects in groups, and all the
members get the same grade (mark) on the group. Do you disagree or agree?
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[ 5 3¢hR ] high school students should take a course on basic economics.
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[ 9:3Chi ] Colleges or universities should offer students a better job preparation before they
start working.
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[Z< 3¢k ] What is the main role of the university professor, to educate students or to do
research?
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[ 53¢k ] Do you agree or disagree that universities should spend money on improving facilities
(labs and general requirements) rather than hiring famous teachers?
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[ Z<3¢hi ] The most important thing people learnt is from families.
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[53Ch Y In order to attract good students, many university spent a lot of money in society
activities
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[53chin] Government should support scientific researches which do not have practical
uses.
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[ 53¢k ] For successful development of a country, should a government focus its budget more
on very young children education rather than on universities?
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[ 9:3Chi ] government should spend more money on building new house than preserving the
historical and traditional house?
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[ 3% 3¢k Y it is important for governments to protect wild animals and wilderness area for future
genrations
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[5£3Ch] Do you think it is better to work with other people or work alone? Use reason and
examples to support your opinion.

112,

(2] B
Oxpbb Y 2l 50k
(AT E1] #8552 % M e 3l

[ 53¢k ] Patience is usually not a good strategy. We should take action now rather than later.
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WAEFE AT A (company's office) T.AE.

[ 9:3Chik 1 working at home with a computer and a phone is better than working at a compsny's
office using the same

[ AR]

[ rb e Y e 5 R E s A EEL 1S (work at home by using computer and telephone) T4,
WAERAFIr A% (company's office) T.AE.

[ 5 3¢hR 1 working at home with a computer and a phone is better than working at a compsny's
office using the same
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[ 53¢k ] people spend more time on personal enjoyment rather than what they should do

AorD?
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[ 3% 3Chi ] People who develop many different skills are more successful than people who focus
on one skill only.
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[ 9:3ChR ] In order to solve the problems of the present and the future, people should review
the past.

117-

[25741] HR

[xfEe) e 5 A%

[T ELY W90 e )18 2 s b

[rbochi ) BEANEAE /N T AR i i A 2

[ 53 ki People who cannot accept the criticism from others wil not be successful at working in
a group.

118,

[2574] B

(GO ® BT -]

[T E1 T 17 7 00 2 8 i B

[P schin ] S 3E N A 1 g ) B 2142 excellent knowledge for job 5 %L



119,

[2£74] HRYy

[AFEEY NS 5 PEA NS

[ 53¢k ] Is the most important characteristic of a good political or business leader is the ability
to take responsibility for mistakes?

BEa: REEE

1.

[2:74]

(QERE=D |

(i) SEEEURFHE TR AR Z 5, A AR &L
1. ZHTREEUANEE B,

2. 5T A 2 A X ORI,

3. BB TYET A,

(97711

1. BHETREBRE, (HIERIREWTJ1, TSI G,

2. FEE CRRE” RUF, RANBENSEINERE, BT RREMAZE RS E A
i,

3. B TREM TR, MBI

2~

[2571]

[%H-F-E11 deap-sea mining

[ %] deap-sea mining
1.

3.
[Wr71]

1.vocanic mining 3k medal A~— € available, H #f H R A4, collect and transportation
FORHEALF

2. B2 metal Ri54 2 AR LI, (HRI5PL2s drift back [81? Bk 232 500

3. BARIERZ law B, (HRE KL A coast, 1M coast J& T H—MEZK. {HZ deap-sea
I TT AN law HE S CREGERXAME, ICAERE 1)

KN

(5]

QRS

Q3559 BESe e ey Sun (R HUNS DA A A W S DNt 22 R T b L T s
ERAGEIZRER) (AR EESE T



1. BN BT REH 5

2. WA R [F— I AR A T EE 52 reports

3. HIREHKIG TS system [T pipe 1EAE A B KA B
[ 1]

1. LBV RERA TN, BN pressure ()5,

#% ran down into;
2. P EREIR L an Sk T BE A N AW B common

symptom;
3. KIEERGAIRHI/K RS separately (), ANA[RERTS

=

TR
4.

[2E7Y] P

[#°FE1 1 will-o'-the-wisp F& U] B

[ 5452 will-o'-the-wisp & 40 LR, Three theories to explain how the will-o'-the-wisp is
formed.
1. Thegas from burning dead body will be flaming at night.
2. caused by electronic sparks from mineral like quartz
3. Flaming fungus stick to some birds which lived in the frost where they have easy access
to these fungus.

[Wr71] These three theories are all unconvincing at all.
1. Although this kind of gas is flammable, it is only burned in one place. This light can move
around, so it cannot be the will-o'-the-wisp.
2. The mineral is buried underground which is covered by earth. Therefore, electronic sparks
cannot pass through the covering
3. These flaming fungus are not sticky enough. When birds are flying, the fungus will fall
down which kill the chance to become  will-o'-the-wisp

SN

[2R] b

[SA-FENY vT LS A Sk

CBse] v Ak, B4R ?

1. AR

2. 5K, UK E Ak

3. Nt

(771

1. AkEH R, AR, A RER IR .
2. WXL, BIXAZEKE

3. IFEA NECSHIBIET R oK.

#
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[574]

(A EL Y R 40 A5 R 7RI pink lake hillier

CBEE] ARRW lake hillier B KR AR RIRE F 2 2B 4 (A, pink to human eyes.
T F0F A = Fh AR

1. KRR M soil beneath the water and the angle of vision.

AT ) 3 R I L A UTE S 2 R e,
2. 734745 Nahcolite,

WK 2E A AN SR metal 74T A .
3. HERAHY) algae.

K35 algae MR, ) RN, IR AR AL

[vr 51

1. SRR FHIZE B () BB AR B L — MR KOWEE,  RIL A L IR K R L AR f R
Ve Py iEAN R

2. BATARGRAGEMARMA G, FESMAEY TR E RN A RN A, T E
BAATAT T LA TRFT A0 A N 2 B 41 6 () )

3. INFBIK IR Aok T35, ACAWIKEERITRE intensity of pink 2Bl % 5 A ) B4
FAE SR, (HREEA .

I

| E=3ith ik

[#°FEI1 MIMA  mound 2 /E A R

[FEE] 2<F MIMA - mound F R A

1. Native american (1), K2 105 B 15 1 A AR v
2. HiRE, K¥EEA mound LT AR

3. —MEZRIZH

[Wr /i1

181255 Ly & SRR R NS 3= S ¢ B g7

2. B ATAT MR 1 7 2R mound

3. WA NWLER BN kb 77 A T8 T 1 B,

8~

[257] HhE

[HHT7E ] atarm

[3#32] red rain 7E indian Karele

1. comet theory, Ui NUENT 2] E A, BT LA I REZXFE, ARLLLl By SL& A A

2. AJRERE VR LAV T, M north afirca/abadia(Hf B ASXF) Wk

3. AIfER chilen(HHIIAKS, BiiZ2& B EEAHYII—Fh) spores, [KAiXFf spores 7 karele fffifx
#HRA AR, mHARK&E, FrLhIEE A% A 1T g2 B oA 5

[ 1]



1. 22100 B4R T 3 KL, 3 IRBRATERI—ANHLJ7 42 very rare.

2. the red dust from deserts are contained a lot of chemical elements, such as Iron and
phosphorus, 1HZ BRI FIX b2 5 (1 & 82 very small of amount it AHA AT g

3. J i spores AN KT AE, i 1 44T LIFE CIRCLE 15 40 St AT T [A] I 1#E X\ reproductive phase
A eI spores, It AR #E AN IX 4> Phase i )L HEEASE T 0.

9.

[2544] Hh3

[#-FE]

[ 7321 There's a oval-shape depression in Argentina,some one said that it's caused by
Meteorite impact by giving three reasons.
1. shape
2. Meteorite fragments found in and around the crater
3.
(%711
1.

10,

[2544] PR

[#HFE ]

[5ie] H corn Z ZRAHEYIMM HIH 2% kL, biopolymers,

1. 5T R

2. TREMMR

3. EMASTE

(7)1

1. B R R AR AT, M HARXE meet ATA FI41E: B0R, £/, %F heat
F1 moisture f¥11, ZLHFI traditional plastic —FEK I [8] A BB B .

2. v 11 biopolymers, et F KGR, TANAGEONFERETT H5 R8s (FR R
AR 25540 450D

3. Jfi & b4 inferior, lL AN £ /7 C D274, % durable, ifij biopolymers 7£ heat 1 moisture
NPEfE, BT

11.

[257] SRR
[HH~FE ]
[e ] SCE S22 3 Nk coal burning (175 4
1. RERMRCE, MESETHRE. FTUE long run b3kE AT LS5 4
2 FKPPORIER, BREaGRALIEIA A 8RS IR L.
3. USRI E HEH ) AR
[vr /i1
1. NEHEKAERF 30%, REEmEBEIBREE R 4 10%
2. X PR AS BIK R G, 205 YLl R



3. BUENCER ARG AR SR, T H — B R 275 Yedh
12,

[EM] 3R

(GRS

L] A 20HGT) (dispersant) 3B Oil spill $iifEAERE R E HI 2R BA RCR
1. AREMIRARE SR, RO R AR BRI AE /), burning A RERIIRH Bk

2. ORI BB F

3.
(W71

1. BB AERFE T N AR, i KR BOR B PRI AN RE AR D i B 7 ORI A
TR A /N LR AR AR 1 5 DRI A W] DASE — 20 i Byt e L A 4 1 2 g A PR oA ik
2. ZHIHGRSRIEMAEA, WEKR, WEPHMALEEE

3.

13,

[257] SRR
QiR R R e E i R S s
[FE:] 2 WA hydrope (Hf4%5 7 )  fuel-base engine LLINAEFH (147
1. A= AR
2. V54
3. ARk
[
1. SEHEFEE hydroxxx FEANHEYR
2. & pure BAEF I liquid 75 ZLREERIRR, V54— FEEE
3. A= engine 1R B¢

14,

[267] SR

(@TiRESD BIWN

[ %3] Salton sea fi7F california FLiE/KIE R, W T =Mk 5 %
1. BREHEAT b2

2. BANHEIK, AR —EB 57

3. REBREE, ®iibRE—ERN .

[vr i1

1. WiEkEE.

2. FhONHEIK 2215 BLigK

3. TR o4k

15.
[255] R
[HTE]
[ i1 dental amalgam

1. XA



2. RIBEALF

3. HAE AN AT REME;

[Wr i1

PO EETS

2. WIS LR

3. HAih material PE{ LEAMIE amalgam 4F;

16-

| ES3it) E2NPN

[HH-FEY BB R4t

CBai] PF—Fhbu R b R 48, single-stream recycling system, #5H 3 /) disadvantages:
1. 04 TAE N 3 AE AL BRIV I ik iss i 2

2. &G

3. AKH

(W7 711 355€ 11X %L distanvatages

1. AEGERE, FATENRGW T 2a80)1, HFBA0T ik

2. BARFSGYY, BRIKRITE | Bk i

3. BARAGMIAR, 1H2Z operation cost K AKFFK. 256, truck FIEE ML, AN THA
Wb, SR T A )

17+

(257 RfR

[HFE Y L

[iEE) iHe K R BN SENFR  dioxide 753, SCRBI%E T — LR T
1. 5

2. R

3. BERAHE

(777 #d%—— K

1.

18-

[5] AR
[5FEY N THl =R KCE
[ 3352 YUK hail % ERIHIR, F T cloud seeding (RN T.F&RY, s infffL4R silver iodide,
BUR PR EGE NS
1. labtory experient 4%k cool the water vapor
2. unbran clouding seeding protecting the field and farm
3. local clouding seeding monitor the corp’ s damger
(7]
1. SRR AR SLEREEM, ATaeA AR (a5
2. Asia & FIAER L EARMEH, BOSIRTSY™HE, particle 2 84 % 12 AR K
3. local proof Ui FH| 1 %7772 LA i BH ¥ B AT 2647 5 /b, (B2 %% & local variation and weather



19.
[25] FFfR
CHTE TR
[ 532 natural gas 1K 8 1% /b
1. ARTHReR

2. PRAETGK

3. MHX

(97711

1. FSEASR T AETR, (H2XAERPHREA R R E T 2, 1M H RS A iR =S A2
P —2F;

2. 57K B ] 1 2 208 B [RIRE TS S KR
3. JPRETEH = off 4L IX, AT ARl =k, XA LGS A X5

20+

[253] FFfR

[HASFET Y BRAR S AR RR I 72

L1732 98/ KA CO2 (1 =/~J7i% reduce CO2 in atmosphere

1. FfEe FIFHBAORTIL, H4 CO2 fAfffE AR N
2. I CO2 pipe BINIFIR, TR TEAGE, CO2 F i AA: TR

3. 1 CO2 At e b i) & Ja S AL Mt e s

(9711

1. WECSERERL, 2o A BRe s ok

2. WRIEATRE, WHAE MR B KRR 2 1 B B IR A, BRI SR

3y XA e I T AR w1 UL T P SR e R e fosssil fuel BRI S 2 A Ak Bk

21.

(7] 3 fR
(W] RE. KEE, KFHRE.
[l i3] SCE SRR B fE

3.

[vr i1

1. fATIANGE efficient, L HIRZHTT, LALLM,
2. 77 solar power A RS A — K2 FH 5250

3. HARMRE K

22+

[2£7Y] 35

@ RE=D ARG

[ 3] FEHX R 7 2 M H ) red rain
1. volcanic eruption
2. meteoric explosive



3. sporesof lichens

(W71

1. 5—MAlReERK red rain, (HA K AT BE2iE X 4K &) red  rain, 1 H RS 7K B %
A KZEm )

2. BB LA SIS BRI 4 KK clouds, 1 H. clouds 2 8E, # &4 T explosion, R
GRAE T M TT

3. FB=FMEHN, lichens {FAEMHTHE, R EEFLWIE ground-leve! 1 air, & EAT K red  rain, 752
IRZIRZ 1] lichens, nJ & REAEZXFHINE.

23+

(7] 35

[H-FE1 N5A%

[ia2] 2 NS SRR SR A0 -

1. NS BRI e [ A

2. KEWWNAKRERE, T AR ML, NS+ 1

3 NEEXRAKZNY, Frel/NEh s sene

(W11

1. FARHRIAREABRRK R, ARSI MERSWIEAZA R T, Freliie—4
SERPERIRN, L

2. BOIEERYINRERSERZNY), B HEARNAE — NI H5E, AR REIE— A sh W £
3. /NEBIE T AD

24

[257] F55s

(57 e

L] 754% 241 peatlands 2 wind turbines (—FfXUGE) I AL

1. s 4 Rel, BOREEIR T peatlands;

2. 7E¥75% peatlands [ FE AR T IR S SRR, XA EAKLR;

3. A AANEE peatlands 1%, T2 A i X

[vr /i1

1. ALK, A visitors %02 nature lovers, i X AE H T ALE the most clean and
renewable FIRETR, BT LAF R S 515k Ak GGRABLD J5A% 2% 24 Hhiis & 5 peatlands 4 1R
R T, FrUMBATES L BE £ (1) untouched (13177, FT L2 peatlands tH ok;

2. MIEF gas B, {H 548 H] fossil fuel HEMUKIEAREL, /NAR I, K AR IR ~

3. AW, Ry wind pattern, HETTRI local weather, X FEH G &R ™
ST

25+

[25A] HR

[#1°FE1 Jinteractive Voice Research(IVR), —AN#T H 3G & BARACE AIT IG5 2,
[ 1] Interactive Voice Research(IVR), —/N#TH) HBNTE S HAAE AT BiEMTT M,
1y WSE—— TR A pl R A AAS S LaS it Ui

2. ATEE——THEARIEA, IS E 2 N Az, HRcEm s 2 By iE



3. 4 VOICE FACTOR BT H——# 2 — A k&, FrbhiA e A B B & VRS

[vr /i1

1. AWE——4 AT AR AT REXT LA UL T, PR AT AT BT 1 [ 25 e 44 00 A B AR 43 #r
FIPFALG o

2. AfE——gRE N Z PR, AHEER G AL

3. AREES VOICE FACTOR T #i—— XA H 2 5. R DE£MRN, ©&Raml
PN

26+

[RA) #F

[B-FEY (L HE

[ 3] online education AN

1. NHUEERSE T4, AUEGEE MRFRE — A —FF

2. AL social ability

3. AR 2R

(W71

1. W IR AR GG, A paper B[], AN LE, BEG S RAE RS
T B AL

2. AL ARFE R AT DLTS, 2 IZk T A TEE /I 10, BUFE A EREIX
3. M4 paper B2 Z# check

27~

[RH] #F
[EFE Y NS R
[FEi2] A4 debate, =75 M iZ7E elementary school 4% —%& musical 5 fIRFE, & 515
ZNNAE
1. s HAhE a5 R E 15 ST A
2. FRIFBOXLARFEIRBIRZ M 77, ELln SN EE 2 21
3. FIRIX L F IREH IR S LU TR 4 B A A K
(771

N
S
il
2}
=
3

28+

[2574] Sl

(@RS WA TR

[ %3 ] Microcredit ASBEAR P 23 FH 1) B
1. borrower ¥ £ business skills, iz =R 25 5 5.
2. /NEIDEER S increase 4R 4T administrative cost, & inefficient .
3. WIERBUFIEERFEA microcredit HTH, BAREBBIESLhrEIHYT 1, i E, FEikiE
%,
(W71
1. agencies 1] LAF&{HE other services, ELUn# borrower B4 PR, FliEH K5,



2 BRAT AT DA ER A 45t 4-5 S LAY small groups, FREAGSAS , X RELEHE A administrative
cost B T HEZ RPN

3. W TR/ NEITEEK 4R & agencies, BUMNHLSZAEIX J7 1 save money |, IXFEBURELRE
BB P A RE R KR TRE L, LR M B B A T A1

29.

[257] %

[#FE ]

[E1:] 4 5% giant-impact theroy [ 35215 LARTRF22 ZO60 I theroy 5 #15E

1. thEk B AT HILE huge hole

2. moon b MIASKEAE KIS 584 dry

3. FAERFIHLERE AN [F)

[ 1]

1. #d77E 4billion FZATA 4 huge hole Lk M AZEN % T

2. HEHRAER IR heat KEBZEK T KBB4 H ERIUE 2T

3. fib# R ATESLZ outer layer, S HLZE 2K, FIMOON ZEAZ, FrLli4s

30.

[27] 5

(GERE=D B Y ¥ #F PN

[ 1521 Phoenician F-7EEHG AT RIS KRE 2 T Ok B39, #8516 Poenician #& 4
i ifE—F1 Egypcian 5 22 E %X,  Egyptian A4 T3 7

1. & Egyptian K J5fH &3 T nicotine, Tfi 4} egypt %A AEf% /™ i nicotine [ tobacco
B, TSE A P IX R
2. Phoenician B3 coin?id @At AR it EIHAE S PRI R 1, 150 BHIX AN 1 D7 76 A AT
{14388 7 91 L o
3. FE M pyramid F1 Egypt ¥) pyramid 1RAHL, I Phoenician IMFEE, 2% 1 Egypt 52
1)

[ 71]

1. M, B, il RIAESR PO LARTR R 50A & nicotine ) mummy 1. 55—
&, nicotine MK [ T tobacco, IEHIRZ Y& A nicotine.
2. R, IreH e 2R MR, 7T 6E N —FhE st .
3. pyramid FEAMG . Ui TN K ERA steps 1 flat roof, %= K& straight smooth
sides that endat a point(Eb i i #2 i 5C) » 55 [ 1) 72 F K religious activities, 3% 1) 2 /2 tomb.
1% FL A € /2 tomb.

31.

[257] %

[HHTE1Y SCHHZE4A vanished

[Bai2] —F9nY Anazia f9SC B 9848 vanished, flith &5 drought i i

1. AERARRE, 1ZSCHHVHIATS Y 1800AD IF{H—3 KM ARk ARnE, k™ H TS,
BT
2. SCHVHRAT, Anazia NCAMAHIMEEIKFIA S, (A5G 2 IX L0 SRR ORIIE 2 9%
7K, 73 Anazia N TG ROt RANFCR IR 9, #7185 51 .



3. Anazia {132 HE K FEH 598 with no notice, 3T H. in a short time, 35t B A& — 61 SC W 5%
TR R

[vr 51
1. ABRAREE L. SCHAYY i) 1800AD i JE &H —IRKARHE, (H5 R IL Anazia JR {3 Hh T
PRI ERIR AT, — s BANBROK, T8 IH A ERARRE HE SR A BR/K A BT o
2. Anazia NEJUASERTHUBEKRIA S, 1 AN 5E 26 G i & 2% K, Frbl, X
—UE AT .
3. SCHAR AR HE, T RSS2 1 oAt J5 R i) o B L2 plague AR 4+ war B —FhERIBIA A,
AN AR BRK I3 civilization 2 7 425 KA Anazia AFTAL, 815 # BT 5K .

32,

(2] 5k

| GERR =D Rt

LB SEPEaF R — NV C G 1
1. AMRAR

2. TRFEEYIER

3. KREWMR AL

(W71

1. JREE burnt FJRIZEABEBE W2 SMIR AR
2. TRERAK

3. TR ER R

33.

[257] %
[HFEY 35 e i
CFaie] 3 &7 H concrete @&, A RARA K
1. HACHEWT 2 200, hasii neck 7548, MiZh2 7485 #E concrete i (1)
2. &FHEMRLE sample B tiny bubbles, 7ERARASLEEA, HA concrete A
3. EFIEMELT) moiture M FE R, TE R ITERIIR RO AT RER
[T /1] Joxf
1. TR, mIReE et mEA ko IR — 16, #8)5 glue together;
2. sample HiSZ 42 concrete, {HAJAE S Ja RAB 46 & w5 I 4 I 944 8L, they may not be used
by origianl builders;
3. WSE R R NAE KA, AR A £3 /K 5 trapped into the pyramids.

34,

(7] %5

PR MR ERIA

53] moa T8RRI N B 387 it == KRl R I i 5 58 4 K 48

1. BANKPNAFHREN T, mHAMZ R T 7 L 28 FEKKHE] .

2. RILE) moa Hk A smooth deep IR, ERANHAE, XAH E LRI AR
3. RILETEER T moa FIBEINEEWINT, WIT RN R

[vr 51

1. fhZ RIMBENEYD 1 b, VP BaERFR] shift, BIEDSARR, BT LA A0 S R RIED .



2. BMARASRAEREEMN, #WEesiak, Wk EET.
3. AATREAR LA IL R BRI FR L5, P ABRE 15—k

35.

| E~EED B nh

(@ERE=D

[35E] rhone river &R 8L T —/ bust #RJ5 reading Bt—ELU 1XA4™ bust % /& Caesar Hi&
P — leader
1. H/ bust (akind of sculpture) J2 realism Hife :E I SR )5 Caesar [II G2 realism 1
£
2. bust [¥] hair [FJZRILAESL ) caesar —# (¥R money £ 5%)
3. BINRAE river BRI KOALLRT AATARE SRS BUONE B leader FAE BEERA
respect

| Eiva) Bras)
1. realism continues after Caesar died
2. only the style of hair matches , other features do not match at all
3. there were others sculpture also found in that river, and they were right added that bust. And
throwing it into river, just aiming to dispose the trash

36.

[27] 5

[HH-FE] e i

[35E] Entrusct BOMHG & R HIHA,

1. &= M-

2. BRI RRD SRR AR L

3. BN EL LB EERRIX AR H

(1711

1. BEEWTFRMNMERAN wid 2w

2. FrlgeilEid g AR R, X cow R UFFRAIIZENT, H flesh = KAhAT], A—mE—E
A Turkey S FNE

3. IMEXM B EAENELRT, GRMA—FRKKRFrT Bz A

37+

[:A1] %

[#7H1

[ise) kB &> manusript 1) herb B - r) 8 %2 A3 UL decode. 5H —NF5
) manuscript & —~1 M Voynich B ASIE K KT XA FHA 3 FiAF R H S

1. BAOFRRARAZAE /& masterpiece 7] gt — A1 A FIANE )

'

R I A F-Fie BT 7K herb BEIFD A BRI A little Herb —FEf
2. XNFHest fake and magical bool 254311 A —> Kelley N it 7 iXA4~45



NT 45 wealthy noble # B 22 4%
3. X/NFAEsE modern fake , #& M Voynich AN H CAER B2 sell 4550 A attract 5
L
(W71
1. iXA~ little herb /& common plants ft AAS & U2 IE B SE 515 A S IEH#E
2. EGJIA IR For 17 L NBA T4 fool AN2x75 5 1k B

mH R magic 1 TEIRZ M work BLE pay much to the book
3. miEAEAS H 400 4EHTIY) pages {H/2 M Voynich where to find the 400-yeasr-old ink?

38.

[£3] %
[P BT R A otk
[1732] Great Zimbabwe [ H]
1. At FIAFE cattle 75 % garbage
2. gold minging place &4 &% MR % golden mining sites
3. astronomical observatory #23l {2 H I EAFE Stonehenge, 2 R 5 A1 B —FF 1) T R

lecture S BARHE L% modern discoveries

(7)1
1. #hERAEILKAL garbage, inside KA 2 small room, morever, no grain found there
2. radiation carbon finds that towers and wall were built before the golden minings, /2 %
build towers and wall B {E AATA%IIE A gold
3. angles and distance between the towers not designed to comit particular observatory tasks of
the stars and so on

39,

[257] 5

[5FE Y R R, FRIITA

[ e IR RLZ 15—y Easter Island (117 B Ra Al 3300 A B, & FIXAMHLRSE— A= IR,
NIRRT

1. MAEANEKNUE, SRR, H2683

2. XTSRRI —E, HR BEE—EUN, Ak

3. XA EEY A E AR IR

(771

1. %% physical FIESE B rE SEASKRIE, 7 HAEEE T ALSPAR ME AR R I A4 K R 28 iR
2. BEAMER—FEM, (B LMK, HSIA—F

3. VIR R R IR



40,

| E3ivh B ann

[T E Y fgsmft

[ %121 7E Ivory Cosat & HLIT 4, 300 4F)J5 5117 stone tools L& Ui & Chimpanzee F K rifitt
NUTS F 1)

1. Chimpanzee ZIL{EEAE X FH T H

2. XFR T EARLT R SRmie —F NUTS 1 IS 28t e TR EAE RRAM ARERET
Chimpanzee F|ILIEILIENZIE 17 N FFANZIZFH NUT

3. AfE 4, 300 i H %A E{ELE Ivory Cosat

(W71

1. XET AWM EEIEF GG HE A H

2. BEANARIZZFR NUTS AMRELLRTAANZ

3. 4, 300 FHIBA NAKAEJELEIX L ARIRBEAT SIS i N S8 213X HL A5 o5 A o i AR
A1)

41,

[267]

[E-FEY whig—m s e A TETR 7 1)

[532] L iy m TS: X AN 2 ST AN T ORAEFT A R 1 1

1. ENE B KESHYEE, MHE SR U ERES R, BT RIE 25
B

2. AHMAFELNESR, VDR EAREA

3. ST AR 2 g RO A B, w] LA A i f e — e (s, DA
R A A SR N T RIEF T A8 R i 4

[vr i1

1. A EE RENS S, (B0 RERN, XPHENEAPIHE, BHERARHEHI
reindeer, XN WIS RIS, AR, BrUAshY) SR E A — e A R
%

2. NS ESGE RN S AT E AT TR i RS s & b, R 7 R3S it
AT S48 S p— e RS, IR eSS AR AT BN T IX ARG 2. i HLBOR RSN, T
AFTIEWIE B N R N AZ 2w 1, Al 2 E _EA A2 horizontal (7, BT RLX ARG A E
18

3.

42

(7] 5

[H-FE Y SEE 2R R

[ ] B G 43 N 172 B A R A5 48 [ 25 Anglox ? - RO RS BRI R
1. JEBI[R] A RS IR

2. BUTERIIEIE K T AnXXX FRANERIN A IE &

3. TESCFE PG AT HE T R AR R RS BRI g N SRR 5

[vr i1

1. FRERE AR AR Z A IR REE T



2. ARZREHF 7 RKIES adopt —MHHES, A —E R RA T
3v BRAMMKAITE 1, KRR — B2, 1 L FE 75 A AR A ER A0 L [ 2 AH 4R AR
A3 T HEAT AU 2 4]

43,

[EA]) &

[H-1FEY KAG#s) i

[ ] Easter Island XA 404 A\ interior #31 coast

1. pulling

2. walking

3. rolling

(W71

1. &A 28 N7 pulling

2. ARIKBERA IR BTLAAZ walking

3. rolling 4%+ KA go down the hill ASA] fE A A A 15

44,

[2674] %

[P EI Y RRPHERRS Z R XA 5

[1732]

1. leader [FSR R {50 ) entrance 15 % — AN gt Cor BSR4 7

2. TESORE X KB T —L6T] L trace back to Cor SUSHISCH): —A> gold G Al —LL4 (1
ARV, i IR A i R

3v: KRN & E cor S5, KRB cor 5 B AR A KRG AR HRE &
SULHNE, Y cor HUEH N RN A KE

[ 1]

1. WIS colonists H X B, HASZ: cor U5, KA interior country X () &#EL cor
B2 %

2. A—E AT NEZRYN, RIGHA T RERZ trade BHEIT £ 1)

3. BRI BB A2 100 4EJ5, HAIRIE IR Z AL colonists i85 1, Qs fi A & 1
NGES, AR IR AR XA s 1)

45,

[25A] %

[HAT-E1 ] BN 1 55 e — /K2 AT B SRRV

L) 1 PR SC A 1) K 42 PR R T 5

1. FRWHEA A T, shell iE B 1)

2. writing system # 1T AN 3

3. WL SCHTRIFREAR R, 2 RO R

(9711

1. HHESCIHR KT R, & 200 ik, BARESRILIR T

2. BRRRITEL, ARA ATREBAE IR & T

3. WA REAIDRERLL, FREMAS A LF K RS0, TTLAEGE 1.5 FEHIK



46.

[RR] %

[T E Y @ F I A4 FHBEL

CBae] 3R S 3B WE 1), IS4 B ) i SM R o] e 380 01| 252 Ancient Egyptians
1. HbE, fE5hERaiafizk, straight ramp.

2. —Ff wooden tool, i THEEAL

3. W K& ANEA H solid limestone 73, 1M+ FH limestone concrete 2 1), J5 & ml LLEFA
b ETNEN, Az, mEMREI TR, FUEX A A

(771

1. XA~ ramp 434 1.5km ¥, 100 £k, @IXA ramp @G 2K mf [, EAnTfE

2. BETFIERINHEISH T AR, AN GO I B L 21 H S = A R B R AR SL R,
HKERESI AT, AR

3. B EAAZ concrete iR . SR T HERZ JG R IIAEAD repair & FIEHIRHEA R, BA
WRERY G, MATAERMEAR

47

[257] %

[HHFEL T Fhod 2 14

[ &2 Natufians  #2R K iR F agriculture, JAMEWE passage
1. #T35K 2 K comfortable, Fiftithf i

2. RAEWK AR 2 # 7 #B /N, HT 05 B R B 25K

3. NEMEZ 1, ARFRANE, $T95E4T 2/ D3Pk

(W]
1. A NEIBEEA XA NAEAE (B AATHF TR0, 10 H A B LE A Al Tt B e R AN I
[, S5

2. LR BEARIE, R EEARAANE & Fiith;
3. TR EE L AL, MARANEZ T A4 Ehhi

48,

[2540] &
[HHFELT At i i
[FEiE] < Frriite forts 474, some theories to support forts are V 454
1. glass, religious meaning, special. Power
2. fire, temperature, 81 V Fith
3. FkPHEEE i, — ANk, solid wall. fiTLL arrows ASGEFEI .
[ ) 3%
1. some religious ceremonies .4 wiped out, 5 i A 1H4 power 1.
2. WREA, BAE VIEEE/DE T degree PL L, (B fire of wood AR ABEIR L .
3\ BN — AN, (B NATTHE BE i e A 14511 loosely, AT AR A< ANBE KT attacks.

49,

[eA] 5k
(9] hEAZHE RO E, A PTA SO, AAIE s I s



Q59 I NI SN e PNE R Y ¥ i N -3 e N

1. EEFMERILT NONHE B, AR SRS

2. FEEIEHTT ORI T RPERIOH, XA B RRRITEAR, R R B R X R

3. EEIEHTT R T —MICRFER IS, @RISR G E .

[vr 51

1. FEEERRIIXRNER L FHARTERIN, JRAEAN

2. R EOH TR A, ) BEIE R e T HoAh E SRR RA

3. FEEME A X ORI X P RS . T HARSE B 14 WK, XA EIE H 2 1665 4, 53¢
PRI 1420 SE LA A A

50,

(2] 5

(QERESD EE&Ey/br

LB ] RRAZOR BT AT S dh ] BE2 7 B R0 1 AR B2 K B H 5,
1. M EAL TR BR-14 7T RED D BT IR Rk T R IR TR TSR E T A 45 B CAEACRT
2. PTIAEHT A PTE RS AL T KT ITMER A BRI 1 IR LA R C X AN g
3. HIERZBIEIE, R UEILAR PUBEI T AR A L E A

(W1
1. FAVMFAIEE 7 IZER I T /KR (RIS BB T 3R L AU R 7K — 2 E N
BOAREAK IR BRI BR T2

2 VKT ST A (R A BOKM A1 0K 1T E F-itA b A e X AN R AN R AS HIGRE 41K B )
RE A — IR i A 5

3. I M HHE R SBRL R A KRR L sl HER4> 6000 441 R 6000 4 Hif i - 4%
PR BB AUE AL

51,

(5] &

@R RSP REVAGOE RS

CBaie] SN 77 B3R X Erdstall W EER =F0 &

1. A O BRE

2. 24 shelter, PEBEsEYs attack

3. FHHIE. RIFEX CHEERPINRMEIGFT, 155 READ

(W71

1. ASIRHRK, EEYATE. 4K Erdstall &g 17, 1 H ARG A%
45t

2. Erdstall K/h7T, HEgfsads T —FK A mHAASRRD, AE—PDANE. B HF
— AN, AKATHGR TR

3. FHHE. WARRMNE, POAXAAILFERBEGEIMIN A, B2EMNTE, A1
MNFEH.

92,

(2] 5k
(QERESD BRI TIREES
(3] Anglor /& — A& HIITT, (HR2EAE 1500 2 J5 A H decline 1,  CHEZEH 7 =4



decline )5 [X]

1. BENEREME, W5l TIRZ invader, AW invade #:4F Thai Kingdom /545 1 XA
Wi, FEIT decline

2. 4 religious 5. BESRIE FAE MY g “god of kings” #itE V1R % temple, J&kK
A5/ T Buddhism, temple &f less important 7, #5315 5t b abandon T

3. FIJy—& 1500 FARKIF A )+ 5, &Iz 7. NMTREE T ERZR T .

(711

1. fEA—Ainvader, HUWTHE fHEASRdrive everybo
dy out Ifif2 justtook the city and keep the population. IXj& recover £:5F HIHRAS .
2. FERAH, EHRZHALKEM overlapped FEX AT, XAZEHLET, A6
i buddhism #t2 J5 A .

3.  example B, /£ 1500 2§ 1200 /47, A —kKHEK BHPHPFF, HA water
plant #E4% i% drought plant T {2 IR T KSR A73E T oK

53,

[25A1) %y

(@RE=) |

[ ] S HEA RN A H %K.

1. ShEBKHEBER M IRAE F), RASEEYRIEER

2. BEEERRR

3. WA, I T —NEEABR SR b 1

(97711

1. ERBUKTEAERIFIZTE A, ART AR ks

2. WEFAIRER

3. RILIRANZR U A 2 FH R B8, 1 L% weapon 25 (IR

54,

(3]

[#~FEY 4R1H1S

[ 2] Physicist Fred Hoyle casts doubt on the validness of the fossil of archaeopteryx, an
ancient bird vital to the evolution from reptile to modern birds. He thinks that the fossil is faked
by putting features of a modern bird into a layer of a limestone.

1. The fossil is discovered soon after the publication of Darwin’ s theory of evolution
2. The fossil is too perfectly preserved to be true;
3. When the limestone in which the fossil is stored in is cut in half, the two halves do not fit
perfectly.

(7]
1. The museum rejected the theory of evolution at first. This means the fossil could not be faked
since even the museum did not approve it.
2. The limestone in which the fossil is stored in is very smooth, so it is reasonable that the details
are well preserved
3. Scientists intentional removed some parts of the limestone, making it easier expose the bird’
s tail.



955,

[257] %

| @ERE=D Bt

[ ] SEE A Mary Rose 1545 “E1E Battle of Solent J{#%.
1. gunport &5 e M5 fE K .

2. KRFEZEAERATAK.

3. HEKEEMREA M.

[ 77]

1. MHTH Bk, e B,

2. Mary Rose s&fEfl. KFAFREAITIE.

3. EEKEWERBUASINLREL, A5,

56+

| €=3ith B=ann

[ FE ] @it Thig

[Fse] — RSt hae

1. BIREE—FEH B ANEE R

2. AR EfEH

3. % leader {E 1 H]

[vr /i1

1. BEWEP, ARGIE—FESE,  WREONE AT [R5 K EE 2 TR

2. XMNEFEAK? SR ERE, G K ? (EEVEETBZ fireplace) =1 KL ri & AR
=,

3. FRFWRIT T RN, AW AT, 11 H. leader )55 N 1% XK X UFA R

YA

[2E7] 5

[T E]

[Bei] A1 theory 385 Madagascar & FEIYIRZAE Africa mainland 2R, EhPIRIHH S
accidentally # Z WP EIEEE, RREPNFAEE 75 L. (H2I1E(H theory F1R £ RR#H:
1. RN
2. A7 mainland #| madagascar fVE7
3. 1 mainland 2| M SE 5 =, BARZAMN AT HE survive

[Wr /i1
1. Bt &R 4 &, 7F 40 million years B2i8 j2 A v] R 8L /MR FHAE
2. IR A LRI S AL B BRI A BN, PR BT ER
3. BT LLiE i BB BR AR 2 survive, 1EfEBE /7Y torpor

58+

[267]

(11 E1] # K% bison

[ DARTIE RS B BIPLLE I 38 5 76350, B3R T bison A M.
1. 4 bison 1E N &Y



2. AT AN, 7 F cattleand horses, XEE%h#) 5 bison 354+
3. MERIEEE, fEAATTRERS LL LUET ) nativeamerican B H 2L huntbison
[ 1]
1.
2. bison BHHEMLIE N A1), harsh A%, BFONMATEZ, SEWE%M, mHEAmEE,
AT cattleand horse HA:4&, B LAMBAT 14 /%5 bison $E4¢
3. H5 I nativeamerican 1] LL—FE1R A5 2% huntbison, [X 44 10] BA shootbison quickly and
accurate. WUREIRIE—FEM. .

99,

[25484] BH

[8HFEY KIukH)

L35 KR

1. KEERH AFEERE, AFEIRZL operation [1] fee, 1RTTLIRLS

2. ARl co2, 1R4F

3. XEhEF, A A fish ladder 2% B AT LR 5,

["r7)]

1. BOKIPRER, HRATIE ENE, Sdw, XTI, ARARAE B !
2. "2 dam 23Rk flood, flood f#45 material #f decay 1, r=4:1R£ co2, —FEARLF
3. E4Rfish ladder freF | —&f 50, (HR & AR M 25 [ salmon #] ALY,
{ERIEEF—AY Shade (Wr3%) KIS BELRY L

60-

[ Bk
(QRE=D |
[ 5121 Iron fertilization
1. not efficient, in experiment, only few carbon dioxide could be absorbed.
2. produce toxic chemical materials which will harm the local fish industry. Human beings will be
harmed also if they eat those toxic fishes.
3. cause bad impact to ocean biology system. damage ocean's bio-system balance.

Lecture:

[Wr71]
1. experiment is too short, only for 1 month. Actually, the 2nd and third month, absorption of
carbon dioxide will gradually increase. most of CO2 are consumed in the last month which can
not be observed in the short experiment.
2. only limited area will generate these toxic materials. stop to use this method in those area
then.
3. global warming's risk is greater than regional ocean's bio-system risk. So should concern more
about global warming, ignore ocean's biology system damage.

61.

(M) Rl
(41 B



153521 nuclear /& AN 2 8% N T G 3 B B R

1. Az, S, st Ak STEg =%

2. #i& nuclear IBETRS ik m

3. AT LUEFHE AT, WX

[ ]

1. AR RS AT DR Rt #4

2. WZH SRR B BARIR BT, (BRI AT B JEORME B AR, R oil A1 gas
HBAEASWT IR AT

3. REEARE

62+

[255] e

[ E Y 2 AR

CBeie ] =5 RO I~~~ e B Sk BRI AR Z22-008, IEWISkR B I8, Mm4u, &,
1. A breaking  channel (% IM&, soft ¥t a4

2. sphere with iron #1410 /1,

3. collagen & & fiff B i i) =1 E A i

(W71

1. RLZMER, WIFZ4EESNNIRZE, soft YIBZ4HEHEY)

2. WHAHMMKZY), A sphere

3. collagen ZHEH, AWREAFEIXAZH. RaRER AR B Eeanmt i N 52 U
IS B

63

| EIED BSy)a

[5FEY Bl vttt 4 Ree geia 5t

[Beie) ik P fJe 200million S —FIIMIFK 4, 2 Ja= R e 4iia i) 145million 4
4 J5LA
1. 7ELLI I sea levels 11 fluctuating i i 512 [X 1k 1 Bh ¥ 1) habitat #% destroyed
2. KHUAR ) volcanic activity released K& ) sulfur dioxide, i 48 fb.A% 23 i A% the temperature
of the atmosphere cooling.
3. The asteroid strike i& 4R (1) craters, FFIHAR 2 1) debris #2754, M7 1 sunlight, 3
mass-extinction.

[ )]
1. &4 2 K fluctuations, Zh¥tH adapt iIXFH454k T, 1fii sudden change 7 R AE Xt 54
HEAFBCR MR T T
2. ZHEULIR G VETOK, HobEsE MK EB R BT, mMASERTPEERA
3. —% data of the craters iil:# the asteroid strike X ZJ7E 120million #7, Xk mass-extinction
HRERZ.

64+

(/] 2
[T E] HIRE T Trex 2 A2
[T Trex X Fhfr AR L REANRERE



1. Trex Wz—Fif R S EIY)
2. BRETELARD AR IR AR 2 S AR I
3. A Trex RAHIT B M R <88, Frbd Trex el
(711
1. Trex iz & A —E et il, BN EA — M B R A, 1TLL smell dead animals;
2. EARBRALLGIAIZ PRARIT, 15 Trex FE SkAE L5, ANREAS B K E T
3. M AR Trex 2, KON Trex S, W BT SH 86%M H & /ML 2K

65+

[2670] e

[5FE] 208 Trex AL

[BEi] —FPny Trex R v] BEE AN HIG

1. ARBURKARE KE, WiRME, —BEERE, siafSmiaik.

2. Trex PR SCAN A o T A B i LR 20 B Sk P2 AR AR K o f, T UG A B Sovfe DA
X R, BT Wi

3. ARAEIE, QR Trex iXFf size BRI E I IIIE, PREM/ANAZAL: 86%I1 PR EARTERR
o M Trex FAE ARG XA TR SR

[vr /i1

1. BB ARG NERIFARRE XS — A, 2567, kT, HrlEesE
P2 1) s ok i S fa i, (BiTe RS IXFEX T, R E—MELAFTE. 4
T.rex IXFf predator, £HIARAVIFAZIBHER, B2 THME. BT RT R, Kt
Trex R 0] eIt /2 2> Hi 1)

2. WR4H. RESIIA—E S, FIEH, R, W, BEARMRIRAEAR
R . TR DR A A7 ] 2 30 o R 2 6 0 28 3R SORBEAR WL i Sk b /7. B, Byt —
TARATRE T AR AN, SRS ABAT T AN B XA IR /N8 DT 1] T )

3. reading passage 152 FETERAER Trex KT, RESEA—wE MW, i, wmE
B — BB (L Torex [ P B a8 B FOARF . B IR /2 75 lean forward, #&75 hold their
back straight), FIREHH RV FRRET, ZrTUISCH “Trex Z£REBHIDH)” X—4518

66+

[257]) 2

| @TIRASD Wik iR SN

(i) BN NN ERER SR
1. A HER N R

2. BRE, s IR ARERIXAEHE

3. Mo EIAA R R

(97711

1. WUAZEH—FE, FN, XK

2. a5

3. MZAEI (RZBE T IR BAR BRI R 1)

67+

[570] 2y
[HSFEY 83 ¥ Pterosaurs j& &4 K.



[i:] 3P Pterosaurs /2 54 K. Three reasons to explain why Pterosaurs cannot fly.
1. Pterosaurs are cool-blooded, thus cannot produce enough energy to fly.
2. Pterosaurs are too weighty to take off from ground.
3. Pterosaurs have a different muscle from that of birds. Their back leg muscles are too  small
and weak.

[Wr 771 Explain three reasons to contradict with reading.
1. Pterosaurs can actually be considered as warm-blooded, since they always have dense
covering hair.
2. The bone structure of Pterosaurs is different. It is hollow not solid.
3. Pterosaurs are different from birds in that they stand with four limbs while birds with  two
limbs. And Pterosaurs are just like bats which can push off the ground.

68.

(7] 2%

(PR Ree k4

(U] R LHRIAEY KL T, SCREUERT A& R D £ B bk

1. ORI 2 AR A R A

2. 'EAITAI LA dating back to XXX 4FLART, HHAEHE, HAEA A E KA K IN

3. RINFEANVEEIL S A AT Bt 2 AT

[vr/s1

1. JRECRE 5 4k 2 T A R O #7208 2 52 FAT X028, i DA R R AZ AR KT, Bk A
250-million-old iX 4 %

2. W RIEM=AE K RIS, Banhds I8 A5a0 &, FEWE R ROZ A2 Bk 7 At 5t
i,

3. BT VIRIBTEIAL AR, KIIE s 2 & s B R R, 122 HUBR Py 35 3 5 3% sh 7
1)

69.

[2£7] 2l
[#HFE ]
[ ] —FhRlets R ZGEMRIER, 52810
1. from predator
2. I TER)Z AT LA cool body3 display featrue to attract sex
3.
()l —— &K T
1. 1 plate is very thin to be biten through
2. blood vessels are inside the surface
3. both femail and mail have plates. {EZ 115 /& attract to sex, N i% R A one sex A X Fhi5{t:

70+

(7] Pk

QRS

L1711 empire RFEE (] B SR A
1. g



2. BYEER
3. RO LIV
(W71
1. BUNZEARGERM, /NN 2 A2 empire (1), FF H T DR G EUE
2. BRI FELLN irrigation, 7] DLRHRIZE B /KiE oK, SR J5IX M HTTH food supply chain
R LT, 5 I 8] B B P et v] DA )
3. JEREITR G £ VI 7 T DAHGHT (2R BRI, X FE T DUAMATER B 2 bl 2, R,
JER KA U W PR 453 2K WT a0 1) B 2 DR el R

/1.

(2] Ak

[8HTEY HERRE, &R

[53E] sleeping [ purpose — E1EEFHY

1. aJUAFEBIAAT memory FiI organize HR&KAMIFE, FEE]— IS REM HiE rapid eye
movement, A HEGE G QIR rem WE B T KIGFEIZ1E, BURTERMZ R FE .

2. TTLL conserve energy, #&F3EE R MEG G BRI, R AT B e I REAR 2 4 b
AR

3. WLMHEEE, remove toxins, XFEEERENESWE), ANHA, BHERHA CLHES, W&
AR i S 47

(W71

1. WRAFEARERT memory AiFab, G NBERS FIRHMEIRAAE B R AERFN, i
A rem

2. AREMEIRA GG RE R, RS — MR RIEE MR IR . simply
resting awake

3. HERRIXANKERER 7, & unusual (61T, A normal, BEAWIRARJLRBEHE T, K5 24b
—MBREKRE, IEXMIEA SHEE, HRHE— S, AR XA KRG, T
FIRARAREARIE X FERFISR F 4518, FrLlxAs function tH2 A% 1

72+

| E=3it) QNI
[T 1Y KA AR AR /)N
L2 KHN size 7E 200, 000 JE4ERT, Z#iAS/INEJE A
1. climate 784k, SiRAENE, A body size 25/, #EIMG 51AE A KA size 48
2. agriculture. AL IS, ANZRIEYVIRS A2, EFREED T, FrelRmm
size ZB/NT
3. muscle mass
(W71
1. Z ARSI AMERT up and down, 1B R HI R %A AMERIAR1L
2. FEARFTA HOTHA AL AR G AR AT
KN

73+

(E=EY WNLN
(GRS K55



[ 3] reading passage ¥t jogging A~ 4f

1. heart pressure i J% cardiac %

2. X joints [ fi A K

3. N walking %55 —F¢

[ )]

1. AT OIEERHREH CARIER NG B8, E&F A5 jogging O weak FIAAGE, 7]
I 22 A AT A

2. Xfjoint JE /K, REEE I muscle K&, 1T AR & LR joint.

3. walking KZK & Al jogging RJ LA cover more distance, means more beneficial.

74

€D QUNTN

@RS BERA S S5 s G

CFie] NighE——

1. AEBEAER AN diet YRR RZVF 2 mvaE R T, IO

2. JHA NIEACHERS =4 — M4 5t methanol, AT HE 32 brain damage

3. X genetic disorder [ NKut, W REA LG

(771

1o P AEE A BAZAKFEX P IORRIRAL, 8% 2 s 3)

2. level WA ElAfEf A, H2 /N ER methanol & 21 )

3. BFEE/NEZH AR AT B R, AT A B EE £ 27 genetic
disorder), At DMtATTAT AAREA IR R FIAR T, 746, BB #k R AR VI a2 FEA
warning, Ui BT EIRE, FrAETIRE AN X genetic disorder BN A2 fE R

75+

(E=EY WNLN
O T 3T R ARt !
B ] 4TI R A =AM A
1. MRS AR TR ATIS RS
2. T RGENR LI reflex behavior,[if ) LEE G5 i HL AR IRk i BLAT LA, 15 EE L 4T s X HE
tH
3 FTWE R BEAE AL 2 RN FAY MYV 20 SR, R ol i 2 4 7 Uk
(W11
1. SRR IS R R W i A 2T R S5 2 BT AAS BT
2. RS2 reflex behavior 8K K LU 2 2%, AR QW I A 28 224U — DIRE )22 ) LI 5
FIAR VU AR TS JRBEAT I 5% i AAS X
3 USRI ANATTE AR A2 B8 2 FO4T W R AEL S Bn b T e R BRGR FEE V oR 3%, BRIV R —
FEET
76+
(7] A
(W1 E Y 24— AR5 [ A B A
(B3] §F Chevalier () [FIMZA 1R 2 37547 5
1. XA N IR 75



2. AANRELLA N Z IR IR IEAR TS L 246 Jm il s R Ak vedl, & NE5E

3. At 2 H AR R D I R A

(W 711 C N2 SR # A A Y

1. EEARYT, Al B R HONER T, B RN it dcA 215

2. TR ROV RRARE S 2L

3. fil R, FOVHEIRL LMl A R AL AR IE e, SEATaL b, T HAE
BEFE G MRS T A2 DS, MBI R E A A BB T

77~

[2£7Y] #ho

QIR RIS /mIEY

[ 232 Joppose against the law that prohibits importing. Buying, selling the non-native species in
u.s
1. people fear that their pets will be taken away by authorities
2. lItis expensive to implement the law because government has to spend a lot on the study of
nonnative animals
3. dEAR Wb ] e A2 id s, He i Belgian rabbits are nonnative , but it will not establish
in the northeast of U.S because the weather is really cold

[ 7]
1. VEERAR IS, (EAREE NN B IER B2 E AR, AMEFEIETEE. Eg.
one person has tropical fish; the fish will not be taken away, but the owner cannot buy the
non-native tropical fish in the future
2 AR A Wbt AR SEINOR, Se ANRT A TH 452K L an Florida f)— il Burmese Python
3. ARl OB, R 4 Y . Belgian rabbits carry Myxoma virus They kill a lot of
native animals and kill almost 99% of native rabbits

78+

[257] #t4
[P EL Y W1 O A 5 AR AN BRI AN 52 458 A,
[ 57352 ] primary care doctors 7 25 [ 7744 %5 Gk
1. R AR S, 1 primary care doctors I 4E L specialty doctors 1%, k2 J5 M
TR, IR NS
2. TAERFIAK:, JE71K, general medical care 4P i fifi 1ok A
3. training opportunity 1R R
[ Y BRI R AR — LB SR AR
1. BUN T — program
2. BIEREY L, B2 TIERY L AR TEE
3. HEERLEA too many available training opportunities, 72 VF45 HIXANEE BE Y training 5 F)
AN 2E 4k SE training.

79+

[5A) 42
[EA~FEL Y RIS
CFEe ) A AN EARAT, BAHLIA LB,  more than 110 km. ESA subsidy



problem reading i

1. RERATEBEAHIAME S itis not fair to them.
2. can improve the economy in rural area
3. buy cheap plane the build small airport is low cost.

[ )]

1. itis fair for the people in rural area, R #E AL~ 110km [FJZE3K, A1/ transportation tH/&A4~
BT, KBRS/ 200U, BRSO RN, R ZEAZ, B4 fair A fairs
2. AR NEHEITT A, A AR ER R SERES, NAZICEAE PRI T & ik,
HE L, IEmRNER, a2 vt R .
3. IRZ WHLAE], AFIEA IR /N CHL, FrPA CHLRA AR B, Frf R4 B 3 EIER R
EREIRE, WAA lowcost.

80.

[E7Y] #t4

| GERESD W IR ie

[ 52 1 microcredit /NAGEEK AT LA A2 71 IF), because it can help the poor start their business.
HRZAINEAFAE N, AFAT
1. the poor do not have much knowledge and experience about running business, 25 £k M
2. HIhNE4T administrative cost, bank 7216k, PTLARERE H 25 HOA R
3., microcredit spend money of the government, TR A 7] DL AL 2 ER S PR gy, Eean
HEH, FEARERIRE T

[Wr 431 microcredit 747
1. 7] LA#L the poor, how to budget balance, how to low cost.... e.g some organizations in India do
o)
2. bank can lend money to group instead of individual, thus the cost is limited and the bank can
lend more money.
3. the money of microcredit come from non-government institutions. on the other hand, it saves
money of government. the government can spend more money on more important projects.

81.

[257] 45

@IS =D ISl g

[543 congestion pricing. ¥t T 22 fRACi@ S, AHELE city TF AR XIS 9, IXFERR
REZZff— N
1. XBEMAT LL improve time( 32 2wl 2 1515 48 I [7))
2. A LA A EE improve that area's environment
3. Wl fee T LA T revennue the city 7 AFREEE, BHiH A

[ 71]
1. AR PR S AR S0 E XA XU 58 8%, BRI IA]. 25 1AMl 1%
PUBI, AATEAA R, BT DO PR A IR AR K
2. ENC B IX HLHFAEE AT RE ST 0, (H2 S B A s 248 2, noise and air pollution #t<x
%o FTLAARREEA city #RAEBIAR 1F
3. HHIAAEE afford XA T, ek subway, BUFHESHE 2 KER4EDT subway,
R —SRWU TR sV ET e AN AL 1Y), BT AN RERS B0 B sy, BB AT A ER T



82,

(M) 2
GRS B4 L5 5 Y
CF5e ] Jutt A AR 1 J tH I AE DL [ ?

F#3L: the shift from cottage production to factories, =ME[A:

1. HEARB I, BPLas RN E R, NEEERH T, E@iE T RkEH;

2. EZFMGAFA AL (the property rights) RGN I S0 CHHLZHRS] “ T
JTEDAAEE RS AN T2 B S8 5 T NRNE 247,

3. #UE T A LA, RIS T cottage production 2R A B 9

(W71

1. BT HEIPLEE M cottage JFL MR, EARMINIE AT BS54 HIL.

2. HAhEZ, tehnfi s, 45 strong property rights, {H¥&A AT .

3. I Tisk A B A, B2 FEEE T (building) AT A& HLA 51 (supervisor)
5k %, JTLL overall expenses F-3% 5 s .

83.

[5A]) 44
[EASFEL Y 4T A gk
[57352] Has the large corporation lost its attraction to American. B2 () A 76 K2 7]
PR T M, i H O A F(self-employed)
1. KA# ¥ KZ bureaucracy, #ELLSZHLE U idea
2. KAH BYETARR @ B KA AT
3. KA AT JUEASRE extra benefits, FCAMERS:, SEARMIEE ST (R
(97711
1. HOHFARIZEIXN ) FEEHEE
2. HOHARBREA R, Fue AR
3. HCJFAT extra benefits 5 ¥ A (HiE

84.

[267] 445

[P E Y 2ot 2 sk

[ ) 5 5o — s P R SR A TR R AN (1 8 . 1 @Paragraph B, 1XFf
REAERN, FA:

1. AT LIS, 76 H MR KEE AR T8 5 (E MR, R H S REs
HoAh AR PG RAIE B 5

2. SibFANCER B ERE, FOVIIE R ERER, AR T 3RE FHCR U 44, X
LA A A R R AR Bt B LT [, BEME R ReS L S, BTCACUE A&
HREIELENERE T

3. RS E SR R B IR 22 AL U BUR (violate students’  right), 2FRSVEA AR SR A 22 AR AT 25X ke
i, ARk,

[Wr77] paragraph HLfi i i)/ A EH Y,

1. %4 H O TR R RS TAEM—Br, FRATAEAE TR M ANBRR, Tk



MUK (authority)ids A B 77 i SC1Fi0 % (official document of the city )R {F4IE ;

2. FAEMEXNAEH B, LAl Le o B e AN B N2 AT 2R 2R AR TR 4 D AR BT
(powerful experience), FBUR A48 S5~ 23 (motivate);

3. FRMERAGR IR AR, W m p e s BR AR F AR, B EE AT
RN ABARERE AT, S 2EATIHE A% E R B2 58 U R R YR AR

85.

(267 445

[EH-FEIY Al bl 12

[ 52521 National park W TER4FANGF . Bl y: W1 245

1. AR, FALAEEETHTE A REIT,

2. 4> discourage A1 M 2 [l

3. 4riit employee *& 77, MRS &

(@A) RCARE-ZN

1. AEGEET A AR, EIEARITENEHEH, GRANRAL, GHA—FE
K, MHRA LI NIBEABALE RN R IL, AT

2. WS H creative (1775, ATLMESIRI AT Al o B, QA IR 4 ] 5 A,
AN, ARF BN LA AT,

3. WK TR, employee B LAREAMEIATA FIUER, HnT DURNEABA T ARV A7 22, T
VLR B, 138 20 A EnT L accident F1 emergence B A2, FrLLIRSS R B2 &

86.

[M]) #&
[HFE ] HETFIEZHIC 22— 858,
CBse] B il R 5 record bb AR IE SR 4
1. A% GE/D storage Flizkizh Al
2. /MR IR R AR
3. #21}t research data
[vr /i1
1. ERARMER a5 9R 2 B —1r paper record 24 8 & f5TH
2. RAEEXNH paper 103k, AAEILBIM AR SE BN,  IXFEEA S .
3. EEFIRIAT LAME A, A EARR

87+

(M) 2

QUIRQSD e i)

Kl 1 A0 T AT [X 1T 37 )R B

1. AHEWE A E R

2. AHEYIRIAELT

3. AHu RN e G AT DUt S A A SG O M 22 T, 4 R EBCE R &
(W71

1. BFEARNEH R AN A G EEAREA L T,

2 FERCEIE R T AR R AT LA - HF R, X A AT i Ak

3. RAFIRIEATAMAF LY R SRR 8IS i 4k



88+

(257 #t4

[HHFE ] AENEA I TAE, SRR A ek, T2&F E 7 Ao TIE
[ 2] ok AT TE R AT FFRR L T 248, i § T4 (self-employed)
1. K2A# A KZ bureaucracy, #ELLSZHELE Ui ideas

2. KA FYETAER 2 B KA U AT

3. KAFHITJUEARRAE extra benefits, FLUBARS:, FARHIEST R

[ 71]

1. HOHARZERNMTFELSTES

2. HOH AR HEEA KK, fEEEAR, (

3. HCOJFAT extra benefits B A f4IE.

89.

[£8] e
[5°FE ] BUARFZARK
[FEi2] < F 3 E government support to arts

SCEE BN
1. go beyond the legistration of government & &4, WU L B R AR IR IR 2

HALAZ
2. arts ZEF B EUE R E FIIEIEMES, censorwork HEL,  SEIFUEA SRR AN KRR
3. EZEM entertainment 1 k15 T, ATREBUFRITER, 25T movie tickets AR TV 1)

R
(w41
L. arts ROV TR, IEHIUBME R L, SIZVEBY, 2 71 2 billions 2249 nati

onal parks, EARKIEITE, WRERULE R TR RG22 8 E KA
2, arts AAWRBUAK, &FH —1 NEA B4 2L =2 program
3. BARICANZEM, {H1R% A\ 3FAE pay for themselves, H14R % chidren R B, R FEAS

AHAAT LB HREE, KM AR, WREFBUFEE, arts BT
90,

[257] £

[#°FEIT 21 anting 179

(17321 S anting 174

1. B—RAEE RSFE, 1M anting IXFHAT AR ZIER R, MBCREUINIRR 1] 5 22 G2 fif- 49 3F)
BIAHK

2. anti parasite, HICBIER ] LARSE R AE L

3. food preparation, FIfg anting R &4 7RI IEEER R, 5 RAZ I 1R 47

(97711



1. XAARA 2 coincidence B# 1] LLH another theory Kffks. &2 E RikPIE, H21H
WAEE R %, TIREAE R B [F] & 5 25 5 4R i i

2 U RN T R B A S, A4 anting 478 1 5 B AR U AZ LR IXAMT NI S B
RIGFIARWL, FFAERIES anting 17 N EA EIAHKEHIIT R

3. SRR T AL B BB, S HAR AR, (HR S FEANX EE AP, FTLL anting 1T N5
eating &K,

91.

[257]) A9

[53°FE ) Ff algae #iFib 2 £
[ 1573521 algae Fhi 3R AL

1. IRBEE, AREFRE

2.
3. AEKFE A, SRR
[ /]

1. algae APk&I, WTCARIAE/K, ¥R
2. algae — & harvest, BRI, FREIGKPL, FRRTLLAT algae 1% 1009 F
3. ANHFEHI A4S algae, Tk & gt n LA

92.

(7] 49

[T EY itk

[ %121 In the reading, three theories are given to explain why moths often fly towards artificial
lights.However, in the lecture, the speaker rejects these theories and argue that none of them
seem convincing.

93.

[EM] A

[T H] Afigz 5

Cii] FEsSEfEvbpft b, A =R RE,

1. WAL,

2. FigHBTIERKR T IR

3. HERHL, HESEERISEL.

(W 1) B3 7 S =AM

1. ARIILH)

2. e i) BRI BV AN — B, A ETR

3. AR, fRfaicl, ArEEs ©, mRAEE, BIIERA KRR



94,

(1] 4

[ FE ]

[ %21 narswhal, a species of whale. It has husk, which may have three functions.
1. tusk is used to pierce through the ice sheet. So narswhal can breathe.
2. tusks are used as weapon, attacking other whales.
3. tusk is used to sense the ocean properties such as pressure, temperature.

[Wr 711 disagree. Each argument has its weakness.
1. tusk will bend under pressure. It is too flexible to break the ice. Ice sheets break by
themselves.
2. tusking is a unique for them to communicate with other narswhal. Closer observers found that
3. all of male narswhals have husks, but only a few of females have husks. But females live longer
than males.

95,

| E=3ivh a7

(@R E=D NN e

C5e e Y WU R PR A =], S T menhadens SCHA RIS M, FF4
BT =

1. menhaden ] natural predator , sprite bass #7241 1 ;
2. agriculture J7 T, X/MERZ YN protein K ;
3. jobsand economy 1R Z ik ARG R E IER 2 BOABUR I AN 8 30T 2k 25 TAE
["r)]

1. sprite bass &MZ{R% fish, 1MANAL A A menhaden —#f; 3, 4 eco-balance, i
M A £ /2 1R H

2. HHAth protein FI3KIE, L soybeans, ‘& F protein, 1fi H Lt menhaden i effective

3. IR ANIFEFRY menhaden, U IX LAY A T4k 4L pollute, AR IR LMY A HI 2
AR A2 collapse

96.

(2] AW

(9 H Y B8R f e > ( BORFrTE R 51 tortoise)
LB PFE— M S b ( BORRIIIEZ % tortoise)
1. GRIARA

2. REFRAEWT I A SRR B 0K

3. LRI B K37

(W71

1. FIER B R AR K

2. VFRI SRR INEAE T SMNET

3.

Fi a2 home-xxxx FEAMEN A FIH T, EUMRSHIRI L, XERIEME RS busy road,
&I AT



97+

| E~3ith JEY|

[ #1°FE ] crossings for wildlife animals

[ %1521 crossings for wildlife animals

1. i animals AHXIiE, & 7R

2. XIrEor, IR

3. XITEMIANEH, S RBRE— /R
(W71

1. Bt a) animals S8 T i T

2.
3. B TRA, A REENHT B EET .

98.

| EIED WELY)|
| @UIR =D BEIEE7/E= uN N
C55e] — A AEAR A LART SHRAR R R ]
1. JREHRE S EIRE
2. plant R%
3. warm climate
[Wr71]
1. AAE B S AE I D
2. plant 2R %, (HREEFED
3. warm climate is actually a disvantage, because they needed to cool off

99,

[:74] £

(QEREED PN {-ukar]

[Ba2] R T RGAH =R A LI ik

1. KBHENFNH CRIE, FFR KA A%

2. REHZARMEERBES), REEEHEE

3. RRIHNER

(W]

1. RGN TIA KR, ZHERM, KLt 75K

2. RgemRF A NIGE BesfE GIRAHEEZRMTE0 AR ERNARE
3. REARMER, REVEX B ML KARTTE L, ZEsWARE, Laiid BRR G
ERAE T, FRASETT

100,

(7] A

QRS ED N7 ANPSPI ¥

(B ] SCEgy 1 Fh ik K T i S A
1. i ER

2. K5 EmAAR



3. A ARG B BT BT

(W1

1. BREFANZILI, RME AR ENIG IR PG N2 PRI A -8, AN 2 A Rk H K T
2. BAMARREAETAER, ERIARARAESR, XEAREEYETE LR, mEER
fRRA AR, ERERENTAAZK K

3. WM B R AR, BA M B Hi ok

101,

(2] 49
[5°FE1 ] gulf surgeon X Fhsh 4k
L4321 gulf surgeon iIXFhah 4wk, BeA =A K
1. HREEREL
2. A
3. ME N RABCA DIREIAREAT A, 2R18h whale 5 R
(W71
1. A 4L KM H. surgeon — KBk 1000 £k, H E & Pl K&
2. surgeon # social animal, ANZHEAZE Gk A, 11 H an SR PRAE SR i, HRAE A
F jump
3. Ui jump REABEIT A, N whale 4 back leg bones AN52520, 1fij surgeon BkEFE 3k
(1) energy.

102,

| E=3iv) WEELY)
@R =D WURIREY/ N
(521 Biik Asian carp 2 Great Lakes ) —=F77 %
1. construct walls in Great Lakes
2. FJH electrical charged device to eliminate Asian carp.
3. two-step measure. First, it toxic chemicals A Kt EE4E. Second, 3|t native
species.
(W71
1. iXAN%F shipping A 50, cargo %M —/M reload 3 55— M, 34001 cost.
2. XFEICIEE T A, carp AT LLiEE] other side Mk lake
3. IXFpE SRR, unpredictable.dangerous. T ELFIf toxic chemical 2 )5 nIfig<: 53
whole ecosystem &AL, AFIT ALK,

103.

[:74] £

CHATET Y o5t g i Ao e g ] AN —

(5] B (A wR, 2hlRH4, BLEOuH A2 MBUX PR [ 1

1. R R B, SEPTIARINLARZ IR 0 — B, PRI — Rk Ik . AL el
Wi, PUAVAIRLE JIAY), — ks, —IAAKRIE, st 7

2. BT EFRIZER

3. KIEMZR]

(WY ARk T, 4 7 Basih, MURAF X =AM



1. FeRBle i it A i ) — T RE BB A, I 55— NI T o T AASAEAE T AN 2 1 T i
2. EHFRIEE, AOCAALEIEE, Atk RHARR . K gt AR AN AS T AR PG Y
JIT LA T [ EAN 2 g I 3R

3. KR Bl S RMEENE R, WAERENRERR, KIEMEAFK. K55
T AN M S R T BRI, ROKE R REERIER, AT 2 X R
Yt £

104,

[257]) A9

PR BRECHIRIEET i bR

CFa 2] 3 B ARALEE— A4 XA [ SR R I —HUEF B ARIZ DS, $R5E 2 Household
I — P BURR B 7). (Herbicide) R, LB

1. XFEREFIERTIT 2 fTEd 1 BURF MU TEA IR B B A il

2. JFAERTE AT PR SZ By, I UF 2 HANFR S AR A 1]

3. BFRRIUX B RIS IR () nl e R NSk R R S8R AR SE T

[vr i1

1. BURFIOIIAR £ B EH 6 ARSI 2 20K, 3 K 2 X HEP )

2. e BRI RA R ILET R A AL 1), TR AR BRI G T DRA A 48 B+ X 11
THLIRUH Bk B 81T A (i) L S R (AR

3. AURARA R %A T L B (1 I S A0, T S S AR 2 B R I s T

105,

| E3IED WELY)|

(@ RE=D

[ %1521 Three theories about the original functions of protowings:

1. G F&7%<> (parachute) —#¢, 7F falling down Kt FE P& E, lecture 55— fiiidi 1
FIEZZMS2 hair F1 bristle~Bi AR Z h il b~(E& X MNMRBEEN R A — 555 ~FT UL e A4
H

BAK R protowings A KA B LRI R, AME insects &3 1 hair (£FE) Fil bristle (NIED ,
TRFE A LU s eAME B LA N VAT R R R4 B e H 5K 5 R 1) protowings B effective.
2. WHNETEEK P A R, 1R 2 A3 E/K 11 modern insects HAN24E gill FEIR Y, B
PAEPE 2 protowings 52 EA gill FASRE UL A ABA T & M GIEA L larvae (43 1
IKHEE gill BEI, BT DA T IREEAS SR gill BRI insect {14 H CRRFBRIFIR AR B, (H2
B2 KF protowings, ARAmEAX 7)) HK, modern insects [ larvae A iGfE/K 1, {HZK
# protowings ] ancient insects 18 2 #iA R A TEEK TR, B PACARCARE AHEWTR 5 i

3. ornamental structures, T W5 5k,

(771

1. FABFA a0 hairs 1 3 —/NEWTE ) FEFRAE S FH 777 TH B effective

2. ancient larvae A& 7EfGH b, 1A K H

3. —f&M ornamental structures KA FMEMEA, LLanfLER AT EREE, WX
protowings ZMEHERA, FTUATTE .



106.

[EM] 4

CHAFE1 Y Aol b & AN b 304
L5z anferpiy b S AN s
1. B JELRBE

2. ROMBIE.

3. SfiFRGIIIH

(W1

1. BUORET, R L

2 REERFAE AT U I B
3. SRR B RO

107.

[255] 49

[HH7E ] 8D AT T

[ ] FREI1E ot it b 3 SRSt e SR Er R farm X PREE AT 23 it ™ 5 0 -
1. =4 KB by-product, 442 40 B V5 G 3R

2, —LLE R ) 0k B BRI AR 8 AE O AR AT TR BE 1R S AR

3. MR KB 5 R

(W7 73] 5 FIX e o) @G O3 1Tk

1. A —Fhgupg o] LAz A, XM g B 24T ok

2. F BN TARFR R TR R AN K AT e R AT AR ) A TE R

3. BIERCALE B EIEIT recycle water {87 FR IR (55 FH Bk v5 e (id /K nT DS, 1 HL
— R (SFTHISR) W LATE K AR

108.

(7] 49

[ EY SRRz

[ 321 The American burying beetle population decline

1. farmer 52y

2. MR HBIR 71X beetle HIRYE M,

3. HMEmAeEs G

(W]

1. farmer HI% fR 245 M Z Ainmtisi b 1

2. HAMZEAUR S beetle J8A#IE /AT

3. X American burying beetle 5 & LI 5E R48, W LUK IR H T &8, 1 HARA 13
RS T, T HIE SO TY5 1R B IR B R A sh Y A 3

109,

| €3ith WY/
[HA~FENY P b | —
(@&IK*Q\memmr BNV X FE O K4
KRS g NFE R A e AN . HE XEEAFTRSAIRE T, R —fE



woodspecker 1R AL N X FH S .

2. MITEA & woodspecker ff] nest .

3. A NG AU BT X woodspecker [URY A, {HZ AT AT AR YA 1R1R woodspecker
(S PR R TR PR Sy . B R — R S, Ll gun BRHAK R IX RS,

[

1. HXEE N —ERIBE M.  researcher. flfiTRENS 73 3% XA, HhlnfdA]
[RI4FE back white

2. A9 woodspecker [FJATETERIIRR, LA 2% FHEY) . KM woodspecker (13X
KGR MMATVEEPHX . BrPMRA TR MATR A, B, XX B S
AERT . BTUARE RS HIHT S0 ) nest et 48, BiE ATEEA K.

3. lecture BLAFEXTHEA SULULH, GFEUEARAH DX N LATHE W, oF T AR BRI 2],
R — s IF B S 2 BLA 7R AN AT RE R A I [R]

110,

[257] £

(@RESD E/EUEIDN

L2 B 5] N By SR ) 67 T 2

1. BORAES T

2. DR BT

3. MR UM A T

[Wr71]

1. stem, LA agriculture Jfl, RAEGINR—AFFH G

2. T R B B T S HU L, —FRY cano tode [Bh#) (reading H BT 5l
ALLEH BT Florida YHBRTE H

3. TAFHBIAhER RFEIZLH, —Fil mes-fHY (12 reading BT, BN T A
AT FR4E B8 R T b AN A K I e

111,

(2] AW

(91 E1 Y Ko — i ki -

B3] ERR— AR AR, R T =%

1. R EFT R RELLE B AT AR SR A K3 5

2. R HAAE LT FE VW ) M T

3. FhsinE

(W11

1. XEWLLATAEK 77 BT globe warming, CAANTEFEA MR, AEE PN

2. ML SBEMANG, —FY black f+4 BB S EONFNE] AT, kill Hofl t sl K
Ealibp)

3. TSI = AW PURAE S, DS 2K population R Friim ik, 1£584
FICVERL S A KRR X R

112,

(53] £Y)
(QRESD



[57i%] pine tree forests ©] LA#E [ SR HI AR
1. ZRKKSA, pine beetles (WZX P T HERD
2. Pine tree A& & 1] L) flush out beetles with wap.
3. HTEEM, X young tree NE R
[0 /1) EZRNNER
1. Human activities ‘FECUEALNE, &R HEFEE R
2. Pine tree (X FhALR T K, 1HZE ground water is low KA NEZEK, Frblixfhzhae R
RE R IR
3. A FARM S EIIIE R H R young tree,  FTLL pine tree forests 152 A% /1R 2%

113,

(A1) 9

[ TE ] EigERE

[Faie] AR5 dance KA E EWIIKYE, 5 odor.

1. FIEE, AEEAIAHBEE, 855002 PR r &gk B — 2 g%,

2. W T RN BAA ], BT R R IR LR B Bl Y PR S 254 food resource.
A B Z W e AT IA 2 4% H] dance SRR SRR .

3. B FHEW UL EA T2 MRS odor KR BRI

(W71
1. THATIAER, LN EYIRERMZ TG KK . iR RIS RIRE

2. AR BB R SRR EN B A AT, REE IR E R N 2E
FWElTEREARANE, BERASEE RIS,
3. AUk REEIIEE A . e B ie £ 558 dance.

114.

[258] E)

[{HTE] &

[ 1] 55T the shaped of hammer-shaped sharks has 3 advantages:

1. X FhSkpeilk i fa ki B

2. PR Mk e 7 U S (sensitive to electromagnetic field:;

3. I APk RE M RAS AR HIK BT R B (predator)

(9771

1. #FZUIX R & 1, hammer-shaped sharks R Bl R YL, (B2 2Kk E T HEHAR R K,
Eetn bones 1 joints (45, JIf HARDE, DA AAIAS H B b a5 10 i AR Sg B, &R 2
younger % fi, FrLlnRER A& BFEREEE T, HaEEA R,

2. FERUWN T AR, RIVFTA I ) i S ZE A2 2 —FER, RS reih
= H#x 30centimeter [FHh 77 #80. (detect)

3. XMAREHRMEES, FoAE B EAMIRE KL T, HONRESRGE, B2
RIS R E 1), kS RE A, O TR B R IR AIE I it Y £ FH S Al 2 — AR IE 8 1
7M.

115,
€S eV



(@RS Rey iyl
[ %32 1Bonobos A1 chimpanzee ()47}, PASSANGE _LEiF 145182 bonobos 's behavior is less
prograssive then chimpanzee.
1. FUEYIFE) BONOBOS & IX AT
2. CHIMPANZEE FEHEILNE, KL ffRy /MM
3. BONOBOS s # 13 X #, Ifii CHIMPANZEE & & A
[ )]
1.
2.
3.

116,

| EIED WELY)|

[#A-F-E11 i41& stop the decline of frog population |7 &

[ 5%52] 351t stop the decline of frog population [, Provide three methods to the decline of
frogs
1. Prohibition of using pesticides can relieve this phenomenon
2. Implement the large-scale of treatment
3. Control the decline of water habit

[Wr 7] These methods are ineffective and useless
1. Itis not financially economical. Farmers  will suffer more, if they do not use pesticide.
2. This treatment has to apply to each frog, and people would be easily get infected. This way is
expensive and hard to  implement.
3. Itis not human action that leads to the decline of water habitats, but global warming. Even
though human actions are controlled, it can not solve the whole problem.

117+

[265] A

[ TE] HEREZ f

[ ) AR

1. Bk

2. HREI A B

3. HERE R RN B QLA R

[

1. AXF, BRI )G B AMAICH RSsSB4 75 AR 4L
Ko FTCAASE F SR AT

2. K, SRR AR E 0, MEREIRE KA. Ak, 1EE ST RS F R B
HRAER e, HnEErmR

3. AKE, BRI RIIERVE, EATR ERBERIEM S S RAEAEE, REHP—HE
PRI, A B I G R B A PR/ IN I R e 2 B B T

118,

[EM] 4
QRSP BNt /4R ih LI AT EY K



[3Ei ) SEE i —Fhsh¥ prairie dogs ZANZARY . FIEEASZ RS N

1o ABATRT AT SR B AR I 2 I P B N2 5L, AT TSNz T, A atieEnz 7. 1 BLARAT
IR

2. b1 5 45 —F dangerous disease 2>f&E A2k,

3. AMATARLZI RN RS, ABLEALTE BB TV (M 2 A Rz £ 5 (the top of food chain)
T ELAAT T T A2 7 R G s mds KR

[vr i1

1. BUEEWER ISR IR A5, A FARma ikl 1, WANBEER 1, #AF R AT B 5E it 7 1,
T DARR A IRAS b 55 4 B 1) R

2. HFHLE prairie dog & Lf¥) disease AaTENE EAFE C(live), FrLUXFRHELZEZ R,
U XU I 25 LA R A N2 2

3. BARXMENDMATEBYFETIZ, (B AR R IR KR, Helniid AbAT 9 &

HIARLEN ), dn RARATIRRD 15 A2 AR LEB)H 5 A5 - it AT AT 10 A A5 2R 4t Cecosystem)
MR FIBER R, ZEERI

119,
[EM] 4

PR b SRt iEsE T K A

(5932 VREEJUEILSER bats fE4 K K REFTIMIET R LT+

1. fungus 33 #h7: SBHIRRERS N E

2. 1B bats EZEEYIRIEN moth HE KRk

3. RALHMGEIRZ bats £ 4 R IR BEEAHNR, HNEWH > mAtT:

(97711

1. RAE—F1 bats FET fungus,ifi LI\ FA bats [ & 4% R G055, 455 fungus
HARGI T AGE . AR BFARBEPAZA FWILREHA A6, ARG
HF M U0 2 E T S

2. moth FECERD IR SRS 7 RML T4 7 GGhst: HEF$R ] 1986 ), {H2 bats
WD TE Ol JLAEA R A, BT DAANAT RS2 R moth £t s/ 581 bats SET-% 7+

3. bats = Z 1 A MR Hb 2SR LA PR R AL, TR B 5 R I E R BT, TR RSN

120,

[2£7]) A9

(8 TE]Y Ry 26

(55 ] REGE i tortoises & K

1. FiE—Fh pine trees fRI X A A S

2. BB H 1 release to wild environment

3. JGIXFRE reintroduce to — L& JF A A X Fh A L T 23

[vr /i1

1. FHE pine trees 2> {73 LUAE A7 BASAS B L 08 (1 PO ANEE, DRI T 22 5200 £ (1) 4

=

Ho

2, WHFT O S H AR N B AN IPA BT SRS = T A NG, BRSNS EA A
A XA ] Re ARk o e B A A

3. R M, B ELREIFECRIIAE M, FrCARMERS e 2O, EftE s
REINEIR RO S 4, X 2SRRI S i i i 58 2 ) risks, HLANUEAE busy road



eS¢
121,

| @3ith Wasvy/Eane

[T EIY — HUNEERE, %R Hip

[#32] bee 7£ 200 million years R sl 7-7E 1 52 3|5 55¢

1. &tem

2. WAL EY)

3. WHLEHWREATE bee [1)

(W71

1. WAHWA R B NIREEBN, Joik preserve LA

2. bee AN 2—E % feed on 1M, A LLE pine tree A1)
3. I EEY F R DA E A A TR bee (1)

122,

| @=3ith Wasvy/Eane

[ TE]) 2z 3t

(132 &l paleos RiiZ e i AE W) 5 AE New Mexico KB T —#F small dinosaur ¥4t
fio HEMIXFh small dinosaur 8T LL R =/NER

1. trapedinthe mud, W%t

2. B E -k B A chemical element 5 44 )Rk

3. sudden flood {VEA 14 HEHE T

(Wl — &%

1. WERBRRAE, S¥dl. (HRMAEREE HILIRIT.

2. ¥R dinosaur [FZER—F fish #FAEAE, 2t 172 | FrARUSHS R I0N), 2JakK
i

3. H#UL, R head 5 towards its tail ], MIXANLHLIWT, BlestitEi flood #E T .

123,

(M) AW

[HA-FE1] 2 RIsh YR an T SE T/

L] BB 20 B ROK 4

1. T B B

2. P it Bk

3. RPN IE NI

(W11

1o UK NDAET MG SR AL R, AR K LR AE K TR (R T AR EG . AN i T
BB LMK, FrEAA R,

2. BABER B N OURRE, BOAEE, B T,

3 ERAPE N 12 REASEINER R T (9 A2 400 » VA UE AR 10 I PR R A (8 A DA LU T SR A5
It A=A T

124,
(AL LR



(AP SRR
[15352] GM( Gene Modification) Rice. 3 K {4

=Fh GM rice [ ALAIIRAL -

1 HFRE A BGR T DA A AT U AL s

2. W AR R XA P AR {28 55 AR IR B R

3. ATLLFFEAEER A S ERIERE IR,

(W71

1. HIFATEME Wild plant 7 44850 71 B LA A
2 PN ESICHR T BT AN E

3. ARBRIFBIINEG, Iz B T

125,

[EM] FF

[HTE ] S AHER

[ii:] $23)—f Mary Celeste i, M b 10 MAEB T, BAEMEHRR 1, FHEW
A =Hh.

1. B mPss 1

2. ME EAWTRABAR, bR T, ARATTBREUEREE 1(

3. MRJEA —miRK, fATREAEE

(W71

1. BN ERE B i B RPN

2. JUTFBCARARRRIRE,  BAGEJE SRR 1% 2 IR R AR A

3. WKBREITRZ R, MR/ IMIERRA: AN 4, 1y ELAGAROA I AR I e th I

126,

(7] R

(] SRR

[ 3] asteroids are good for people to colonize
1. Low gravity. People can land more safely and can carry more equipment
2. make profit from raw materials like gold that are rare in earch
3. asteroids are close to earch, take less time to go and return

[/
1. low gravity has problems with health like weakening muscles and the loss of density of bones
2. cost much to transport the materials and the market price may decease with more access to
them.
3. not easy to return since the orbit changes. It may be at the closest point whem land, but be
more far when return

127,

(7] R

[T EY KE FAT A EL?

Cpse] KA EHIEITEEHE =ANEK proposes 3 causes

1. BT RBHMEAIMEIRYS, SR TFAREAE ST, XA .



2. INHJRE

3. HITHIT RAAFEWMLZIZ . BWARE: T B se i e oy RS RS WL
(9771

1. XA RS0, ARER.

2. INHHSEIERAETEAR, B FIRAD KA, (HEGRIEM FARAN . IXATRICHEE 1,
12—, L2 Day side F1 Night side, #RJ5 1t the light in Night side is too weak to be
observed.

3. MERAFPIN, I MHLESEAE RIRRIERE W T, ARZAE. AR “4I8”7, M2
problem £ occasionally #7774 .

128,

[EA] 222
[HA-E1 Y 225 S 45 52 ) signing bouns (572 ? ) SKRIR G| GF 2N R, 457 3 NEi
[ ] #1553 e 25 20 signing bouns (2257352 ) SRIRSIEFRIZ2ITMmE, 47 3 1M
1. HEF RN AR Z IR AT
2+ AT AR 5] — S50 i S5 B N A I R 24 22 )i
3+ AT RALE IS S i J I 20 T8 57 25 24 B R PR A% TP )2 AR 4
(W71
1. LR, ZINERIBAFE, I EEZRNER, BBEMLm=E&G, B2k
FEAEIX . BT AR 25 7 S AN REN 5] 22 T
2. AEISIREIAA S RG-S H AR TAE, H—ERonE M & — KT
NIE Ceertification) IXAMFERFES), BEAFIRT, XFSTE, EARNET, KK,
3. BB RERKZIMAT AR, ARMEEWZIN, BEEABELIOHT, Xirs
EAEI &Iy

129.
[EA]) 5
[HA~FENY Ah R
[ 71521 A2 A AN impossible to live permenant on other planet like MARS,MOON OR VENUS.
1. atomosperic pressure HLIIERKIRZ, 60 fif. NEA INERIEARVE, —HAZ T8k crush.
2. FRIMKHA oxygen,water,
3. sunlight,3C %t cloud thick, Y EIZ T, &AHINEAH T,
(711
1. UL IRAT AT LAZE & — A station flowing in the atmosphere just like ballon. 7 %5 /1 & f7 5t/
T, MITELATRAZEE . 17 H A2 above 15 kilometers. 1F - ERIER T S —Ff.
2. A S A compound chemicals #EAT AT 4 B, SRJEHLIEE station filli& K0
oxygen.
3. WANRES T, T cloud XFERER 24N ROGHR, T U522 B RO OLIE,
P HE, AEZEH.

130.
(%A 54
CHATELY A g ?
(i) KEAEGS? [ §



1. FEEAEE K AR meteorite | [HIH —L¢ tube-like At A BEIE] mars KA A fir £7
7t
2. fE KA 53 —7% special chemical compounds, ERMbER I —1E 41 ER b B ¥EY compound
FHABA
3. fE KA 3R E| meteorite grains

(W i) KETC A4

1. FEEREE NS T Ak A fossil BITEIRAN real characteristic feature. fossil 7] §% 42 78 4 HL T~ &1
% E A B R 5T HE SR

2. B EIH ) compound A2 B AT RE R K LT AE I, A8 KA K.

3. HbEk [ grains is strong to follow, {H /K2 mars %7 HiERIX 12155 3% ,too weak to follow
and the grains were useless. bacteria A7 Z#5 #EI7 I RE J3/ AR Be A grains of magnetite .
FIT AIZAN AN B I B 40 B 32 K SR o

131,

[2584] BUM

[T EY ZF X —2e A w5244 incentive FIECR CLLAnm /DB, K515, 28 7 =AMkt
[FEie ] ZF X —26 0 "] $2 4t incentive IR (LLani/ B0, K515, 28 7 =ANMiFkb.
1. 7EJEE unemployment L™ HAHLIX, AT DASR ALV HRAL .

2. ATLMEHEZHLIX [ general development.

3. ML w] AT DR — 8 K R AL

(W71

1. AATRE. PR AR HRAT R4 skilled worker coming from other areas 54 1. 1M 241 JLAE TR
L4 factory 8| [FIIHE, unemployment F1E IR

E s g8

2 ANHTRE T T M ER I EL T . — AN RG] AR 2 A AR TS, (B AT e R AR rapidly,
R ek, T SRR 1E 2 BRI ZF ekl T IR ik B

3. ANATRE. 287 M. A EAT T HMLESS 1 5 JT H Fraa At i) worker, {H2H
S B very few superior 45327, K4 Nik & A & average local salary, it LLX} normal
employee — s #5 BRI A

B=EBar: N
_xﬁgﬁ:

1.

[257]
[ 53¢k ] some answer the phone and text a message in the middle of the conversation, what
do thing this behavior, good or not



2

[2£7]

[ 2 3¢k ] Which transport do you enjoy, bicycle, automobile or train?
KN

[2£7Y]

[ 53¢k ] Do you agree or disagree that people in future will read fewer than now?
4.

[2544]
[ schi Y ARIN A28 b B ) 2 TR A A i T 2
[ Z<3¢hi ] What is the most important quality the teacher should have?

N

[2£7Y]

[ SThi Y AR FIAS IR kAR A B e A A R ) 2 4 N 2

[ 3% 32k ] Would you like to make friends with the same interests or the one with different
interests?

6+

[2£7]
[ #3ChR Which of the following do you think is the most important for maintaining good health?
Doing exercises, eating healthy food, or going to bed early?

I

[5H]

[rhochiR Y fE AR LS A 3l
8+

[:7]

[0 ] SRFER
9.

(k7]
[ Z:3ChR] Do you agree or disagree that it is acceptable that students disagree with their
instructor?

10,

(<]
[ 5% 3ChR 1 What new skill would you like to learn? Explain why this skill would be good for you to
have.



11.

[257]
[ 332 Jome people plan every detail of their vacation in advance. Others prefer to leave most
details flexible or open to chance. Which do you think is better and why?

12,
(<]

[33Cf]  Which do you think is more important for someone to be successful: taking risks or
making safe decisions?

13-

[2571]
[Z<3chiR]  Which of the following do you think is the best way to get to know a new school? 1.
Joining a one-day campus tour 2.

Spending a weekend on the campus play field 3.Auditing lectures?

14,
(<]

[ 3Ci] If you were given an empty piece of land, would you rather using it to build a garden
or a playground for children?

15.

[2571]
[3<3Ci] Do you agree or disagree with the statement? If you want to be successful in running
a business, it is important to have a friendly and outgoing personality.

16.
[2544]
[ 23 ] Do you agree or disagree

The most important influences that young adults have are from their families.

17.

[2571]

[P Chi Y A2 R P50 AGE B B2, loyalty, honest , humor
18.

(3]
[ sci Y BR%5 T 24kl 22 1% =/ volunteer activity, prefer Bf—/



1N FA SRR

245 AU EE, iR B ORI, Tl

3 E T AR

[ 53¢k ] Which of the following volunteer work would you choose and why? playing games
with children, doing a presentation for the children about your major and hobbies, helping
children with their homework.

19.

€S

U SO ARSI AR, IR L AL B, (R R AN A 2%
20,

[3:A4] 2ot

[ 53¢k ] Your community center now offers classes on the weekends for free, which of the
following class you will choose to take. 1.A financial course to help you manage money. 2.Car
maintenance and repair. 3.Review of Latin-American music.

21.

[EA] BT
[EASFEL Y ARANERI, AR
[ SCRR MR A IR R ERUE R baReG 1 B4k, R MhiZ/E 4 A BIX g, IRE A #I?

22+
[R74] )

[ 53¢k ] What are the most important qualities that a successful leader should have?

23+
(5] BT

[3<3Cf] Do you agree or disagree with the following statement? Cell phones are necessary in
order to run a successful business.

24

(2574 BTl

[ Schi ] RIBAAN AT PR E BT 2R I

[ —MhieA]

[ schi ) 1285 s, EEES R ERIRBGE 2 R 5E S5 JImiAT?

[ 53¢k ] Some people think that innate talent is important to a sportsman. Others think that
working hard is more important. What is your opinion and why?



25,
[2534] Rh
[T E Y fah L se A E 2
[ Schi ) PREE S RAE L H i 58 sl TAE?
[ 53¢k ] Do you prefer finish your work long before the due time

[ hA]

[ i ] R XA e S I 2 4 I TR F) deadline R4, it4, IRIGEIZ 4
26+

[RA4] )

[EASFEL Y FEATIE R SR AT
Crbschie ] — B Ta] A SRR T Sk /2 [R) I fi s J 11> works or projects
27+

[EA] BT
(o= Y D, Ot 8- 4T
[T ] PREXCER B R E AL

[ 9:3Chik 1 when do you prefer to do your assignment, moring or eneving

28.
(2574 RiTh
[#HFE ] EfeR
[ 23] describe on positive experience and the result

29.
(52 BT
(WP EY R sy, AAEE, HERRTIAE, &SR
[T ] hd—MRZBGH AR TSR, AR2 A T IR w2 2
HEREALTHBE, 22075
30.

[EA] nate

(AT H1 Y BUNMZ T BNz Bt

[ SOl Y B =07 %, RRIEEERAS, k. 1. —> recycle program, 2. 8UMZTFisE,
BHUNELT B AN E AR .

31.

[2RA]) w5tk
[P SchR ] R a s B Ar ik, R4t £, health.low calories meals.

32,
(€S WA



[ 2hR]) EXe2iRET FOOD, b 24 o
33,

(58] natk

[ schi ] Rt e s g -4 &4

[ 53¢k ] What kind of food do you recommend to add to food menu on campus cafeteria? Use
Examples and details to support your response.

34.

(7] gt
(W1 E ShsEAgs s, A A iz ?
[ SChR ] R RANENORS KB, RANGEF, SISk Al

[ hA]

[hSChR ] SR 2 et ) vt 4
35.

(M) %)

[ SehiR Y F7 BWAFASGE AR AT AR 4 G b REGE 2 Is that good to feed a dog or a

cat. What can you benefit from such an experience?

36.

(] Huds
(SRR Y AR 2 7 ke 2 XK areas

37

[257] Hbisk
[ 53¢k ] Some people like to work or study in new place. What are the advantages of working
or studying in new places?

Nowadays many people move to cities for work and study. Waht advantages does moving to
cities bring to people?

38.

[2E7Y] bk

CAAT- B AR RO, 3o B F 4

[rh 3] children #£ rural area K KA city KKUT,

[Z<3¢hi] Some people believe that it is better for children to grow up in big cities. Others
believe that it is better for children to grow up in small towns or rural areas. What is your opinion
and why? Use specific reasons and examples to support your response.

39,

[2574] Hbisk
[ 23kl Do you prefer to do a job which requires you to travel a lot, or a job that allows you
to work at a fixed location?



40,

[25A] Hbis
[ 23k ] Some students prefer to study in a library. Others prefer to study at home or in
dormitories. Which way do you prefer and why? Include reasons and details in your response.

41,

(7] il
(SRR Y KT — AN b7 I 2 R 7R AN 1) 7

[ 53¢k ] live in different cities or live in one place

42

(5] it

(oY 22X, gk, AT B3

[hSChR ] SFEEAL? B, B50GE, B2 Al ?
43,

(] Huds
[T ] SOB ORI 31 B AR, RSN 3 T 854K 5 0 Bl 1604

44,

[2574] Hbisk
[P schi ] R 72 & AT AE noisy areas {H 2 I transportation shops i/ {175 fizE [ quiet
areas

45,
(2] Huh

[ 3% 3¢ i 1Some people prefer to live in a place most of their life. Other people prefer to move to
different places. Which do you prefer and why? Use specific reasons and examples to support
your response.

46-

(AL iR

e SCRRL Y i P T IS 2 T LA AR N Vi 2
47

(M) sy
[rhochi Y SRR, it JEFZIRC HARA C T E RAEZRE AN el
ZE N

[ 9:3Chik ] decribe a charater in a book, film, poem, explain why you like it

48,

[£8] 7k
[ #30hR ] abusy schedule or a lighter schedule, which one do u perfer?



49,

| Eit) ROPNESIZIEIN
[ b ochi Y GF 502 Bif L2 AR B UCRAE — A, tnff Rk et A, ERAEANE
M H LR, AR T A, bR EE

50.

[A] DA SRk

[HA-FEY — D ARIIRE, ARAERR

(32 ] XA NIRATIE A B family —j&2, Why?
o1,

[A] S A SRIE

[ 53¢k ] do you prefer large class with more people or small class?

92,
[3:A] S A SR

[ 3% 32 ] Do you prefer to participate in activities alone, or with a team or group?

93,

(3] AR

@ RN AN ALY N WY

[ SChR Y RERM RN AL —iiE & = X pab

[3<32fi 1 would you like to spend time with family or friends rather than alone and why ?

54,
(3] S A SRIE

[ 5% 3Chik Jwhich of the following activities would you do with friends rather than alone? Taking a
walk, watching a movie or traveling.

55,

[2584] A5 HE
[Z:3ChR]  Suppose you are to choose between two jobs with equal amount of time and pay.
One job requires you to work

with other employees in a group and the other requires you to work individually. Which do you
prefer

56.

| €t) ROPNSTEILAN
[53Chi]  Which of the following activity do you prefer to do alone rather than in a group?
Study, shopping, exercise.



SYAN
(3] S A SR

[ 53¢k ] Do you prefer a job which requires you to communication with others, or do you
prefer a job where you work alone.

58+
€Y ROPNSTEILAN
(i) FEE SN 2, A B Rl 2 S O s 5 I AR, A R R 22 B 2 i 5 R (A
QEO
[ 53¢k ] Some students prefer to live alone or live with their friends when they study abroad.
Other students prefer to live with local family when they study abroad. Which way do you prefer
and why?

59,
(2] Vi
(bSO A ARIKIE GRUARITIE5 500) IIR

60+

[2554] 1)

(@RS WiakybN=t

[ SThR 1 AR 5% 2216 S G4

[ 23k ] Where do you prefer to go shopping?

61.

[EA]) 54
[3<3Ci]1 Do you agree or disagree with the following statement? University education is more
important than it was in the past.

62+

(579 HELM
[ SChR Y INTERNET WAL & B BRI, VR AF0E 2

63

(2574 HELM
[ SchR Y WA (S B FRR, FREMIR T4K Instructor 1452 book it 42 internet.

64.
[253] HIEKM
[ SChi ] AR 75 Rl DA R A e BRI AR AR R AR 36 rh i o B A €. FH BRI 48] A
YT R SCFFIRA 101
[ 53¢k ] Do you agree ordisagree with the following statement: Internet plays an important
role in yourlife. Use specific examples and details to support your answer.



65+

[257] HHKM
[HHTFET M
[ 23] disadvantage of shopping on line.

66+

(7] 35

[5£3Ch]  What can we do to reduce air pollution? Give examples and details in you answer
67

[2E7] A5
[ SR Y dnfarye /iR = S ARHERL,  air pollution BLFEIX 4™ &, EA4 Tk

68+
(53] Hsg
[ SR Y FRATTIAE A 2 T AR ™ B ARSI, B MRIA A 7K save our
planet.
[ — A ]
[ 32hi] HA> group ZEORIFFAE, IREESEALIRLE L ?
69.

[ ]) HHRENLE
[ Schi ] 2Rk A B0 AR HU Claptop) Ik i
[ Z<3¢hi ] not allow students use computer in class

70+
[RAY RS
[ SRR ] AR AN B AR 2 A 2 SE 1 AN FL
FRALREAN 2 A A EACA N, AR B A, RS X 2
71.
[RM]) 0 FAEXFE
[ob ST ] SRR ) — AN e S NS ST ERENAT A KRR B 2, sl

PR —AMRPTIE B R AE, U o R R

[ 9% 3Chi 1Describe a most unforgettable success in your life. Explain why it was important to you.

OR Describe one difficulty you have encountered and how you overcame it sucessfully.

72+

[RA]) e A EXFE
(SRR IR VR AR GRS ) 34



[ 530k ] ##id atime you are trying to do something that you have never do
(5 —AhA]

[ 23] Describe a job or career that you admire but do not want to take

73+

[RM]) 0 A EXFE

[ S Y URIE R 1R, TRl IR 7B A PRI A IR HE
74,

[RA]) il — A E X H

(g ] PHEF AN AFE BRI A, R AT A X AR
75+

A A EXFE
(el —ANEEZ . R+ 4

76+

[RA]) il — 1A E X H

Crhoci Y i PFAREA AR RS ZAH activity.
77~

[RAY 81 RO SEE

(k] SR L T
78+

[EM] HoR
(3R] RS ASHEI TR

79.

[RA] HAR

[ ] A= % ) make your life easier [ tool \equipment\object
80.

[7] HiAR
LA ek ] M2 A useful or not;

81.

[5A] HiR
[ 30k ] computer. airplane. TV Cf¥fkh78) &4 —MNMERE ZK&A H K.
[95ChR]

Which technology has made the greatest impact on people's life in your country? Airplane,
computer or television. Use specific reasons and examples to support your response.



82+

[257] Kpz

[HHTFE Y KGRI L eE T4

[ ] #ud family KA, F example 1 detail it
83.

(K7 FKhz
[3%3Ch] Do you agree or disagree with the following statement, it is better to live close to
parents than far away from them.

84.

[£H] %2
[ schi Y Wi — 2K 2 i 5 XK 1) area in your city

85.

| E3IED I=:990
[ 3% 32k ] What will you suggest your friend if he comes to your country to study aboard?

86.

(3] 2
[P ST Y RIS — N R4, SREBA R R, RSB E AR !

87+

| E3IED I=:990

[ 53¢k ] If you are recruited as a volunteer to help the community protect the environment,
which tasks you will choose to do? 1. Pick up trash on the street; 2. Plant trees and flowers; 3.
Teach children to protect and be friend with the environment.

88+

[2E7Y] fg R
[ 53¢k ] Parents should not allow their children to participate any form of sport (football,
basketball, ice hocky...) in order to protect their health and from any form of injuries.

89.

[2E7Y] g fk

[ SChi ] BURFZA AR SR A R EAg R AR % 77 e

[553ChR] 17 Government 1%/ iZ spend money on encouraging citizens to lead a healthy
lifestyle.

90.

(M) #F
[HFE]Y JrR, b, thke, s
[ SCh ] E 4R N2 R S5 20 MISRAT R A R AR A 2 K



[ 530k ] It is never too late for an old people to receive high education and to get a university
degree. Use specific reasons to support your answer.

91.

[EM] #F
[T E Y WBIRITR, JHa6%5 752
[ SR Y PRI b2 BUAE A ), RS B B 3

[ 53k ] do you think learning events take place in the past or present is more important

92.

[£7] #F

[HFE ] B EFEAR TS I0E

[ SchiR ] BN ER AW & R I M TAE, A NS RTE LH A% S 8 TAE,
PRE X R TT o4 ? A B AT 7R AR A [a]

[ 53¢k ] Some people prefer to listen to music while they are studying or working. Others
prefer to stay in a quiet place while they are studying or working. Which way do you prefer and
why? Include reasons and details in your response.

93.
(M) #F
(9P E Y B8est45, SEsfh, wfist
(ST ] — AR S STl 2 B A 1R 2 1 textbook.

94,

(8] #H

oS ] S 9k 52 8 Wk school work, 1 16 8 Wik club (9% . FIEMBRILS, A4
95.

ESID ¢

CEASFEL T B7 K 7 35 157 0
[k Y first year student 2 F iy 4 4 2% A8 — e ik @ A — e E 41 ?

96.

[]) #FH

(CIRESD Bid = lis =

[ schi] A EEFNTA, WX young adult f2ma K, A4
97

[£7] #F
[T Y IR0 i MEA B
[ 3% 32 fi 1 Do you agree or disagree that to be successful, a person should study in the university

98.
(8] #H



[ ] B4 improve E 5K education system 25 HURATT I 5% FH 8 5 ks
99.

(8] #F
[ 5 3ChR ] some people think students should study in classroom and other believe they should
visit museum and zoo, which one do you like?

100,

(K] #F
[P schiR ] BAR =FpiGsh, EAxt222E 847 1. A field trip 2. A home tutoring session 3. A
presentation given by a local leader

101.

[EM]) #F

[EASFEY #2772

[3<3Cfx] Do you agree or disagree with the statement? Teachers should make their lessons
fun.

102,

(M) #F
[ 9:3Chik 1 What quality do you think is the mostimportant to be a university student? Highly
motivated, hard working, orintelegent?

103.

[3571] #F

[HHTEY N2V, HAE

LA ek ] RS —N AR personality 2 [ 5 T35 B 14 17 25 28 2
104.

[58]) #F

[ 3% 32k ] Do you agree or disagree with the following statement? University education is more
important than it was in the past.

105,

(8] #F

[P schin ] 25U & drop out of university
106.

(M) #F
[+ 3Chi ] 7E deadline 2 J5 2L 2 451K 77

107.

[EM]) #F
[ 332/ 1 Some people believe that teachers should communicate with students in class. Others



believe that teachers should communicate with students by sending emails. Witch why do you
think in better and why?

108,

[EM] #F

[ SCRR Y ACRER el (122 )
109,

(M) #F
[RSCh ] 2A2ERGZ R P A TS & AT LAk b, R ITRE & BURb L e

110,

[EM] #H
| QIRES) BV AR IS e A EA ]
(3R] f A aRmZmaa o, EEHFLmaEc.

[ hA]

[ 3ChR ] IRERAIR Z LI IR BA LY ZI?
111,

(M) #F

[ :3ChRk ] Someone perfer to have classes on the day and do parttime job in the evening while
others perfer have classes in the evening and do a parttime job on the day. Which would you
perfer?

112,
[EM] #F
QRS WAl Y kit
[ 9:3Chik ] children should do housework when they are old enough

113,
[£7] #F
(i ] B ANERERE, G NEREIE, JRIE?
[ 53¢k ] Some students prefer to take a essay question where they must write an essay to a

question. Other students prefer to take a test with objective questions. Which type of exam
question do you pefer?

114.

[£5] v

[T ] AR AR S8
115,

[267] /4R
[ Schi ] #ERIRIRE . R EA M XA RE ? IREARIRIE?
[ 23w ] Describe a decision you made. How you made that decision? How you solve it?



116,

(%A S

[ SCRRY iR B B
117,

[£8] A4
[HA-FE ] 250
[+ 32k 1 72 summer vocation, £ 24574 BRFE# R % 2], 47452 take a job B relax, fR1e?

118,
[2573] A4
[ 2 3¢hi ] Which do you think is the largest challenge in university for students,explain
(1)Being away from family

(2)have no time to relax

(3)making new friends

119,

[267] /4R

[ 23w ] where do the people in your town go to relax?
120,

[£7] /véH
[ scpR Y Rl ik R B S frRFmE%:  1.Spending time with friends and family 2 .Studying by
yourself 3. Exercising

121,
[265] /4R
[ -3¢} ] Do you prefer to have classes in the morning or in the afternoon?

122,

[£7] S
[0 ) WRAMSMES S A TAEREFZ 5, X5, business office , i #k

=7

123,

(7] /48
[ ] #6538 R RAE 22 restaurant 5% cafe 75 B B A {14 qualities.

124,
(%A S



(3] G5 2 Rty — iR NG 3)
125,

[£8] A4

[ SchR ] RATTE R 208 19330 What is your strength your country education?
126.

[2584] v

[ i)

YiRIN A B important FI(S 4B K.
127.

[£8] A4

[ SChi ] AR E X 5 > 37
128.

[584] v

[ sohi Y ARk AR —fF Ak X St AR ST 42
129,

[584] v

[ Schie ] #ik— TR MODEL A%
130.

[£8] A4

[ 53¢k ] Describe an art such as song or painting that gives you long lasting impression.
131.

[2584] v

[ 3% 3¢k ) if you can have a part-time job at the university what position would you choose?

a lab assistant, a campus tour guild or a library assistant?

132,

[£71] S

b ST ] PRSI — R 77 5K
133,

[EA]) N 4f
[ 3¢k 1 Describe one of the difficulties in which you received help from your family, friends or
classmates and please give specific details to describe how their suggestion helped you.



134,

[£3] A4
[ 53¢ ki IwWhich campus improvement do you suggest your school to invest in ? Swimming pool,
cafeteria or dormitory.

135,
[2£7]) A4
[P sChi Y A2 2R Pt DR AR e AR B XA I 25 20 4F LA L.
136.
[2£7]) A4
[ o) RIEZEAHINGS, RSV YE, F=MEANER T, SRR
137.
[H] A4
[ SchR 1 RAIZ NI — X special event
138.

(] A 4f
QiR =D Wl
[ 3275 ] Favorite room 3R X b5 1AL, W LURAR H CHENE B0 FAt

139,

[£3] A4

(ECERE=D RIS

[ 53¢ ki IYour friends want to change him or her diet habit, what are some suggestions that you
would give?

140.
(57 /v
[ 53k ] Describe the most important decision that you have ever made

141

[£7] v
QI REED A
(A SChR Y B MRERZ I, PR A E R

142,

[A]) N 4f
[P E ] AREH AATRORES, W HRAERSTT G —T
[P SChi ] 4 RaE 1 ROYE IS 2 AifE



143,
[RH] A4
[T Y AR 2 HL AR O, R M — PR A i,
G589 B354 % ¢
144,
[257] A4
[ schi Y S — SRR A —FE () family member

145,

[23] A4
[ 23] Describe a person who alway makes you laugh. Explain why the person is funny.
Include details and examples in your explanation.

146+
(2] Ar4H

[ 9:3Chi ] Describe a person whom you would like to spend time with. Explain why you would
like to spend time with this person. Include reasons and details to support your response

147,

[265] /4R

[ seh ] AP EEH T

[ 23k ] important day in your life why?
148,

(7] v

[ 3% 3¢ fi ] Describe a day you enjoy most or most special for you

149,

[267] /4R
[#1-FE1 —44 365 4 H it
[ 2 3¢hi ] what time in a year you like most?

150,

[£7] S
[ SR Y ARG AARIEERA EAE R HA AR H HE N

[ J:3Chik ] Talk about a book you have not read but you want to because it is important .

151,

(2] A
[+ 3Chx ] decribe a charater in a book, film, poem, explain why you like it.



152,

(%A S

(A SCAR Y R B T A RE (R AC
153.

(%A N

CHFET i

K oS ] 2 i — B sk
154,

(5] N 4f
[HAFE1Y BROEAE R H 1
(SR Y fERSIEHIRH 7, FE W EIAA> outdoor place Zfiizz)

155,

(M) &b

[ 9:3Chi ] If you have some extra money, what would you do, save it or spending it?
156,

[257] ALY

[EHTEY CFAER, 20T AN

[ Schin ] W% OB R IALYIIE 2 I A 3R ALY

[ 5 schi ] 1 /2 I8 carefully choose the gift which your friends like or choose whatever you
like?

157+

[:74] ALY

(i) B Sl A SERIALY, TR A &
158,

[RA]) JikAT

(AT E1] J&JCs5E

(SRR Y e ERORAE N S8 AR I K ?

159.
EZD BT
CRTANMBN A S
160.

[£7Y] kAT

[ SChi Y AR EAER AN T7 R, B ANE T, BN TT — s A

[ 53¢k ] do you like to go to the same place for your vacation, or different places and spend
little time at each place for you vacation



161,

(M) JiRAT
(AR STRR T 30N SR BITAE B30T T 4 H S i

162.
(A1) kAT

[ 53¢k ] When going on vacations, some people prefer to go camping in tents, others prefer to
stay in hotels. Which do you think is better?

163,

(257 il
[rschR ] H 25 i e oM 25 low cost, good weather, various activities =% —

164,
€S0 WU
L1 Y AR B RR -
[ SO D R IR AT AR N BT ? Q& g, AR RN 47 AR
YR
[ 3% 3¢k ] What personal quality do you admire most? creativity, courage or intelligence?
Explain why? Please include details and examples in your response.

165.

| E=3ivh W5
[H7FE] X5 a&RES
[P sehi Y ARSEASFAR I I A S5 S5 AR 75 Tl : - cheerfulness, kindness, intelligently. — i —

166,

[RA] s

| QRS L P54

[ Schi ] A5 Rz B 1 5

[ 430/ ] What qualities should a leader have?

167+
| ESED IV

[ 2 3¢h ] Which of the following library volunteer would you want to choose to do?

Helping people find the right material, read to kids or keeping bookshelf organized.

168,

(8] =W
(QERQED Rie=4uTiES
OS] A ViR AR, s R i A



169.

(7] =W

[ 53¢k 1 money and power make the definition of the success.
170

(7] =W

[WATFE] S

[ chiR ] AL Nk play games /24 1 enjoyment, A48 N IAHIZZ) &N 1 winning.
171

[2£7] =W
[0k M ZEZER 72T, —IAFELW N ZE, ERRTDRTAE, Rk
A
172,
(7] =W
[+ 32k 1 wealthy people should be required to help poor people- your opinion?
173.
[£7] =W
i) wfe TAE, BSEITAREr, Bximmdr, Db
174,
(7] =W
[ Z:3Chi ] Do you agree or disagree? People should always tell the truth.

175+

(53] =W

[H7E ] SpEbE TARE %

[ 530k ] agree or disagree, spend time with family is more important than working.
176+

(7] =W

[3<3Chi ] Dis/agree Having a relaxed or unhurried life is most important for a person.

177+

(2] =W

(PR ] SR &

[ SO Y AATTRE 2 0 i LA I 2

[Z<3fiR]  people should always tell the truth?

178+
(8] 2



(QRESD B b LY E
iR ] R N EARE S, IR AT 2 B4t ? and why?

179,

[EM] 2

QIR WA A2

R SRR Y BLAE AR 226 5 22 B DR [ 2R 57 2] B S5 04 REAE Bl gk A5 4 A
[ 9:3Chik ] Students nowadays work harder in their study than students in the past.

180,

[257] #t4
O Sehi 1 AR F ) ST I 7 ) 7t
[Z<3chiR]  explain your country's problem or OOXX

181.

[£7] #h2

[F3ch] =i%&—: working with children, with community, &—/N&7T
182.

[5R]) 44
[ 53¢k ] In some cities there is a law against making noises at night such as loud music or TV.
Some people support this while others do not. What is your opinion?

183.

(8] 2

CHPPEN R0

Ko SCR Y BT 2 75 B 2R T, A
184.

(/] Hex

185,

[R] the
[ Z:3ChR] Among the following professions, which do you think is the most important to a city?
Police officer, building designer or

transport worker.

186,

(/] Hsx
(b ST ] Sl iy B S A S Z B 2



187-

(8] e
[ 53¢k ] If you are going to participate the community service, which activity would you like to
choose. 1. Work with children 2. Teach adults to use computer 3. Clean the city park.

188,

[5AR]) 414

[Tk ] BURR S ROZN R BEsi PR, 382 A i Ak
189.

[5R]) 44

[ SChR Y AT AR P kD 2 AR A VR I X AL 25 20 4F B B 2201
190,

[RA]) &

[ SChi ] AT A VE A AR bl 2 B g2

[ 530k ] Are the livingstandards of people today better than the past?

191,

[£7] #t2

[ ochi ) TR BARE R B A DL A2 i), S5 B BUE AR . T iR Fh Az 4L,
FEARITE AT 20 .

[ 53¢k ] Describe a change in your country. It could be a social, economical or political change.
Explain how this change influenced people in your country.

192,

[M] e

[rhochiR ] TR e As AL AL .
193,

(M) e

O STRR T 3ok T 232 U0 4] 4 B 25 2B S 5 AT 2 (0 A
194,

[EA] thes
[3<3Ch] Do you agree or disagree with the statement: artists and musicians are useful
nowadays

195,
(W] H52
AP EIY SR AL [ 1521
[T ] EAL RS LRI ALIE /2 for fun )2

S



196,

[RR] 442
[ Y ABRASAE RIS % good manner B EEA 2 i ?

197.
(A 2z
U sSOh ] 8 NP ORI 24, SRE AT DABRFFABATTI AR A, 48T, 3EAb A Xk iz
BER SR, SRAATAT A ASH R s bah, Jofh 42

198,

[2EA] #52
[ 53¢k ] Do you prefer to be friends with the ppl who share the same opinion as you do or the
ppl who hold different opinions?

199.
[H] 1A

[33Cf] Nowadays many people find their social network on the Internet. Do you think it is a
positive trend?

200+

[ER]) 452
(A SR ] ik — AR gs A AL
201.

[RA]) 45

[~ Y ARG S BRE 2 ARE A

(i) —S ARG R, — S AR A G =L

[ 53¢k ] some ask older ppl(parents, grandparents) for advice, others ask their friend(same
age)

202,
€D e
USSP RBAIELE, AR # RIS T
[ 30AR ] SRE/NR R T CUBIE R
203.

[M] A
(ST ] AL LS b5, AN A LA R A L6 5 b, FRIAAE?

204,

(2] W)E
[ SChi ) AL B R E AR IR S )
[ 530k ] (Watching sports proprams on television wastes

SR R



time ).

205,
[2574] B fa]
[ Sehin ] B H LR AS 2R I [P 4 7532
[ 23 ] watch television is not a good way to use time

206+

| €=3ivD WingE|

[HHTE ] W2

[ SChR Y K2 58 B (A 4R 22

[ 23] describe why organizing time is chellenging for university students and why it is
important

207.

[5H] FHl

[ ]) fREA SR — A T

[ 53¢k ] Cell phone, you prefer to carry it with you all the time or not all the time, why, using
details and example

208,

(M) FHl

[ SR ] BBl i) 2 s R SEAS R
209,

(3] ok

[HA-FE] BB 5IEE

[l A ANERSEHER TR, A NSYCEIHRERE TR, JR0e?

[ 53¢k ] Some people like to buy new but expensive books while others prefer to buy old but
cheap ones. Which would you prefer?

210.

[58]) o5

[ schi ) &k 2 A 54

[ 2 3¢hiw ] Reading books or listening to audio books ?
211.

[257] fifE

[hochi] R EXRHAR BT, #HH
212

[£1] kF
[ 53¢k ] Watching sports games on TV is not a good use of time. Do you agree or disagree?



213,

[2E7Y] #ot

(R chi ] — A B IR i i /R 221 1~ 2 transportation, tourism or city part
214.

| €=3it) IANI RS

[T EIY LB 2
[ SehiR ] R/ 2% L7 why
215.
| €3It IANGETS
| @R =D KIS SE=SI ¢ RE
[ Sehi ] fiR— AR B RS RN — RS
[ Z<3Chi ] Describe an activity that you enjoyed doing together with your family in your

childhood. Explain why it was enjoyable to do this activity with your family. Please include
reasons and details in your response.

216.

| €=3it) AN TS
[H°FE Y URAMR G Nk A
[ schi Y AR/ fig () special friend

217+

(E=iEY i
(SR AR ATV A AEAE RN T 5

218.
[571] K

[ 9:3Chik ] School should ban junk food, such as soda, chips and candy. Give examples and
explain your reasons.

219.

(7YY rial

(A SOl Y 38— 3 R i SO 1 ) Bt =

[ 5232k ] Describe a news or a story that you are interssted in recently. And explain why you
think it was interesting. Include reasons and details in your response

220.
(2A] thf
GERESD RStIET
[ SCAR Y R B A P Hh SBT3 28 et A S I P 2



221,
(AL Phkk
CHITET fhiedde, Ak
CAoseh ] AT A RE R RIE 1 APk ?

[ 53¢ people dress can express their personality or not

222

(3] kg

QRSN Wi Ev WS S oy W b e

[ S2hi ] fEEE AR PO AR B 1 3K 2R G, RAT 4 kg
223,

(57 PERE
[ TFE ] B S
[ SR ] k=X 8 RIS =X 8 R
224,
[2RAY] A%
[HASFE Y Skl 2 vh 2 3
[ ek ] NETAE R ARZ AR leader 18 & member

225,

| EIED Rpvites
[ 3 32l IYour professor is asking you to help with some research on the weekend, but you have
planned to go to your sister's birthday party. Which would you choose?

226+
[RA]) iEHAH

[ 9:3Chik ] All students should be required to study art and music in secondary school. Use
specific reasons to support your answer.

227

| @ 3it) prikz v S YE|
[ Z3ChR ] If you could study a subject that you have never had the opportunity to study, what
would you choose? Explain your choice, using specific reasons and details.

228+

[267] ikF5RLH

[ Chi) BT k— AN RAMNES), sports, music, ZMZALHE
229,

| @=3it) etz S aE|
[ 2 3¢k ] Which of the following Art classes would you be more interested in taking? Wood



Sculpture, Painting or Photography?

230-
(A1) JeeRtH

[ 53¢k If you have time, would you choose to learn to play a new musical instrument or learn
to play a new sport?

231,

[RA]) iEHAH

[hSchR ] B, Bl SR, ERAZAAN?

[ — A

(i) 2ESAZE AR ZR PrL5E2EA) museum?
232.

[25A]) &Rt H

Crbochi ) %oy, mE, BRI =AM ERRa il — Ak, R — TR — 42
[ 5 — " hAk]

[ rP e Y Rk b5 for fun, which one do you choose? art class, science class i 1%

233+

ESD IS
[ ChRY —AMARIRAT 2 I 3K T BL G 7

234

(2] 2]

Csei] A N ERCTI A STIRE BT, AN RATAE, R
235,

ESD IS
[ TR kR B RAE S5 P 2 ST R 3 4

236+

(8] %2751

[ 23k ] Which do you prefer? Taking a course taught by a teacher, or study by yourself?
237

(58] %205

[ SChR 1 AR BT SE AR /27E due day /T 5 BB
238+

[RA]) 223175
(3R] R B IRIREIRAE R B S IE2 0 |



239+
(MY 223005k
(SR ZA T, AR, R A
240,
(MY 223005k
(SR YA NRBAATB T — A& 2R DARIEAREE 5, A Ntian Ui 2
KEETE . FHIRRR AR S — A 2, At
241,
[RA]) 2221759
(€381

some people speak out in class, others prefer to listen and quietly observe.

Which do you think leads to greater success in school?

242,

[RA]) 22231059
[ SThR ] AREIRAEMR 23] ?

243,

(MY 223005k
(SR Y FAERAERI DI, A By 2 2 1A R

[ 23] event happened in the history, tell why you want to learn more about the event..

244

[8A) 22 2) 057
[ 3Cfk ] Some people think the best way to study is to attend a lecture. Others say that it” s
better to

read by yourself. Which way do you prefer and why?

245,

[2E7Y] 22 )5k
[ 2 3¢ ] Some people think that students should study during weekends, but others think that
they should relax and to socialize

246

[RA]) 22217059

(ST ] R — AR E 2R T, ARSI

[ hA]

(SRR Y IR AABAE DR S mplst, VAT (T i i RERS 7 Bl dth .



247

(58] #2707
[ 5 3¢hi ] Do you agree or disagree with the following statement? Students should always study
in quiet places. Use specific reasons and examples to support your position

248,

[ER]) 222
[ 53k ] Do you agree or disagree that it is a good idea for university to ask a student to leave
school if he was caught cheating in exams? Explain your response in details.

249,

| E3ivh J=27iy
[ 53¢k ] Do you think it a good idea that university asks students to leave school if found
cheating in exams?

250,

[2£71] &R
[ xzfiR Y artist+musician X4 4E H

251.
[EH]) &%
[rbochi Y Fiad fR s W i) & R 2R
[ 32 fik 1describe a type of music that you would not like listening to. i85 /2 2841l 1 55 3 [ iA
Lz 1.
252,
[H] &%
(o) REXIB—MZAREK, RIEEIEZE R
253.
[M]) &%
(AR sehi Y A2 BB & SR AR B B2 R AT AR B X PR ) 5 AR
[ 2 3¢hi ] What type of music do you enjoy most? Explain why you enjoy this type of music.
Include reasons and details in you explanation.

254,

(7] &2
(i) EeAm AT

[ 230/ ] compare 2 singers, similarities

255,

[£7] 8o
[FF3ChiR] c a rd game Al computer game, H prefer WA, JEA



256.

[57] L

[3<3Cfi 1 Do you agree that parents put more pressure on students in school than ever before?
257+

[ ] FE
QRS I0a S 1 e /N S
[T ] R A AL,

258,

[EA] #1%

[ SThi ] Fh R RA R PR AL A
259,

(7] $A2

[ E Y AFE SRS A B4R

[HhSchi] 215K 2 AN T3R5, ARIA =g 2
260,

[2£74] HRYy

[ Schi ] AR job interview 414 suggestion
261,

[25741] HR

[ 53¢k ] choose a job lawer, animal doctor, restaurant onwer , which on you prefer

262+
(2] B
[RSCic ] AR ZRTA MR NI, RSN RZ G, 2id— B A
{22 > B E B 2R HRME R .

263.

[2574] B
[ 2 3¢k ] Which is the most challenging place to work? Museum, hospital, business office.

264,

(2] B
[ 9:3Chik 1 Which of the following volunteer work would you choose and why? 1. Working as a
home tutor 2. Helping adults 3. Helping old people

265+

[ER] By
(AR SRR Y Wil i At ) AR (22 P R FD) e B A B 1 A



266+

[5ER] By
[ TEY N TAERG D TAR, B @R ikz 77
[ S ] WA AR H 2 e L NEZ0M, Pt ZRK.

267+

[ B
[H1FE T HAEROR, HEEMA
[hghcd B4, 20, KRR, WAL 2 vk sok

N XFEREE

1.

[ 11845 151 college directory that has all the contact information of students.Two improvement
of the directory:

(1) Add photos of students;

(2) Put the directory on the internet

() IS5

(1) Because some students may have the same name, photo helps students to find the right
person.

(2) Some students can’ t find the directory.

It is easy for students to find these information if there are electronic version of the directory
available online.

2~

[i1184E 5] art class of sculpture , the school is planning to downsize the class size from 30 to
15,

(1) that too many students may not get the attention from teacher as when it was of a smaller
size, and AZ7At is crutial to art class.

(2) that it is too expensive to buy the materials(/~ic #5847 ) for so many studerts.

QW) WEd

(1) sculpture is so important for students of arts that they would like to choose the class even if
not paid so much attention from the teacher, the new regulation will X|Z+1R % art student's
previlige to choose the class they want.

(2) the art students would pay for the materials themself, just to get the chance to attend the
class.

KN

[ iR £E 2 1A B R — A electrical board 4 f7 A 1] imformation, coming up events #7808,



KRR, EREEEAR, 1M HE> T 400 poster 1.

(1) AR DY & g4

(2) A& FRE R D RE B3R 7

(v Y st

(DEFRMEAESER wAFVUARRA T 28 74— BB IEE 2GR AT AR
FEE—A> show %I T

(2) NGRS BA A28 imformation 4R 5 FE25°E post Hiok. — it [4]
T EAE, RS ART Y poster, IXREAK IH 38 REL TR I 1R

4.
CiTie M i) R TR RO A 2N 2 S /N L

FRENX R A ik

(1) FBhAA SR 3 3500

(2) iSRS ATHI A

Q) Brasy

(D) RZLAECEREEAREES], EFH IR 2R 6]

(2) AR —ANHE LR, BESNRBOVIAR, A7 EE A BT LE S
ALAPH I A

SN

[ 1184 5] aletter from  a student: student writing center is crowded;

(1) hire more tutors(current  2);

(2) open on weekends (currently only M-F)

V2D IS &S

(1) student would not need to wait for a long time with more tutors

(2) student usually have free schedule in weekends because they have no class on weekends
unless they have to work, then there will be less people in weekdays

6+

| @ARTVEISD B (t/50 ol = Rl /i e 0 TR ER 7 S 21951 ol O A 2 s BT R N EX
[T 1] Jsoxs

(LD FRMAM F AT REA TAE,

(2) undergraduates =X 2 B, B R RIREA H AR SR A

I

it s A ] AR A PER I ANEUN 8 A3 inE) 15 A

(1) HEZHFE apply IXLURIE, (HR2L 1 faculty A K.

[T /1] 3CkF

(1) ¥hn ABus/> T communication with faculty, &A% T /NEHE 12 51

(2) BESRE R 254, sl DRI 2 (104EL, SEaT LA 211 faculty fdk T A JIA 2K

o] @, 8 & 2 B 2& more students, more money, more faculty



8+

L84 5] 2418 newspaper post Hi Sk Bk —E g A 4 iR kS,

(v Y st

(1) DL —4F 22 i 58 4 A AEAE group study HIFRE, 1M H 2% SIS AR AT
(2) fRRAT parking FHEF i@, RIMINE . TERF A SHEEIELE campus

9.

LR 4E ] 2445 offer lounge for commuter.

(9777 3k

(1) IR I, Af AR BT 4 1

(2) HAHEFEALL share information, &7 LA Z)414 car 4%

10,

(e Y B A SR AR IS — 2 off campus [F]%# loudge/LOCKER (15,
(L BZ, EZkEL LR

(2) s 5 s B A 2

(W 711 ot

(D) 43% dorm MBS HE R, A48 S0 A 2028 — B Bk %

(2) {5 Enr L@ s EE

11,

[ 184 551 Summer storage policy. During summer vacations, there are many empty dorms,
students can store their stuff there---.

(W 71] ot

(1) It'sunfair.....

Eg. She can drive all the stuff home, but her friend has to take a plane home, that means that she
cannot take all the stuff home. But three boxes per person aren’t nearly enough
(2) She does not think that there is limited space in campus

12,

[l fE sl ] — AR IR P O H AT 4

(D JCHAE S 6], FONIRA, AT ANRA L4
(2) R IE TR

(W 711 Jeoxt

(1) HIUR% 4, FA%FER AR responsible Fl/C
(2) BITENNKREREA NI, KIR % FIEFIR

13,
[t a]l A MR EALE RN A AR E
() WEvs|

(1) FiEHH L% 17
(2) ERATCLRIFEA AT, 0 ST S8 e 4645

Wl 3f : 18273139911( #) & Wi )18073139680( % # Wi )17608401360( I [l )0731-88598326



14,

it 41 no parking of first year undergraduate student to reduce traffic problem

(W) Bt

(1) there are 8,500 freshmen applying for school parking. The decision won't resolve the traffic
problem.

(2) University should build new parking lots. For example, there is a empty space behind
football play ground.

15

[ifits ) B NS5, campus coffeehouse BUHE 1

(L BHZDNEG, IRFILT .

(2) PRz

(v Y st

(L RANRA, Frolaedpm, RE NESEBERY ), HMALETET

(2) BYILLRIAG:, (HRBIEIRAH T, WIEAH . M HIR health, X244,

16-
[T i Y SRR A BT BASE T audit
() BPe)

(D SEWrA A S AETT R IR b 1A RIERL A ) B, S0 1R 224
() HHEFIEMTAER, T2 UK handout, i A4, WREVGIEZE R T ok[EIE n) &

17+

[iF i A ) 2R SR A senior literature major 78 5V RS —F research thesis. AR 44
BN AE 4R E — A advisor.

v2D IS X3

(1) “PEF IR C thesis #ILLERE, EARNRIG. MAEANSE BB KN research thesis.
i

(2) FANFAAEE thesis (5] LLFT advisor 17118, BB CIIAE, BAEH—E R
= thesis

18,
(B AR ALY SHAAEHIARIIALRESE K cafeteria M [a]
(W 1] 385

(1) “AAEHAE R S B J1 3 AN BEE A2 Tl B X AT T LA M ) 3K 24 2R 47
(2) LAHTHE EARAE 2 /N e — e B ) AR 7, R 0 25 2 R A il $est U7 BLAE 7T DAL

cafeteria

19,

B EE ALY 2ERAT HHIT — T TERER, B2 £ TS project A1 thesis, I 5t il 22/ 21

(W 73] Sfr

(D fliAkFALE thesis, i 0I=H—A project B2 1 WA Faidid, XANURFER
RATH



(2) FUEFRFAEELT, FARNGHIHTT, Wal LUE B2 RER, FIRE
H CLH project HE T G ALl i

20+

[id g4 ] 2K policy kA &AL BI4E 45— 4] baxter dormitory, JUALF 2R HIHE]
HAta g &

(1) BAFIT KL

(2) LRPFIRE I T LA — 7 R, S AR K —

[0 11] Sk

(1) G5ebBE O, SR — MR I%—/NRES A AR, BLE A AN T3
B — R R AR

(2) FA IR B AT &0, AR B R TR FRAO T A ) LS KT L
R R % 47

21.

Cifie ] SRGEE N A E) M) R auE

(1 Bk, 2mds

(2) BABRRE MW BERA —FE, Fril, ZFELEES

(W73 ot

(L BUERBRERARIAIN™ T, EREBERINASE AN ES B S A s At 445
M

(2) FrfT B A RN A S B I BERTBER R R B VR N R,
FEATERIE B DRI ER, Azl

22+

[ 184 5] professor's email about discussion requirement, student take 2 discussion lecture
write the report 1 day ahead

(W ] 38

(1) itis good for the discussion part because saving time. Last week it took them a long time to
finish discussion.

(2) itis useful for their finals. Because students have interesting ideas ready and easy to write

paper.
23-

[ 1184 5] Coffee shop on campus plan to have live music performed by students on Friday
night started next mont

(1> student will largely participate in both performance and attendence for the concert

[Wr 73] S

(1> Thiskind of live music in this area cost a lot

(2) compared to that, the coffee shop provids affordable live music experience.

24

[ it£ 5] proposal of adding seats in the Andreson Theater
(1) seats N5, 1RZ show J&2FA M 1A {H AR 1 22



(2) EREREIE T 247 73238 2 Z o N

[Wr /Y et

(1) RADHUZXEE, KEBS show ZRE LT, T AR T 20N seats

(2) AT, XS2 big investment, construction cost a lot, 17 H. take years 2= [[] % 74

25.

(e EE R Y AN SERBEARIR E 1R B R T ERBAT

(1 AR ZERRBAE ) &

(2) PRH AT CARE b 22 T s e [R) 25 0 4 3 3 ] 27

(2D Bvs)

(D 2 A2 LA E, AZFA T LA HAt i zh

(2) F RN R AR RONA N S SR, NiZ4mA> time limit 15

26+

Citie ] A ANSEREAETE S NE 5 UK 8%, Lhr B e e S iR
(D FHRFRHEAZN

(2) ZREPM T AI D7

[Wr 4] Scfr

(D ] gE R SR AEIZE, B AT BT A— AR

(2) students can get together and learn from each other

27~
(B AR ALY SRS — AN UL 3
Qi) Brasy

(1 B FEAR, —MFLFERRER ARSI, BIA IS 2 3
(2) RATIRBGURAANFEIZNN, HALUARMRA AN S

28+

[HRfE ] Rt A E > housing office for off-campu
[T /1] kR

(1) #& on-campus HJ dorm 2.4 overcrowded

(2) FEANIBARRINEL XA office 1E47 A BRAT]

29.

| QARTIVEISD ey s 2 PR AR Y UES o1 B I ok (= = A o e e

(1) to help 1st year student, help 1st year student adapt to college life more quickly, because
senior students know much more than the freshmen

(2) to help 1st year student to know some senior students to expand social connection

[Wr 73] S

(1) K—f/N P ZEBASNE, ik schedule change, building location, Al T#BAS%13E
LA A\ RE deliver those information i< 1R A #5 B

(2) At R — IR AR A K — BB AR R HRRIR, SEANREZ ARERIA
R 2 B AT



30.

[iHi84 5] A letter suggests that students should choose their roommates based on two
reasons

(1) fewer conflicts

(2) more dorm residence

[Wr 73] Jexf

(1) There are not many conflicts between roommates; even if there are conflicts, students
should learn to overcome them rather than avoid them. Experiencing conflicts and solving them
are part of university life.

(2) The reason why students choose to live off-campus is that the price of dorm living is too
expensive not that they cannot choose their own roommates. Therefore, allowing to choose
roommates does not solve the problem.

31.

(e R IR 7l

(D WG, A=A BLE ZE A FR 2 T L T AL 2

(2) HlJa, e PIMEEAFSARIE, ik, &I R A AT DO AN 7 9 ) i An
KA R ]

[Wr 4] Sfr

(1D ZIMAR I8k, IR0 LR R AR A P =20, A3 1 AR
A E A8, (HRFEER, MR IR eI . TR R BELRE R AR A
{5 XRIELFA AN AT BRIEZ T ik, &~k miRe, BRI 28 7 ik R
(GEEE S

(203X BRI (5 Ak A2 R AT DA AT AR R T ) il L o S AE P I SR AR MEAS OB 2 5
JeHRAERE N ERIFLT .

32,

[ it#: 4] study abroad 3% information section /43N [ 1%l
[Wr 73] S

(1) AR program M5 R, AZEZILLH, MRS

(2) WTLMR RN Z AT S InX AN H 1 St

33.

[ 1245551 The announcement of change in career serive from the school newpaper

(1) students are required to meet their career advisor at least once per semester

(2) participating summer internship program,

[Wr 73] S

(D2 AL, B8R 2% 7 Al SRR 2 A - E R, it B2l 27— A2,
i) advisor Hi#HS Bt ¥ 3% resume 15 cover letter

(2) WhHEHERZ N | 24F program, SR8 J5 B2 JE Rl intern 22 1 full-time

34.

CRPR AR AUY RS BB AT nature club BT e 21)



(W 4] Joxt

(D BEREZR, PAEAFTHA ML HAZERICHITLLE, RITME, AFHER
{57

(2) XMURERSCPR BUR—FE, RGN guidance, WIRBE N, HERLRE, oty
A3

35.

[iFitsE A 15 B 20T math building §)— 25 cafeteria

[T 1] 3CkF

(1) BUAERZHR AT 7 student center, & building #5z, _FRIA] Bk ke al [RI1R 6, 2 AE
1E— RN R N K Z 2 b7

(2) ¥ RBIBEKIA T, caferteria 7] LA recharge laptop SXAEAR 7 (8, 1 FLI& AT LAZE B 4
FILOE

36+

PR R ] AR AT RLLSE, BRI D, R 2200 Be = ons

(i) IS5

(1) MBI AREF, SAZAT . B UERAZI MR “BETRIT 7 AETT %5514

(2) FHgUt: AR NHREIGHR . LU AT F B AR DR, X BB IR
XA R, XN T R, AT T

37~

(b m ] B 7 M5, @il auditorium s, M EIWEE R4t

(W 1] 385

(L WhfEA AR TAE, AL, iEkEAZEH, X

(2) W EJETTERAR, i H CARMESR A& M A L B R, 26 7 SR R IR
IS

38.

[ it £ f] SR & N 4547 —A library training day.

(1) FFIMIN IR o B R IE BB k)

(2) FRI5E T EAM BN, BRI F 2

[0 Y ot

(1) BMIERZHNEEH B O s %2 R A Tk, - B 55 22 B BT 1 1
journal, AT LA E CLHURER IR, ASTEZEARAT]

(2) BAEAKIRN T, heavy load of homework, BT BAEY, R ibAbgi1E

39,

[ i A A ) ARGl AR 2T % interview skill workshop, £ &M FHRAY A 3k 22 A
I interview, 3554 BAF [ #E A LUS R TAE

(W) SCHF

(1) BT i HoAth 22 R #0v A F 10IX /> program, it DUtA 1237815 competitive

(2)F%: T BE#AR skill, meeting and chatting with iX S22 A [F] 473V ) A BE#% build up connections.
F worshop [ boss #1 professor iX £ A & 7 LAATH SR 2 1A 7 SR ORI R —— 1

Wl 3f : 18273139911( #) & Wi )18073139680( % # Wi )17608401360( I [l )0731-88598326



HIAE.
40,

Uittt A ] i B 0 LA P b A

(1) HHRH

(2) AT

L] S5

(1) A VIR, AR R BB %

(2) UHAERAMITER, TTUALRMABRRIA, FIN —RAHH

41,

L84 451 music building 245038 56 i%,

(1) FHi 7 EkAl locker, SRARAEFA IR o

(2) BEITZ )5

Uiv2) I ER

(1) SEIJ7{E, A carry instrument back and forth. kR EG A4 24538 R 2%,
(2) BUFE R BETE dorm 25250, BUER S, A ARE T

42

[Hi £ ] 22 EHE TV M Dinning hall #3&
(97711 Jeoxt

43,

[idi£ 5] B A S5 Z eliminate advisory meeting with academic advisor

(1) BLERTF I course information online #(7, A IEEFIZIT meeting

(2) ZIFAAT AR HME AL 8] _Ek Bl — BRI

(W ) ot

(1D M EXHAMAS B ARZERA AR, &Rt 2 15 B M 4

(2) FRECHF[A] b ASGEANAY B Ih il — B AR 2 AR B, W SR P 7 e Re i3, A

Fi R wait to the last minute

44,

| @RR7oe- 9= MG Rt aaarid
(L) WWKRET

[ 711 Jeoxt

(D WA %

(2) FHPLZIEN, Bigh# R

45,

[ i #: &) school should not allow laptop in the class

(1) distracts other people's minds

(2) notes can be written down with pens and papers

[Wr 73] Jexf

(L FAERRBFENT, I ESRES D EHR, JHX MR ARRNA LI 14



Bk
(2) FTrterfist. ALEAH, Eilmicmsa IR a4 1

46.

LIt iR ] “A A H 5 s B AR IR/ MR

(L b R AR R FHERZ T

(2) AR B R TR A A S Lk 1 2E

[Wr 4] Jsoxt

(1) EAFRBABNNAERRERA L, FONTRE REFICHE R I 15T 56

(2) MW AR ? AR R EIRA AR, SLHERA RN

a7

O iR s YA R, 2 B B I B 2 T AR HU 54 BE move 2137 (1) apartment
(W 1] 385

(1) IXHERT AR DR AL 1 55 18] JF B 5 BEBEAT 22 F

(2) BRG0P, AR NN EEMIIT AR R — m 2 2RI R, R 22 08— 1
FEARWD . KRR B T YRR R e 2555

48,

(g R ] RoatE & o< 22 A2 1Y art gallery

(1) nottoo many art majors take the advantage of the gallery and display their works there.
(2) only very few students come to the gallery even during the period of exhibiton

Q) WEd

(D ZRFZERRZFAEZ, EHRIEA A many majors don't display their works in the
gallery is that they take the chance of exhibiting in the gallery very seriously. So they always wait
until everything is perfect before sending their works to the exhibition.

(2) PR EALMIIAL, BFERWERG T, AANHLELR, REMAMER R

s
d,

49,

O ig R m ] AR R AN S AR AT EIARL, IR RRGE RS AR5 A A RESTEN 100 5K
(D ARG KZ

(2). FTHIHLZH R 4R

Q) Brasy

(1) ARAERIRAR, MRAARKZHMEEZEN, mHANRARES 22 2]
DA HIE

(2) FTEIHLAH RAGREDITEINLRIE 1. iR REOF TN, A RAT

50,

LB ) PA A AN extending study period FIEE, Wi BT 4AskA 1 REIH,
BAEREK S 3 R

[T 73] Joxs

(1) A ROZEEA E AR RS2 2], AN RAZ 7 A 0 e i 19

(2) ZIFALERAACHE & ARIRA, B (] [31 25 Fr g 2 A 1 )



YN

Lishit A ] KR b art gallery.

CED R

(D BRFERRHEES, R

(2) FRMEEMEIE, SHERNSHIR T, AENACTEHR, KFHRMEH R

%

92,
[T i i) SRR S A v 2P U IR TR 5 o
[Wr 4] Joxt

(1) 1R NAB BSR4 Ja T 1925 il Fofth, IXFE RS ARE concentration.
(2) REAEXNGE MG K, X E S mp3

53,

| QRNEVES=Y Bt e e o (8 S 1

(D XFERT LA leadership 1 xx

(2) WL PRR,  Eeb e AT AR SE BE A | AR

(W 711 ot

(1) S Jom B L, it dT 72 5. #RAHN leadership JoK .

(2) W4zt Mz >), F—1NRAR 2 N5E5, Bl e #A— & L% postion
WL .

54,

[t gE 5] Sk A professor 45254258 NE R B —HHIBEE, 06T F - H R B0 g

(1) BRENNTER G 5EL assignments 2 5, S ##ER 3 /rA =347 one-on-one talk,
R IR RS, RGN BA X RS

(2) FoFFA %M Al questions from classwork, G144 7E R A Bl il 320 i )
i,

[T /1] 3CkF

(1) MG ERER G E ARG T B CHIEEAERNE O, (B2 RN A BE 2 in 2T 3
JRNEX AN, XEEBIRRAE— AR, B TRER T

(2) BEWE M) T 22 ) 5 4 SRR ARUF 1Y, MR EEA R T 242 1) lecture, AT AML2
e, XNENET.

55,

[ 184 151 the university is considering moving the student theater center from campus to the
nearby downtown .

(1) downtown theater has a larger space, and it can contain more audiences

(2) the new theater will have better technical facilities, so that students can get better light and
sound while they are appreciating performances.

[ 73] Joxs

(1) audiences in the downtown theater are mainly students. It is quite inconvenient for them to
drive for 20 min to get there to see performances, so few of them would like to go to the new



therter,

(2) ZERJRIBE S e AR AT H 2 T4 AEMNIRING, AT, A RIB i ik
TR AR o TR AR PR, AR T Re e SRR AT SRR S A LA TR A B — Y. B
DAY A 5 A8 FH B B 1A 1A it

56+
[ihe M m ) A ARG RN AR, 26HE 156 24, BIEFARBTE L get

feedback from professor,
(1) $ZHIr 77 ANArEId Lk TOP15 =24,
(2) Bk 22— AR X ERAE sierious

SYAN
[hegE S ] 2RI UK SR A 1 BT A A
Q) Brasy

(1) BUKIHR LI
(2) HrAERAZAEA 2 B PR — e A2 2 campus I — 2%

58+
[iTie ] 22K letter [AlR2ARLSN EOGERYESENKL N 273
() Wve)

99,

Citie 5 ) A2 —EHE, HEASA fall semester #K 3 Kf fall break before
midterm.

Uiv2) I ER

(1) Freshmen 75 2L 51 2 (I [A) >R ER_E K521 pace - Hi& RiARATTHI#T schedule.

(2) midterm 1R141>, A %L research project 1 paper, fifLAiX/ break f& 1R A 2 5 ()

60+

[iFit s A ) SR B SR A 1 first year students #F attend seminars in the students center.

(1) Refe B4 SR )3 S campus life;

(2) seminar BeFs Bl 22 AR AT (4L 234k

(V2D IS X3

COABNI IR 2=, TR AN IE R AL 1 AR 3G, P35 38 R K 5 >] reading, 45 4t reading
HEF final exam FIRT— KA

(2) A yixFh seminar A& BhS2E AT IR B A AHLDGER I [F) 2%, boanfl 4 eE4R.3) 7 A
b — X RSO .

61.

[P igfE s ] — 2R ERBEA 5T — N, B4R E RS RN — MK reviews
(1) FR, ZIMSHREILEA M, KEAFAEE review.

(2) FANHEE AT chapter [1) expert. #1954 NS4 N EARBE, " LEAM .

v Y st

(LD ZFEFARARER T, BMNARSEH AT 517 2R H T 5,

[

NRIER



JREHEE R .
(2) WIARB MR, 2ARENE RSB CRER, BNESHATETEE T i §
TCo

62

[i184 5]  library is planning to change the opening hours.
(W /1] ot
(D —HAIT L%

(2) f acessto journal and magazine

63+

[ 18£5 5] notice Ui 25 B 2 MR H R AN S art theater MU=

(v Y st

(L) Kz, WRHHTRRE, HdERATE,

(2) BRI 22T IR SR EAR, LUGIRFE SR, Aok L aigiR .

64+

(i £E 5] notice ALG5 AL A&

(1) BERHHEBL

(2) AT B NLAS

() Bvs)

(D A SRR A =, IR, AR
(2) ZZRIERAISRYES BLES, W SRAE LS L2 Uk .

65.

Uit B ] 2R B poetry writing 3 [ T3

(D X[ TR BRI AR D

(2) ZEETTLLZL nearby (R ZA0TIX [Tk

Q) et

(1) small size 1] class At il & X 8 211 attention, KT LA TR HL B2 5 % 1)
feedback 1 comments;

(2) ZGRATTE, BRAEARA car: AT L Z MRS RIRFFE S/ L /NS A, H2K
EZCoas S g S

66+

[PPefE ) AR SRR —3HME . I AIAE =R HIHLG (computer lab) HALE >, A%,
M2 T AR ARG ] A e I, ST sign-up system il &, “EAERTDASRRT TS, AT
PLEREE — /N, 1Ak efficient T,

(W) Bt

(D e EwE, BEEIEE ISR, B1E B2 B3I T~ 26 time limited, 55
B, XEEAATE ST T intervene; X #¥f inconvenience, X ineffictive.

(2) RFPELLTK noisy. A FALTUE 1, (HRIFME, JaRkPiEm =4 km5, ©i
P EXAT, AR, som A



67+

[ i8£ 4] increasing attendanceon student art show

(1) g2 R WA N, i 18] 7 2 R i RS HA AR

(W /1) CFF

(D YENEARRNEA, REEEXFMBR, BERAERN, MEmAL T, ZHA
zZ7

(2) RFKRZ, KUJLHRERERSH B BE, WRSEH T, REmAR R ZE T

68+

[itiefE ] —A proposal, #ZERIEH —Fi4r activity budget %5542/ academic
conferences.

(W) ot

(1) &AL EE intended for 19353, Ehln clutural activities, extracurricular
activities, for example, concerts

(2) ZEfHAME) academic departments CL&H 4 FAESINHARSIWNE RHE, FAER
G, HRaslERGE I AT 2.

69+

CiHigfE s ) e kammn, BN EIE (gym) MIAEOED, vt gym 16 H P % .
(1) Hhn—Le¥ it Cequipment), Ll E4T%.

(2) #EK gym FEME I FFIE IS H .

[Wr /1] 3CRF

(1 VRIS E 2%, JERART, FNRZ NHEBAEBAR 1, SRR RIR K, AMEA
%

(2) REEHAARNE FIRFEFEEE, AR A0 s A fe 2 gym, BIFELEK
W RIS TR AR 4 o

70+

[i]i&4: 5] the enrolment in the summer school has declined

(1) shorten the summer school time from 6 weeks to 4, and tihs allows students to go on a
vacation or go home after the class

(2) lower the accommodation fee

Q) IS &S

(1> He went to a summer school last year but ended up having only one week left before the
next semester began, and he felt like he didn't get any rest at all.

(2) Reducing the accommaodation fee will allow students who want to go to summer school but
are concerned about money to get a chance for enrolment.

/1.

Ciie £ 25 ) 5 ARG AE study lounge fi group study AN, RUAHARFTHE, 230 e Mol
for individual study, [FIEF#X group study 78 BRI 221 % (conference room) 47

[T 1] =k

(D) WFRAEAREELZIBE, F KOy i paper fEBE >, MGARL O, EKFA



o, BB RN R 2l 7o )Lk RSP
(2) #%[7) conference room for group study, BECNATT, ARG, R EFIR AR
1RZ, SR lobby B BERFIR /)N, 75 Zh ] — Pk

72+

[ i A2 51 campus gym 5 P —AN H 2508 A EFRIA TR . 7EIX AR A0 1) gym X2
RIS AIXAR convenient

(W 73] ot

(1) L5155 B gym #OCH, AT DAR) 95 5 A R vl i

(2) HAFHA convenient KA E 2 H OB AN, B SEE DR 2R 2R

73+

[ 1184 551 The university decides to add music concerts during the lunchtime.

(1) Good for music student to have chances to perform

(2) Proide food during the intersection

Q) IS &S

(1) 2Rl RAEIRAH — concert, so that music students are not able to perform many
pieces of music. Adding concerts during the lunchtime would provide them oppotunities to
perform more pieces of music that they practiced.

(2) The music building is far away from other class buildings. Students have to squeeze their
time to attend to the concert. So it is great that the university provides food for them for their
convenience.

74,

[l £ 5] d il 45 premedical school {58 —4E224, ARAATITE S —FE ZspE X R B B /M2
JIrfi volunteer work.

(1) BT LALEARATEE B AR IR 2R B0 A1 24K B2 97 ¥ procedure

(2) premedical #4255 PUSFE AR AN ZER AL 2T, IXFEAIATTES DUAE AT RAASIE 4 B 5k

[T ] Ssox

(L) RIEPIN NEREX A HE, sam XA A, A SRR CEMN—E =2
B—ERI2EA, RNMA T fi# prededical school F structure, [KiX & preclinical & clinical
ARIE, AT 32 B SRR Im R B 7 AR, A medical school 2 ) i+,

(2) FRLett X ERFEMERST procedure SIS FMMATTIZE SIAAHIG, 28 DUSEARAT I ZE T 5 iy
medical school, AT LAAHHE .

75+
[ifie ] RGBS (LA A NATIE S B AT 4
(Cyz) a5

(D Kfakr, JCHRE PRI Z FI%, G EELIRERFHED line, WA NI
TR N R RE 22 22 PR

76+

L84 51 The university dining hall will discoutinue the summer breakfast service, lunch and
dinner services will still be provided



(1)During summer, very few students come to have breakfast in the dining hall, it's not worth it.

(2) Students who need to have breakfast during summer can go to local coffee shops to have
breakfast.

(WY Bt

(1) During summer, a lot of students stay on campus to study. she has chemistry class in
summer and it starts early in the morning. so she needs somethine substantial to keep her going.

(2) Going to coffee shops will be expensive, students don't have that kind of money.

77~

e i) STENEOGR S, M At B R 5k 10 5K, B 5 L0/5K;
(W 4] Scfr

(1) A R UAESR A AR FEATE], A BRI title #RTED;
(2) YBT3 T EIML.

78
Lidib At ] 2R R b =1 T2 AR KRR
07 3] A

(D 2AERETHEZHBEERN S 2, AREEEZ ML WAARHR
(2) ARFNMNIERA R B XK LR

79+

(7845 5] JEA DINING HALL R [ B FLFF Ky SPORTS #E6E 1, ARASSEM I s
B EAEAE BTSS! 2R A S A EEAME R, ARVEE) 2 GYM L,

v Y st

(1) 3XAN ] FHEAS = B2 SPORTS S BRI, KK & BN T 5 LB R #AN KT A& # 4T,
AR TE T 5E T M RULREE 1E SPORTS B AN H .

(2) REGENHSELER B IR, GYM ABATS 4, MEAFHIML,

I 10-15 44

80.
[iTig i) LT ER S IEEEm Y,
(W 1] 385

(1) gallery Kiz
(2) BBz,

81.

[ 18451 Aletter for a university, written by a girl. Seats are planning to be built outside (on
the lawn).

(W73 Jond

(1) Another dining room is closed. It will be better if that dining room is open, and students can
use both.

(2) Some people will play soccers on the lawn, and it will hit some people.



82,

(B EE ALY TR A2
(1) N3
(2) FERIFIURS[A]

(W 1] 385

(LD Q=AY ARG, wTeES S0, BMRsSEEAN, g1
TArz:

(2) 2HEARXR

SOV, WAL, SRR RS, B2 ER RS
83.

[i:1i&£5 551 school need the students who study politician science to read the newspaper and
new newpaper room will set in the library.

(W11 B

(1) read the newapaper can give him a chance to know a lot of thing about the topic of research
paper, AJ LA R B A 2 B — L K,

(2) news room good [KJy 72 Re B4 %2 >,

84.

[i1184E 551 The student wrote a letter to the university stated that currently the evaluation
from students to professors every semester can only be seen by professors.

(1) The student suggest that the evaluation should be posted on line. It can both motivate the
professors and enable students to see the evaluations of every teacher.

Q) WEd

(1) Teachers may feel unhappy to see the evaluations on line so that they won't treat them
seriously.

(2) Students may feel disturbed when required to write these evaluations, so they won't
carefully write them.

85.

CPigfE s ] RN 7 HmeiR, FER—m 2 mmEE 4>, EAMAE papaer, LA
Jo 5 JE R A 22 4 /N o

[V ) S

(1) LARIA R — B A R1IE & 4 research, EAS paper, AT AXFEAIR A H

(2) Hi/NRERIEG, AT DA B ES), v AN Z 8, AR50
B —F¥ sitting and listening to the professor . XFEA] LRI L

86.
CiigfEm] 35, — AR UOCHARIHET,
(L) JTHeALf

(2) P ANR
(W 31 Bext



(D BHRAL, HE EARSZ
() JPeeasudt 1, MEBERITE—FELr

87+

[HRfE s ] PRIBOR EORAEAE AT SO TG
(L s

(2) WTLRKE 5 METE B st A i

[T 1] Jeoxf

(1) AESN PO AR boring AMNEA L) 5 4F F L HEE
(2) IRAEAT A NEB B BT T HHEAE

88+

g gE S 2RAT 4R 1 B AT 7R e 2 B AT

(1) K¥r. AEMH

(2) $#24t7 free campus bus

| Civa) WE

(1D EMRZHAER FRA, 2R M BT AR ARG R

(2) free bus does not help too much. R4 1 /N —3E, 22AA3HERN, TR Pe A2,

89.

[ 24 #5] allow use cell phone in library

[Wr 73] Jexf

(1) library should quiet, talking with others will make noise
(2) if emergency, they can go out to check messages

90.
[iHe S ] FRERGA S E—4 16 /A EE programs in community before you
graduate,
[T /1] kR

(D M RAMEFEFR DA T BERE] 725 TAR,
(2) ZRAEAHE R EHT restart 17, BIEHRAIE 2R 2B RITR D 45 TR LE 1T IR
A AL

91.

Oifie ] A AR SR OH AR AR AR SR P A
(1) FRE 78

(2) HARAERER A

() Bds)

(1 FrlE 7 IABR BN EIRAR R 1

(2) WAHMERM, BACRMRT, ElaH %

92.

B EE ALY BN UK E A & o g, 3 SR B 2 A A O 1)
(W /3] Bext



(1) X crowed T
(2) ANH[fE plan to hungry

93.

(it £E f(] 224245 university newspaper 515 claim Ui [ CB N, HUEHLESEH RS T,
Jr DA IR A A AR AN (B], AT LAFE, SRS 1 /Nt

(W 3 ot

(D 1/, ARAT R — Ui T s

(2) ML)z Hof NI

94.

Citig MY KAt R INR A BE ORI B 5 B 26

(1) XA AR UE T {E

(2) AR DARIFERFERL T .

Qi) IS5

(D R P REER I, — DMEIXHRE NI, B35 HRATIE, =
BE,

(2) HAMEIROR D, ML AR 22 R 2, P DA A A T 4R 22, (HIEIRHAR
Bt ARTEER, RXASTHRIAT DU i 1R 2 4k

95.

[ 4845 251 The school is planning to build a (dining hall/caf¢) in the classroom building, so that

students have somewhere to go for meal between classes, and also to have their laptops
recharged there.

96.

it ) 2R A S 22 AR SR AC, PRt i g s, PRI A te Bi .
[ A) st
(DO e

ZARMEE T 50 4, AR EA AR .
(2) WaEIAZ TAENG, BHNSIME

97.
D ] Sas AR AL, TSR Ak — L F A
98.

[hifs mi 1 2R BRI FEL45 T 4]

(1) BRES4FIERe4s 4T summer class ()24 424 1 & 2
(2) HWEERAE Bt

[T /1] 3CkF

(1) ok b3 summer courses 5755 7 _EiR R E TR
(2) theater B T#IK TE1E T



99.

L S Y 2ARGE AR RILEBE R residentadvisor 2255911321 RA,Z R I¥) advisor
AR MBI T 481 advisor K5Il IL7E B R AEATIS advisor 2% AE 45 B in N 1) 8%
Wl

V2D IS X3

(1) lhfd advisor, BRIXFEM AT LAFE i (Y2208 /4R 25 BT 1 advisor, /5 B T-fif ¥k roommate
[E]f) conflict;

(D ATFELF R %2244 move inhousing staff 2Rt 45 Bh F#58) dormitory 43Fc /3 1Al

100,

CiTigf ] INEARZ, TRAEEWEAAERGEM LAV, HZHR AT,
Qi) Brasy

(D LAPRARAAE SERARAL, 2] T UG, 25 USRS R IK;

(2) ABERDMEE A, KO LRI R SGEAEA IS, e tRAEAh I, (HE DAL L L
T POV RTRZI FRAIE R 7, N AR T, BARESER 7, ATk
Ko

101,
[t g fY 5008 1735 Bh 5 AR Al e Ui 1) R, 7 4% i H— 2% paid student technician

X2 technician EAEIETE &, N T A RFIRML 24 I HIIRS . AENIRIER, 4E15 i 9% K
—¥

[Wr ) Scfr

(1) Wf — ke EER, K freeze 7, BARLEE, RGeS — KB 2 B A0H
. RS Rt — M A R MB R A, — N FRtfi 7, WS student
technician B 7 i fif HiX N1l 8, woRuF T

(2) PRAR—2PHEmE RARAES, DOMERE RS 7, bt e sa X MR AL

102,

[ it 4= 4] the lounge in the dorm should be changed into study room

(1) people can go there to study

(2) the study room should be equipped with computers

Q) IS &S

(1) It's too noisy in the lounge because people watch TV there, and the dorm rooms can be
noisy too because the roommate is always on the phone or listening to music, and they hava
nowhere to study

(2) Computers make it so much more convernient to study, because not everyone has a
computer, sometimes they have to go to the library to use the computers there and the library is
closed when it's too late.

103,

i ie e P R U AR L 2 k2 AR T AT mentor 23R AEAZAME office H.
AR ARSI HX A Rk



((ER )]
Qi) Brasy
(D) 2AEERIT Y, BRI EHRAME office A mentor 220, LS AR B A

—> student center AJ DLf# peix L6 ] il ,
(2) wJLARI A2 RE, academic advisor Al professor 1 fi#ixte(EE. KEZ ANAE R Rmilkeg
confused.

104,

[ it 4= &1 The university decides to add music concerts during the lunchtime.
(1) Good for music student to have chances to perform
(2) Provide food during the intersection

Listening

[Wr 73] 3285

(1) REFEHAFER RE /% R4 Students have to squeeze their time to attend to the
concert. So it is great that the university provides food for them for their convenience.

(2) The music building is far away from other class buildings. Students have to squeeze their

time to attend to the concert. So it is great that the university provides food for them for their
convenience.

105,

[ 184 51 campus decide to open its gym to off campus people for

(1) charge other people monthly fee to change for better equipment and facilities.

(2) the gymis large enough to hold all the people.

[V /] R

(1) Many facilities are too old in the gym

(2) The university is in a small city, there will be enough people to pay the money for the
facilities and not enough people to make it crowded.

106,

Cidie ] Rt & b 2 A 4120 20,

(D AfgmlR AT

(2) AAEAER—TE Ak i 2 A A A EARIAR

Q) Brasy

(1) “AAEAREEAER] N RIAT I [A]

(2) “FIHE lounge KZARRERLTT, AMARFEEHALX MESREAINR, BonbE

107-

CEHBEEAY — D AR AR . 5 EARAZENL,  NAZIE I AL IEXS 15 I [A]
(W73 ot

(1) B gy, - B,

(2) KR OARMFEN T . RSP LT AE o, A% AR 1]



108.

LSS Boy KGRI 4L professor K lecture  {HZBIAEXANMHYFEUE T
(L BAE
(2) BRI

DANER T Sk s
(2D Bds)
(1) BNEWrEYE, BONEE A2 website 14777

LA B, LR niE
(2) WS AELE professor 1E campus HtAEJZ>  hotel % .

109.

[oFiB £ RUY T LAHTSS 5228 SR04 1Y storage space k%%, BCNiEAMTII A Al HRHEAR S5 o
(@) IS5

(1) VRIS AR, IRAANSRE N A AR, S A oy, Jie
FAF R, XFHEREZ

(2) ERAFMERIR AR IR W, Fra B8, RW, s E >, Shmma et
R S5 AEARA 1A 784 I TR ASX A F15

110,

i £ 55 ) 22 HT 545 top chemistry students & 322 4>
(L B

(2) REC415] 7T corporation organization ) 100000 % 4
[T 1] eoxf

(1) REEL%LMFEA certificate 7. Enough T

(2) ATIETRE R & 56 4%, WEAEHTH chemistry studendts.

2

111,
[ £ A Y AR EOR B e et XRS5
() BEds)

(D AKAZ AR, (H2%EGUE M mandatory, AN4f.
(2) FEHX YR, EREZEEMRE, AR EANTELARITHIH T .

112,

[EHEEE R B E 1T ME R AN LB mE, R)55 paper.

(W 4] Sfr

(D H LB WAL T AT B S — 5 R

(2) Ut 7 ZEEAERAR A, MEIES 7 25 E, e 1R e

113,

(g ] — SR ERIME: WA A computer lab £ ZORVI S (R #RANT7 (8, 2
HERN . A B E LSS A computer lab. 1R AARAEEE literature building, S B2 fid &



FF lab FHh 7

[T /1] kR

(1) L’k totally agree with him. BN A ISR KA A 5k e EIRGE 2], U lab EAE literature
building 77 {8 A literature course [f)4: 425 5 paper

114.

LSS SRS, FRunET 4L beverages and cookies 1R, {HE LI N—LLHy
sandwich XL AZ K &40 more light music.

() IS E5s

(1) the cookies don't really help much when she's hungry, it LLEIRREA — S8 H Az i

(2) The music there is too noisy now, she has to go back to her dorm to read instead of reading
there

115,

[ e R A ] AR AR AR MR BB i — DR, IR B 22 AL Y H AR AR 2
Rz, PITTaA AT B SRS ) S

Q) Bras
(LD ResdiAEmEastiRe, 2R, i BIREE /W, WSER, AL,
116,

[ it £ f1] SR G theater center X444, LU AEXN rAES 2N EEAN T
A H £ profit R4EFRF center 12175

[y 711 ot

(1) PHFEEAEZRIIFALZ, FRHIX center I TR NAS I S AS S8 27 A 1 e 4 B 2ol A

(2) ZARELNHFAWERSINRZ theater center IVEZ], IXAERZIR K

117+

Cihie e S ] FREBERHE: ARG 10 A& (kK 30 40, JREFZZRALR
WEBR R, 1M H 2 £ 1) copy machine

(9771 3k

(DWHIXASFECFRAR LS, B 30 A% T — M AEHE R F 4t 1 il 280 596
bl A2 At Fr 17 s 2 B AT 1A B T8 SO LA R e SR H , (EA 3 B R4S 1 R
BLETA R AR 3 N B E 1) IXXH AR RAN A

(2) T2 copy machine 277 KMEF], K il — o r AR EE R, B
T8 R85 copy machine, FT LUBTIIHLES 2 K KATE I TA].

118,

[t it A A ] 2R E 414 annual meetingfor community about the development of faculties.
[T /1] Jsoxt

(1) H{helkf v, LB EZ N poston the Internet;

(2) HAABERIKALE auditorium S04, W@ UNUR ME4F S 4F .

119,

[ihie A A ] 14T 5 remove vending machine



(1) SEM#E— e S IR IR & i

(2) AT DL A B ) A B S

(W 711 Joxt

(1) =] LATE g R & it R BB IR B, Bih s AR R IR .

(2)#7E vending machine =25 2242 1y AN T7 {8 o [ YRR AN AT AR /D, SRAS ]2 A K2R P8
WA bt SR T, B T SE AR A 4 B A KT .

120,

i i £ 50 ) 2R AR S ot v BARE N tutor A E L& R ARt FF i

(W) SCHF

(L HurH O REBAS tutor, AT A RS ELEARACHT [H SR B . a0 Rl 218 SCH A mg i,
18 U 22 SRR

(2) R Z %A FIAR B R B A FER AR, ArLUE R IO A g k. H B ar LT
T weekdays A\ KZ FRIRIL o

121,

[idie A 55 ) 22 ZHUH art entertainment newsletter
(W 73] ot

(1) ATERFEIREUE B

(2) ATLAE 4545 2 39 0 review

122,

[ 184 551 University theater is planning to prohibit eating food in the stadium.

(1) eating is distraction to other members in the show, and avoid eating increase the
experience.

(2) students don't bring the waste out of the stadium forget to dispose

[V /] R

(1) Noise. Someone eats popcorn and distracts her.

(2) Dirty. Someone leaves the popcorn box in the stadium.

123,

(e AE i) 2R EHUH healthy center,

(L) MHEHAER, AN e

(v Y st

(1) i i Be B AR 2E 15 3 Bh 4afe, Kiz

(2) FERZHBMELZL NG, Wi, k. IMAEZRM, AAELERER, mHA
I K EEBCIE AN

124,

[ 184 £ A university” s plan about arrange the dorm according to same interests, hobbies of
people.

(W /1) Scfr

(1) People don’ t need same habits to make friends. ¢ T [ & AF A]F, she and her
roommate, they have different interests and they are taking different classes but they are very



good friends still.

(2) There are several reasons for students to change dorm. It” s not always because they can’
t get along with their roommates due to different interests. Some people just want to change
location.

125,

CiHie s Y AR 2 A A R, ¥ reference A1 journal U3 online, ANFRHRAEALA
AR

(D 5E =

(2) Jiffizgte

(W) SC#F

(D EBIEXAE AR, By fE B TR, RAFTRMR Sy, ¥ @rigdeseiize
B, TR G AT 22k

(2) EANZEFEWEE A, BN AR SR AT ENL, oL & L R 5%
o

126,

[ i £ f0 ) FRAEH IR E SRR 2 I AR RGBS, JHRIBUE RN ASEE, A NEEIAH
HRKEE

(1) B2 fErE & 5 A

(2) HUHEEN AL ZXT E IR B NRATT(E

| CIvaD Wids

(L EERHIANTUEEBIES, A gk EEms, BRmRes

(2) SRRV, MR BT LIPAT, AT R A 230 b, L HAZEZE REUGH LA
I EL,  no big deal

127,
LR AR A Y 38 R U P 25 B 0 T K
[Wr 1) Scfr

(D A X 2B IXANBERHARR TS b BRI EIEIRT
(2) ¢ KRR NFRIGIBN d 55 SR A IS 7 LR Bk

128.
[ifie ] SRR QAR
Q) Brasy

(1) HEhnit i 2
(2) 2T AR ZUEE 2205 Bl ok 1 I 7] 27 ) U e Jdk o

129,

[ A] A %4 Improve library,

(1) $eT DA 45 i U

(2) add faculites

[Wr /1] 3CkE

(1) R Z AR P IE K Ik research, ZEHERA A REH I 1 look up books,



(2) X falcuties #fi72& F4 W] LAMG I TAR ML 2>
E‘:\ g iﬁjﬁ%)@‘

1.

[ £ #%x]1 autogenetic succession

[f##% 1] a change of the ecosystem brought in by the organisms themselves #f 2 545 233145
AT BB AT SO, AT A& & 55— P A R T A 5L 56 A )

[s25) 1] Hedth sunny and dry, &4 pine trees, AT LU A T — AAABEAR, FAR AR 74 78 o5
3%, WARBERITOG, Fat AR wet and shaddy T, &SRR, RZERE, XA R
KEBIT MG T

2~

[ 4 #%]1 advancing crediting /& 4 Lk /NZ REE I 4F

[AfRE 11 /KT praise FIANE] l, (RELZFRFHMAT, i I4, MATEAKR
Wridio RS ME FAE G ERHMA TS, AT R RILHILT o

(o) 1] Bzt —HA L F—X, NI EE, S0z, K5/
FATHER kAL s _E DRORP ON THE GROUND,

(5] 2] JEREIMBCFMA U EEZ T, LORFFIEE NEAT, IREFIR. IR IR L
(behavior proper), TREFFAEEII/NIAR, WAATR THER/NZ. 17 —Bial, PR~
B, KA /NI A AR AR AT £E B A L

KN

[ %] revealing coloration
[Ars 11 sh S iRe b 77 2 surprise Sl %, XFEEET AR KRR T
[sef) 1] —Fp— PRI
(e 2] —Ffg —Fhbbig

4.

| @79 WEN-ZiEEE SRR

[f#% 11 5% shot

(5245 1] %Fi& shot

(5 2320l 3 OF T — AN, — iR sest shot —MR gloomy & darkness (1177,
HIRZER K, old fashion. %655, RAE1E FW. RG] office, fhmiAiE
At AR —ANKE, 1 H. event 115 & 42 gloomy ¥,

N

[ 4 %% HHEYIH root communication .

[ 5261 1)professor 25 7 M7, Wi FEFERIE ) & BT (Y B e AR E — e FE B, e,
R A an SR R A 500, IX AR 23 R T — P AL 2P ol 5 U0 AR A X A 7 AR
B RIX MRS IX A T UERR XA, FRAK” R E 2] DU 13



WL K FIFR 73 o
6+

[ 4 #%] confirmation bias

iR 1) — D AEM T — N E bl G, BEEmMEARZNER, i A XA cn
SE IS B

(o) 1] Bozss 700 A, ZEEREME, HREH, hE O R 2 A b
FRXFRZE . (R IX P RS B A SR e B s, KA ER RIS . RS T X Fh 2 Bk e
R FHEMPINAE, MPEAE, HAFEIETRTHE, A A AR RE X RS, (Hk
FEXTIX A K.

IS

[ %% 1 emotion display? It means the expression of emotion depends on the society in which
we are live in.

[ %% 1] professor uses an example of his 4 years”  old daughter.

[ %% 2] She had a birthday party last year. Prior to the party, parents told her that she should
hide the negative emotion when she didn’ t like the gift received.

(52641 11 Her grandmother gave her a cute clothes as a gift. But the girl didn” t like it and felt
disappointed.

[5:45] 2] Before her negative emotion became too obvious, her mom said the clothes was very
cute. The girl suddenly realized that she should say thank you to grandmother and she did that.

8~

CAFRY el 7 —Bal, o 7 shic MR, I EEMERK R,

O 1] BEATE T DLE . BIERE L /Y, RN ie ik

Cfre 21 30— FE LR A TEER AR

[5ef] 2] —MAEAIREERIBIT, SHEREIRE, HEHLRAEE. BRERLAX
P, (HRERALE T . RJal, R LML, (HREEE D] 1 Hale?

9.

[ 4#%] negative ideation PREHIF

[fFR: 11 B2 AR =X chocolate bar fHIZ K 2 AU, Bift 5 4 fRFRIZ TS 5 771 2] 15

2] 1 MABAETS 58 J3 D) —/NBRe— /N B, R Az PR BT i sl 2 48 212 Y2 (5%, 5K reduce the
temptation, Ll 1

10,

[ 4FR] 4R maitain F CLRE %,

[fgre 1] A s ORAR ] size By (AN BUH)

[ @R 2] A IR adjust size FREXEEIR,

[sefl 10 W s LR 7 RPEAERB) 7, Al ATTRG b BEE A A2 100 AN A2 A E—iE, RS
KARFasE, B kB rsh s,

(et 21 AR B MRHES S BN 2 AN R 1 75



11.

[ % #K] Generation effect: customers would remember th name of products if they generate
themselves

[ %% 1] aresearch demonstrate this theory. two commercials for a soft drink

[z 11 repeat the name and characteristics of the drink several times, but in later interview
most people forgot the name;

[ 52641 2] same as the first one, but ends with a question: What is the name of the soft drink?
Then nearly all people could name it later.

12,

[ 4 #%] marketing surve, A i f%< misguiding

[fre 1Y JtH 24 R340 would you buy XXX IXFER i) f,  AATT—R 2R ¥E social desirable
answer K[ A, 1A ZARYE their true thoughts.

(526 11 — KK A A e design — 33 ERTCIS Y41 green car, #E& T 3718 &R E TH %%
F 1) Interest. ABFEG RAEH 1, W E L RRZELTGRREF 1, #AEK,

[sfp) 2] T2 sevh 4™, BEARZE . Uil 7 2% 1948 7 & B answer dosen’ t support

their action.

13,

[ %%k ¥4 [ %€ /) patterns of behavior

CfgRe 1 Bt 7 —Fshnar e, R Uieq 1 e i— M I BRI RS e 1.
[s2f) 1) Bz vf T A, — N —MARE, i1 B O, SRS ot oAb
A1 (Which is remarked in red), Ji& SREIE 2 F 2 HoAt B 20 6 1 28 74 o Bty

[ 21 55— ANl UE Rk 123 624 MOVING THEIR HEAD SKERFH b AITIRI 51, J ok B
FE NP ST 1A IR 2 X AL

14,

[ 4#%] dormancy (4KHR)

(ke 11 dormancy C(ARHR) FORRE & S AE R 95 ISV RIS T PR AIRRERE,  ORAFZE A

L5245 1] lungfish, At AIT7E dry season % E C bury 76 mud BT, #iE XL 5 H#<,

[ 5241 2 Jdormancy fI 5 L2 4 stay inactive, slow its breath, heart beats and the energy use.
FrLART U LA H AHZ AR PERE survive,  BLEIRYZEK I

15.

[ &2 #%x] sweeping generalization.

[ARE 11 AT A generalize, S ARFIRIGOL, TEMR SR B 34T A A B [
1, FEAT R ol AN I 1R 25

[sfe) 1YBEZ IR, 25 7 AN, SRR SKER AITE KL 2 AT, 285 B &% T back pack
RER, 7 BERZEMMET 1, [\l 23RN 22 £ Bl B TT— B ERALLE

[t 2 At i) 8 Ze R e 5 PR B R T 1, b ud ANAELERME T KL nl N, 285
HHZXT IR S



16-

[ 2 #%]1 natural passengerway
(R 1] sh#n] L3k 2] natural passengerway 7E#7 A\ ZF@ W71 area 2 8] move around

17+

[ %K1 creative grouping, f&—F i LAGIEPER BT, EMAI 2, AT EAA—
ANHTRIFNE

[l 11 LFR901, AATCAHTHE BN —Fh & S i ™ol Bk = 7= i, (RS, H T
BIE, AT AR AR ],

[l 21 fA—ANA R GIE AT E e S AETAT I R AN BRI = 0 b, e B DRI A
a)E, AT

18-

[AFRY PFA RN

CfRE 1] — D ANERICEHR 1, AR XSt B S 2 3 I, ARERAAT Eib 4 i A 24k
R, RTINS SO e AR 4T

(e 11 — DDA RG]

19,

[ 4 %x] explain the concept of Insight learning

[f#F: 1] chimpanzee can't get the bananas which linked to the top of its cage,after thinking,he
moves boxes below the bananas,and get them

[ 5245 11 animals will find the solution after thinking

20+

[ 4#K] people tend to 6 repeat their behavior when rewarded and stop when ignored.

Csfo) 135 7 Mo07 3560 text, {0 id 5 /N2 ) LE grocery, NZ%)L—% 3] cookie ik BEAIE,
I ENZ T cookies LAJG/INZ LB 25X s

[sf5) 2 3580 1 ik /N LAF IEIXRRIR S8, fE/NZ ) LR3I, ignore him,  allow him
cryings  LAE/NZILFAIERFE T .

21,

(447K XXXXSHIP SPICIES, & FSRARERE —ANIREE 32 BISZM ) XA 304, P R ZOR R0
XA 35

(2 1] 7ERG R, A RS Marcow (A& &), 1REEE. FE R AHH ARBR 1
R, REGMEMEDRARE 1, BEKED, RE. BB AT 20,
EIED T IXANESER Marcow, M4 RFE . IRIERAE NIRRT, TRERTAR.

22

[ 4% YAk B —Fh 7 923K 5] 1557 3 CROPS AND ANIMANLS, B Sh 4 AR 78— #2357 . Atk build
—ANNGE, VUTHA RS, AR, SRR, AfhAh—duth, s TR R L.

CAgre 1) Wilpib: /NS RT LA RPNz

[ffst 2] Wb B %55, b E ARGy, Wnfl bean, X Huls . A 2+ HEAT bean — ik compete



for sunlight,water

23+

[ 4 7% ] Bi-directional communication between parents and baby, =& J&1i}%: babies F15C£EfE
DEER- AR

[ 1) #2287 — AN 1. PiA parents All—AN75A H K1) baby named Max. Max 5% %
smile, =X to be hold, EXK talk /communicate with his parents.

[ 52451 2 1. Max [1)ix L4749 T BUfth ) parents 152 % i 2, % Huth . 177 baby & XK feed back from
the parents. X7} feedback X iE— 5§l Max 5 XCFI AL BEAZ it

24

CAFRY OB PHRA BT O AREIIN, VR 1244 HEVRA5 22 b () B A )
TRASBE T Z 0 At ()

Csep] 1] —ANsEat, —ZHBENLBRERI DAL, S VRBOTAATIRA 1) #E 2 A Phamik i L5
Ao BIMBEBLES s, GRS, NFEREN RS .

25.

[ 4 78] sociology, — AN AR UiA FIFPHERI A 2 H B A& 115 S KA T 0

(26 1] —ANREANTH B OF BRI R AT AR, (5 Nt LA 1 B

[ 45 2] —3F share experience BN, AiFILFEZN;, R mention FiE K keyword ff 5E
Sl A2 3Ly, summarize — REEFTLLT .

26+

[4FRY ShRCEAR A 2 R4 predator HOANFITTAN R, - [RIISS 51 ] 0 60 5 7t AN
G

[seBi 1] Wrds FEFE] meerkat, P ZAVE/EML T, (EILRAG LR L €. BELAE—
AMETIENR, 2487 21 big bird FURK, A AR AR E, IR S o AR st 2 SR 1
TEHEPGE;

(5] 2] (B2 EE SMERII%, stk b sh - MAFEFE S, X2 meerkat = R4
B RIMREE

27~

[ 2 #K] stratigical alliance. Wi oA F LR —MIER L partnership, BEHEH &2 FI )
BRA KT, 30 profits
Csefol 1] AE77 155 JI RS & 15 5 J1 57

28+

[ 4 %x] motivation research of consumer % /I SL AR TG HIZNHL: & N T A 938 At
AASTABATF= SRR A HE A BT 23 Ot aware ANED9AH4 . [AIER B ASREA AL
S WL ) motivation

[ 5245 1] — A4 cloth A& FENIZEhAK cloth Agas, Frbhid 7 — NS . A5G B
A4, T4 people ZX-ERIBT T, EARATHT cut FRUES A R 2= 5 i E A

(e 2] B sY FoRNE iz K. BT DA R BB DA 1S 2h AR & Aig sk,
ATEE KN THRJERANAR A T H G T e



29+

[ 4 Fx] restoration ecology (VK& LAY, BEEAEVIMAGESMEL, HEAH S HZRHR—
Ao NREINRE CEBEWIR T AR AR, a0 E YK S LLRTIE A Hu BT 1)
% lack essential factor 7] fg 21 & I it must fail .

[ 10 3 E LARTH XXWEED 1R 2, (HR 93t B U N R H- 4 354 45 F0 £K corn, WEED
Tl destroy 1o N TIREAEDR, BEFEFARLER. REEEE FHE A WEED, H
FIRRA KK, BIAMESEF RN fire.

[5245] 2] FIRE bedt WEED S&JERUIERL . SN 1 fire J&, i {5 360 7] 17 fift

30.

[ %% stimulus discrimination
[z 1) 15t seal #3507 75 35 Sk k5 keep on eating i4 /2 leave, predator A1 harmless 1% 1%
FEAE.

31,
[ 4 %K] term of "mental set”, 6 AR F 2 B 2R EH G 79k 24 WA [R] 1) /2,

[f#F: 1] the lecture gives one example

But it's alway not the best and most effective way to accomplish it

[ sS4 1 YR lecture (1) pfsr 5 1 /M31- A LLHT ) — 1> rommate RY peter only use typewritter
to write his academic paper, but it is inconvenient and easy to make mistake, once u made
mistake, u have to retorts the whole paper over.

[ 52451 21 He suggest Peter to use computer replacing typewritter, but Peter relied on it, because
he regard it as the only way to finish his paper.

32.

[ 4 7%&] supernational [¥75E SURIEFAL, RTLALINKATE, 62 ERIR%ESE

(545 1 BL WHO (5 AR ZH 20 FRk B 4419 1 supernational f4FAL i —NWr 2] WHO
H—HZA R E—E R A LT LB RO E s L g, AHTEE,

(el 2) $EEPMARKER, TLAA BT S, GBI E R AR E

33.

[2HR]Y BAAH1JJ50 . Occame's Razor 45t fa] B (¥ A 4% 55 47 14 -

Cfre 1] dafieiotlb,  fReisn] 5

[9ef 1), KEMEKT, A NEEAK, ERIEAFHEIRZ BT i
[scB 2] 5P s BS I, IXANT R . DRI b)E — iR B4

34.

[ 4% recall memory [1]—Ff technique(FCHE 2 HEAS 2R 1 7R 76 BR 2R 1) 4R 1 T AT oK)

st 1] G 2R AR EEAC KB R AT B FE 7, /R 7] LR A dorm 31 student centre F#5 Fok
e B, MEIMEXBESFEICH big tree, SR /5 A& Stadium, #AJ5 42 library, #RJ5 /2 science
building.

[sf] 2] Hok, REHXLEERVGH plants {X#, L venus, earth, mars fH4f). &5,



R AR 7 20 BT R R B 4% , /R 75 22 0] 22 order of diistances between plants and sun ff i,
RIS BLBRFE, Wil order £EAFREHIT .

35.

[ T B I URSR Smg k2 affiliation: a sense of being member of certain group. 5t
SRR R CGRRRRBIRURSR) . 28RN IRFT 7K Suda A, &8 LI ANPIMTT

Cfeke 11 Mo, BONEER—

[ffke 2] (ISR, BEREAIST

(el 1) e —HES A, STAnisk, #ME MR —Fli i) Suda /K, XEIRE, MEXF R,

W EE = 2 3L A happy:

(25 25—\ boy FEIBME B, /T £L3F 4%, AR JT 3 Suda, (EARASSE 245 1 it i brand,
RIRE A2, I/ moving away, 5t /2 R AR TT 14511 Suda, sitiEiA AL,

36,
[ 4#R] stimulus reduction
(5261 1) ZIMBUNEIEN —ANNY STEVEN K61, —2#E5Ed A, B R EMEL TN
WAL, AR,
[z 2) JaskZ Mt ez 1 rearrange, Mt /17, ST,
37

[ 2FR)Y 22508 12w A EE H IFRERI A EL copy i 2 IRV b
[s2f5l 1) b 2 50mid A craft SRAE B mainland -5 E B2 0] LA Eh 3 /N 8 i

38.

[4FR]) O SCE . Drops off.

[ %% 1] To plan too specifically, so eventually cannot achieve.

[fre 2] %z 7 —/NE %17 She had plan before the semester, how much time to
read, how much time to exercise... However, she could not achieve it.

[ 5245 11 People always expect that the plan will be progress smoothly without interruption.

[sef) 2 #3237 —ASE /%1 A collogue asked her to research a paper, but the
professor didn't know the topic well. She expected that she should have done it within a few
hours, however, she had to ask for an extension.

39.

[ 4 %x] leader price
CARRE 1Y R AR FEANY, FT) ST R, I A2 S i
CAgRE 21 BIAK 1AM 22 x4

7t IR A - T LB ARIZ AN A R, AR R TR .
(52 1] B e Tk, 28

LAY, $7)7 8, WEBERIE, WESE 7 ARG, GAGEA A FrBURA RS 7 iR
R



40,

[ %#%] 9f jointverture  — DA FRF—ANAwlGIERINLE =A20n], ~FRlE,

CARRE 1] Z2ITHAS— tv AR AEZE build —MR35G post the news {H 2 AT A iy A A
TIEMss, Bk 7 — s N B &R NFEfE, to design and maintain the website.

[ %% 2] They will provide the news. The profit made by third company is adversitment in the
website, they T~ F)iH

41,

[ 4 #x 1Reactance. The more people are refrained, the more they are willing to restore freedom.

[ % 11 If the child wants to play in the ground, and the parent doen't allow that, he will be
more determined to play there.

[szf4] 1] The store stopped selling the soap which is harmful to the environment. The
consumers somehow considered that their freedom is limited, so they are more willing to buy
the soap.

42

[ 4 %% ] amimal communication.

[k 1] sh RIS 2 PhEHe 5 R A& 15 ARA 17 emotion

[t 1] 7688 BIR nosiy BITESL T, JCH 2 9805 BRI R LS FHEREM S, fof e
B, U, HIPEER BBk, 2 yell 55

[t 2] Wik E BB S, o HBLE S BGEREEGOL, (AR DERDUR, TMhR&IE
PARIYS

43,

[2ARY KT A LBEE b NEIFCIZ A PE 77 9% FER LT D BER I XA A A
[kz

[f#R: 11 Sedric landmark

[ #3521 telol from your dorm to student center. the first thing you see is the front door, then
the tree, then the status in front of library then the building.

[Sei) 1] X R

[ 541 2] Ekion to memorize planet in solar system. make Mercury as front door, Venus as tree

etc. LA ZRFEE vivid, FIFid

44,

(47K SR EAEG/HEEN
Cfere 11 it 2 F it
[sef 11 Bt <

45,

€22 779 WasXV/|FSPSEIN: priZiae
Cscl 11 Mikhait, ARIRE, WORMAR, Z—fdiy, A dr e e BE f AR
SN, TRAMAEBEH TRACHIRE S Sk, i, kG



46.

[ #%r] Readingempoloyers hire costumers to evaluate employees’ work Lecture
[ 5241 1] example restaurant manager 4~ wached her waitors
[ 5245 21 hireaman ask awaitrees” questions whether he is friendly

47

[ 4 Fx] zh#f passive locomotion

Cfgre L1od 8 il b T AR A7 1) 75 S SR BR W 3 7 25, DASRAS 56 2 i B WA SE o ) A 5
[k 2] (AA — B3 _ RSN RFE ), XA 8t AR FE2 physical efforts,
X Ffh iy passive locomotion

[t 1 gk st R KR AT R B . DRIk 2 — A large group, FT AR Rt A%
Wo T, efflaint—iRe, WGV, EaiER, S22l e 2R UE T,
ERRE] THIHT . RIS, TR T B B 2 R e LA

48,
[ 41 #x] Research image %28l 2 ki fr Ry, WLAUEAES 7 #kih R AL, ARethf 1O %

EL TR

CFre 11, S Bl e, TREd R4, e, Frbl S mnzssd,

CRE 2] JaokSAE 75 FRBUARATRORS 5 B0 5 (B SN E 7 i d5 & BRI RS
2% SO 2 SR ) B AR AR LR MBE B A 3K 1 BT USRS IR 1, RS IU LR A DUEZ 2 3K
ib]

49,

[ ##%] intersting boost, ZJiihy 1 W5l A B I NAZAE — N A S A
ARG N AR LS A E .

(2] 1] Hdzs 7 ZE T — A mEh B0 A IR 77, AR A v RN,
AN

[t 2] Jaokcboson s R NI/, 2 BUA 1R popular FJE 51, 2228 SRR R

50.
[ 4 %x]1 General {1 &5, human behavior /2 consists of a serial of simple behavior. & —FhJ7
%0 chaining,
(e 11 BT, Abgath 2 LB TaEa i 1Kk, 28T Mk, 3.
e, 448FUREl, 5.50K k. RIGMAILMETET 1.

o1,

[ 4 #x] ecology class, 4 insect Al plant HI5< & .
(R 2] 2t plant UKL 229 AL insect 1Z harmfulinsect;;
(25 2] 45 insect $RGEIZ ), HAHFIH, FAERR.

92,

[ #%r] The reading passage defines a term called “commensal feeding” , which refers to a
relationship between two species based on a feeding opportunity.

i

BN ES

ot

il



93,

[ 4 #%] natural consequence  BilisziF i) /N AR 35, R NTHEA T, HAE MRS FH 4
FRIETET

[ffRE 2] 2% 5 L) LA FIURBHE GG, T 28 20O LI

(26 2] — R R AT RJAE

Jabt, BERBARNER, WREE LW, BMATRSIA T, ) HERXFERIAREI A O/
i, LUe AT B S

Bt 1o

94,

[#%%] memory+—~ an JI kit /2 a JT ki Hinl, HEMNIZA n, m, i, GHFRZFHE,

[fgRe 11 IXANREIR A AATREICAE — AN F15 1 B A 9 AR AICAFAE MR AT 4 B 2B 11

(26 1] BURAMEMEBRMAT R TITELAE R TERSLIWE, HHS48el.
PR IR VX A AR S 2 R E B HER.

955,

[ 4 %K1 self-purification
LSt 1] /INBR S5 B AT W& T SR AT e 2 BH 28 T] T8 ) #2017 ] A1
[scfe) 2] /B BLHA 26 BeAE I T A 2 G FH T

56+

[2#k]1 WAER A

CfRE 1] S AR IR, B SRR M AERR . erfgeaib MREAE, BT
LA E Sl g5 7.

(56 11 B OEREAFEEAE, B DEWREE, WA LRE, e CrERE, 5%
R H CHIBEA R, A%, FrLlBodrTrg, BERS TR

SYAN

[ 44 %%] contrast effect,

[ffRE 1] MIEE — R %, AESEZEMAIS—DRUURRLE, mARHET
EARIGA S A

[ffRe 21 fEAVE N, AR E— MR AR LR

(o) 1] #Bowzs 7 B OB,  AOFRIRELRE 7, —H6aE TIRZ 25T small
and crap, R¥2AT . RIREH 7LV LUP bigger and seems nicer.  HiE K 1.
NFIRTH B AT (B SAbRE2, RIER KD, MEx B AREBOR T, 1 H
MR RKME G4 nice. il £ NZ LN O— R EREZH.

58+

[ 4 #x 1Definition:Latent demand means that potential customers needs can be identified by the
companies thus better meet the needs of the customers.
[ 52451 1] People used large stereos to listen to music at the beginning, later smaller stereos



appeared and people started bringing them to outdoors to listen to music.

[ 56 2) 4L/ 7] sensed this latent demand, and they figurd that isn't it great if people could
listen to music in public but privately instead of playing it out loud? So i {/1%i]i& /)N stereos with
ear buds, and it was a huge success and there was no competition back then.

59.

[ £ #%%]1 Environment impact assessment, “The purpose of the assessment is to ensure that
decision makers consider the environmental impacts when deciding whether or not to proceed
with a project.”

[ 52641 1] The company was going to build a shopping center on a large land. Before the
construction, they did a study and found the land was wetland. Their original plan was to fill solid
soil into this land.

[ 52451 2] But the environment impact assessment said that the wetland was very important for
the environment. ‘& 1] LR 1E#EK, BN AT LAOREF/K S0 they decided not to fill the land
and cancel this plan. Alternatively, they moved to another piece of land.

60-

[ 4 #%] business lecture

Trial XXX
[###% 11 many not buy things trough TV or internet since we do not see it

SRJE T DR, R

[s2fm] 1) BEZE S 7@ 528817 2 TV commertial, FSREHTEALA, HZ 55— Hit
IRE R, B NRHRCR, oA e f FRsa %.

(e 2) i 53— 3 R BIE A=, E2LARH—H. T —4NH, =RE
R, B FREAUASER: T, B Ml SE TR R,

61.

Cfrs 11 W2 ahE AR, (HR R UGB RS, it &) listening
(e 1) dpidErz 2 5, & WA AER L HRIESD, (ERIE KRR S FOVESE RS
IR, HEmIRERe), Ui, i E e n] Lo PERE ) 2 WAL 2 2 B

62

[ £ #%x] Some knowledge can be acquired consciously, while others unconsciously, also called
latent knowledge.

63+

[ 4 #%] emotional reasoning

O 1] N0 — A Gmias 2 M At 0155 A S0 S A ) Wy

[fpke 2] 22 FHRAMRGH) evidence HEAFAMFLE

(54 11 HAZHIAN psychology lab TARRS, [F%2 Al HARBL RS, HBikibfl, ftbd
NH O

(st 2] Sebr BAR— A8 A R REA A T3l G stk i@ | #ERm61Ea



illustrate emotional reasoning

64+

[ 2 FR]) sh¥i Rt 3= X . benefic other animals,  but reduce the chance of suivival.

(2] 1] —FpATEAE N 20 Pks B, B EZEHCNJE mountain lion JUHZRZ R, itk
RIA fake? ’HES KA

(=21 21 —FiE pitch 1 calling SRS [FIfAEEE Sk, (HZMA calling 251K lion, [t
H AR AT Regina s, Whalidt 17 B b E RN, (R4 R 1 AER, JUHZ family member
TE BT A s

65+

[ 4 7%] emotion display (1545 ik M)

€320 W N e = SUP N X |- A ]

(s 1 Bz 2 ) LR T g iAlyn, AR EI, (HRL D ieg, ki wow!
H cute

66+
CABRY ) o AR 2 P A DR, IR 2 P s, UG, %
T

[seB 11 — NG A m AR E R A s, &S VR — B 1 A G & N, it
RO T REAN B A1 2% 7 L B E IR, BT A A FsiAEsk e 1 AR AR o B Ui A hns
EIREE, BREAEAR XN,

67+
[2FRY MW B AT AT N, e 250, b E AL KB, i 2]
[z 1) FH4 catfish 25451,

R K R, HbTE RSER, 1222 MA) dead leaves  ZEAZHIAKRTY
[sctl 2] & Rugai, A1, B
e RN L NS E A S AN

68.

[ ZF%] 8¥[8 cooperation, ¥pFEI{EAICAH ¥
CSe] 1] S pemt, ask—HAs Rk, Hitths

— i iE N IEIK, Fgksk kT, KA there might be predators like lions on the dry open grass,
BT SR fE R
69.

[4FR] 2RI, =2 camouflages,

Cike 2] Uhlresty

LR ER ST T PNTIE S X K 7



70+

[ 4 #x] Eavesdropping, |7 & ik FH 208% 1t 1) 491>k #3148 monkey A1 hornbills 751X M 2
THIRR

Ok 1] iBRIERa, sh¥a ko — e Rl s & BB R, iRt kg, [
i 2> PRy e b

[ 1] AR, AR IIEN eagles, Afi4x KR & k2 Fpk, oAbz
run away, ANFEIFIF SRR AE K predators. [FI, hornbills 2% W 2 71X R &, AT
AZ BT eagles KT, TR W B 1X P75 5 fly away T .

71

[ 4 %<1 Adaptive reuse: archtects can reconstruct abandoned yet historical buildings and make
them adjust to some new purposes.

[ %% 11 The professor once worked in an artitecture company. He and his coleag once changed
an abandoned chocolate factory into a concert hall.

[ 52451 11 The chocolate factory had several features: 1st, its beautiful appearance can attract
audiences. 2nd, it had a super high ceiling, which can hence the sound of music.

[ 5261 2] 3rd, it was spacious, so it can hold a great stage and a large number of seats and
audiences. 4th, audiences can joy beautiful view of the whole city through its big windows while
they are listening to music.

712+

[ffRs 1] £ 26 A H30 N outcome is negative in the future. T DX B8 N — RS0 31 4% 77 ik
Gt i (PR &5

[ sfo) 1 Tt A At [ = 2 S e, SR G ML R B4 N #8751 suitcase Al carry on bag.
{H2 N UG, A1 suitcase E T, ASAE S IE 3 o Al (1) [ 5t /2 A0 200 AB R 45 RN
Fir LMt £ T extra clothes in his carry on bag 1fi H AR A H=Z % RHAE T carry on bag BT
DU ) [F] AN R G o

[ 2 HRAE A OB T A RIREE RN, B DUt A4 & 307,  REe ISR RIR
S5 HEETT B E B TR

73+

[ 4 7K1 generalization effect 7£) & b iz F<x ik i BN NigtZi®Zl. Wr e A T A
I AA AT

[ 1] 5 —BEN B Ll —MRUOCRHY 44 7, JF Hfea BRaRil 7 —ii. 25582, JL
KGR 2 U NFB B RE B H X AR 447 6

(el 2] MEMHANEL LI 75, REiHbfECES. 4i85%, JLRERZH
NHBILAF T ORI 447

74,
[ 4%%] Magnification, J&—FyHikr % T, BEENRE M, MG i L
AN

(5] 1] #aRi)LT— R G R, BN ZE 7 # St L RS A,
[seki 21 FoRFDILT, LT HMREARESGAL, hAICEHCE T /a0, Ao



SEGXT 1 ANE SRR REGE, LT RIEIET T T AE 6 REHLZ .
75+

[ %751 Teacher-learned center —Fh2% 2] 771k, H—NLGURZIMERHE 02 SIMPRIE [F) 222
ANk R B CHRA R (B SRR SRR

[f#®¢ 1] students play a more active role

(=2 11 FH B 2L Anna S35 ] 7t B L 5, speaker's daughter Anna wants to learn
guitar, with the intro-material given by teacher, Anna seldom concentrates on it and even have
day dreaming. the instructor knows it and change the way to teach.

[ 561 2] He wants her to bring some songs she like or popular, by learning those songs she is
interested

76+

[ %] Facial feedback, we believe that our emotion causes our facial expressoin. But it is not
true.

Itis our facial expression determines how we feel.
[s:f 1]

The professor gives an example of an experiment. He gives out the same math problem to two
groups of students.

Everything is the same except one.

[ =261 2] He asks students in Group A to smile in the expriment. and asks students in Group B
to present frown and other unhappy faces in the experiment. As a result, students in group A say
they enjoy the math, while students in Group B say the are tortured.

77~

[ 4 %x] Animals will send signals to other animals in more than on way.
[5:45] 1] The professor starts with an example of the deer wandering of into the distant while
grazing.

Suddently the deer sees a predator such as a lion. The deer would raise its tail to warn others of
danger.

[ 52451 21But some deer may not see this signal because they might be behind a tree. Therefore,
the deer that sees the lion will stomp the ground to alert other deer and allow all the deer to
escape.

78+

[4FR) T2 N2 5is 8 YOI, 2 /05% more common . Wr /175 5E
CscBl 11 A N7, ARREAS S W H R B i IR AW ] (AL, B ik
ARTER T EITIE R SR BT . SRS XN, SRR N SR E QIR —F. 45k
A, PIOAKED AN 2 O B CRE L, AR 7 GE .



79+

[AFRY FESCN A T ot A sh 2T,

CERE 11 R A3 MR B AR

[fR 2] 30 2 fh A 75 )

(el 11 %24 7 squid BB FORDIE] BRI /K BLEREER M, BB 32 /K T 08 fr

80.

[ 4% 1 behaviorprinciple

(525 118 CH9JLT tommy, #2037 7 5 AN B AN A, st 4G P 1t il /) Tommy
FLTH N AAT

[ szt 2 1A F— 2 253K ice-cream ZE S FRIE b FINIIACHT 1 AR IE, IR 2% At AN
KU T —A)iE, B K 5 tommy g H R RN A — I T

81.

[ 4Fr] —/ paradox, 47 &% conflict AELTA A, agree H COA REHIH .

(2 1] — 57, Z4E%3: downtown, R THRAZE L, BLFETHRANZEE L.
[sfg) 2 &5 Rm R, BN FRARIRALYR, T2 HE il i AR AR 25, RO AR 25 25
T IR, BE 2 Ul R D iR SO AR A SR

82,
(47K FEAS IR 2
[5e] 1] W Fes Z0t Feibs it size, PRI 87, S8 RORDUAA KA, B/
[5e 20 P8 )m R nap RIFLARKR T, /NEAREEEE 1.

83.

[2AR) Zdeth 7 — M2 restraint bias.

[l 1) Ao LIE B2, Rl ey, G tafeE iR k. JaRFREHLUR
KA VG AR, B DA ooe A SRR, A FEELR M, JF H A — e HK save money,

[t 2] S AN B SRR TR E R, BRI —K, i — M AR bR %
), Wit H OEEAS R, RERENAKS, GRERME TR, 166 T T
.

84.

[ 2R TR Y N SR BHEY B EIR H e e i 7= fh I E %R, 1B /2 professor )
27— AT
(=2 1) fbATI7ESE L coffee [ sample 45 B =2 AN

{ESRAE BTN T B ERRE T, MR RRE SRR . (H2W5E coffee N, RINELT %,
WRZIRTE BIH AN —FE, AKX coffee 1R#E
85.

[ £ #%x] biological mimicry is when scientists get inspired by observing the living habits of
animals and plants, and then apply them to human life.



[ 5241 11the professor is talking abount a broad and flat plant called lily pad which usually floats
above water while the root of it stays underwater, scientists invented solar lily pars based on this
plant,

[ 52451 2] and it's a kind of solar device with a broad and plat panel floating on the suerface of
water with the generator underwater. It can absorb energy from the sun the create electricity.

86+

[ % #%] Negative Externality FIMES W7k BEAN ML, (ER A BN IZ ISR AT B2
P 52 31 M) f 45

[5cf9] 1] /N R E A Frisse R M, s, A EREIR enjoy, (HZ2KRHAEAN
RURIK, TR K AR, AR, | HEIARINSRE, T WEEsEY, A
JERIREEA S 5 XA B HEALR P EMATR 22 E, AT

87+

[ 4 Fx] BRI BLAR2 A A control animal BHIEFT 3}
[k 2] 25 7 monkey 4] §: control animal B LE T, AbATTiE £ 4T

88+

[ 4 %x]1 Environment impact assessment

[#% 11 The purpose of the assessment is to ensure that decision makers consider the
evnironmental impacts when deciding whether or not to proceed with a project.

[ 5241 1] The professor gives an example of a construction company. The company was going to
build a shopping center on a large land. Before the construction, they did a study and found the
land was wetland. Their original plan was to fill solid soil into this land.

[ 52451 2] But the environment impact assessment said that the wetland was very important for
the environment. It could prevent flooding because it could old water. So they decided not to fill
the land and cancel this plan. Alternatively, they moved to another piece of land.

89.

[ 4 #x1producer servise, 4M. AMI— 5 TAELS HoAth 24 =] 4, X FE /) business 5 7] LA focus
H ORIk 85 AT LLE R A I RS ) O, B G B B ORI 7 A 25 A,

[t 1 —ANEdzvt, MBI ATFEE, —FFiRE 2 B O, f455 accountting #i4r, 5K
KINAE accounting A€ TR ZINH], %5 A, #AMLL accounting A+, XFEAR LGS
HETFHOERAEKNTET .

90,

[447R] Fiiad

Ofke 11 — M7l sh 17, FASR s, DO A Siiemssh, sKuRA A 218
(5] 10— SRB YA RN ESRHREEr, JLAAMIRUG AR 7 — 38, SRS
UML), EARIEZ . S EOHIH A FERR AT

91.

[ 2 #%%]1 Nomadic phase is when animals need to travel for a long time due to new crisises in life
like lack of food or upcoming disasters.



[ 5241 1] Ant colony live underground and hey live upon a massive nest system. The major
activity of ants is to find food and move it back to the nest.

[ 5245 2] But their nomadic phase will sart once ant babies are born, then the ant colony will
abandon the nest system because they need a big amount of food to support the new-born ants
and they won't stop untill they find a stable food resource.

92,

[ 4 #%&] place marketing

[ 1] — Ay S E S5 A F Kb 7 GG B HL 5| i

[ 525 11 XA beach K BLE O bicycle path 5ilff) beach #i5A HerE XA R JERHL

[sef] 2 e 7 —HET &5 A4 B OO sports activities FLUNVDHEHEER 47 25 LLZ0ADI0 T
SIERN JERG T E R

93.

[ 4 FR] FEPIBH 1

[rs 11 52 5, HE¥: release S

[ffks 2] AR 3] T2, release R

(s 1] —Fh bush GRACE AR BB, MEEMR), #IK T branch L5, HELIZE,
release 7 474

[sepl 2] A FmE Y tat ik B ST AR e 1

94.

[2AR ] Sz a3 AE T A58 &

Cire 11 ARYRZ R 2RI B BSRAH= &1F
[scfl 11 3 A4E BARAE DU U R S B AL, RIS B
[5et] 2] W25 v AR 2 R BE A fr gt

95.

[ 471 kteaching

[ 7R 11 52 body language, 1ik2%/4: physically involved in

(52 1 20 BFEBUN AU EER, TR E CEAN I R Hd e, &I
(s 2] 2ZIMoef3 it 1, e 7 AVORKTT, bk B e, — MR, — MR
B, SRJERINEILE AR U, X Ass T ik AR AR R G

96.

[ 4%x] prenatal learning (IEHD

[f#®¢ 1] begin learning before birth

St 1] 548 Murr SR 75 & [ b R AR . A0S, 220 Murr S0 aRHH, #R
—Ff

(2] 20 BE S 2 RAEZE LIS A0 Murr S0 it b 19 4% T Murr = —FE0 7 & . 110 = DU
YE M) 2 BRBE S FIRE R S & . TS SR — e, 348 Murr Za] DLFRAE A O
EE, Ve, By



97+

[ %K) research enviry

CARRE 1Y AT i H g 6 2 52 303N [ B2

(sl 1] BRI IEE) 5 athletes: 455540 athletes 5 K #RIZ energy bar, AN45%8 41
athletes 7 energy bar. 7T Fi41 athletes [ 38 B FE 5 x4 o

[zt 2 a5 —4H athletes HF i — A &5 41 athletes F1 (K — AR A, 41 athletes
At AIE S —41 athletes FERMZ 4N, 1 B FTERIX — 45 4517 energy bar, {H 2]
ARG IX 4 M, FFRERES J1I:5] . 455 asaresult, PiZH athletes [ B #BA5HL T run
faster. IX/NSEIGH A ANEIX S energy bar /& 755 3L

98.

[ 4 %x] evolution in action

[#% 11 animals and plants adapt to new changed environment quickly

[ =261 11 mint plants used to grow in grassy field and woods and grew tall and faster,

[ 52451 2] later some houses' owners plant mint plants in the yard. They cut them into short,
quickly, all mint plants become short and hardly being cut, instead, they grow side way become
flat.

99.

[ 4 %] internal competition

[f#F% 1] companies have some successful products /i#ETi3%; H'EA14 introduce new
products, T-7& consumers ANSEIH I SEIXAS A FHT T .

[/i#%¢ 2] internal competition =R [ 22 7] A #B newproducts 16 | established products
(1) profits,  fij B UAE & A 7] U 1 CLIHT IH = i (R 5a 5 o (HOX R INER), aT5] i
Bredn, BUORHET A Re A A R 5 5

[ 551 1] internal competition =WAFE [ 22 7] A #6 newproducts 46 § established products
(1] profits,  f&jBELR UL AZ A 7] Y6 I T IH P fh 2 [A]5E 4. (HUXRIEINER], 25 i3
Brredn, U A Be AU R A R 56 5

[t 20 Ja KM A m RN M1, T RAA RN 17 5e 4™ 17— more stylish
P4 TRMAE B EA LI T HXZWNH, BN T come up with HAth
Awl, HHABA R TS

100,

[ 4 %81 environment disturbance

R 1] B B 2R R R B s sh S HE YA K T30

(26 11 —HHE —F blue grass KA K2 RKEE THEHEERME 7,  HAEYIGIEE
A

(s 2] SRERUEACK T, PRl 2, XEFEN XA, DN fetng
XK T, AMULAE blue grass —Ff

101,

[ %#%%] demand shifting
[f#®: 11 reduce the peak-peak demanding



[ %% 2] increase the poor-peak demanding

[ 1M ) — MEBIZHL AT T — K&, IAMRIEAEM L 7-9 mZ 8], A7 5k,
IRAERNE. FrmgiaS s, HIR2 NAAESEMN &5 eIz .

(591 2] BRI A creat anew deal. X T 7 s B AR 1B 3t O 9 S 43t desert. T
TG JFOR L USRI BI N 1A B G el SRR, IR BARATE RIZ IR IXFERIE L
LA EE ek o

102,

[ 4 %] irrigation (EBERSE) KIS
[k 1] IKEAFEHIEH 2 X FEEdE 1 disease AEK. Bl LA/ Ny it
[ffeks 2] HLEeKER 72 B T 2 Ja LA T ERRAED 1

103,

[ 4#x] alarm cells

[fers 118h4rmr LUk tH—F signal 1h& B[R A iR B, (H72 A I iX 2 alarm is deceptive

[sefl 1] Bl 7 —AN5L5, W50 —F monkey who search food together and share with
each other. 4’ e 1iE 2] predator(— AR FE), EAISEAE AWML R ET
B, REEE IR

[z 2) (BRAE K, BHEEMZES] 8 monkey $£3] T Foods and #E#4% eat |, R
— FURny sk, HARTA B EAEE R GAER ST . i T — S TR, AR R
Ny ¥4~ Sit alone and eat all the food.(FJK)

104,

[ &2 #%x]1 egocentric thinking in children

[f#%¢ 1Xchildren think other people will see or understand the world in the same way like them

[ 5245 11 A child was lead in a room with a small house in it. The child was standing in front of
the house, which has a red door.

[ 245 21 The researcher went to the other side of the house. When he asked the child :" what
am | watching?", the child answered:" A red door. " which was exactly the thing that child was
watching.

105,

[ 4] OFEB AR

[ 1] B — NS S DA HE, s3CE BT A NS a # G & Lt
BUFIE R

[ 5245 1] 32 office equipment 1A 7], sales groups. il 1f22 41 sales HIR KIS %, 7
M : BE—HNREEE T, BeUUE LN A T 2 BA8 2 b A T AR %, X
AN NBEED

[zt 2] 55— 41H AN 52 LG L focus on personality, 1 H Xt A Eb s i i BN R 4R 56 75
XA AR qualified, 2B —AMREFHI4 A 57

106,

[ 4 %x]1 nformation bias
[f#% 1] people suffer disadvantages because they want to have as much as possible



information before making decisions.

[ 561 1] once he needed an assistant for his project. The first candidate was ideal; however, he
continued to interview for others for a week because he believed he needed more information.

[ =261 2] A week later, he called the first candidate to offer him the position, but the candidate
was already hired by another project. So the professor was basically biased by his desire to have
more information

107,

(€22779 Wzl k/PAEIESR

Cfre 11 S AEr I .. BiERE A a/Y), RS Emien

Ok 20 A — RS DU— A TS50 R

(5] 1] B8 —FE AR BUE, SIEEE L RE, (AR HIAILE. BNEE
WA RBNEE, (BRI T 1eh

[stl 20 sJaiil, FERIFER il LIAESE, (HREEGE] 1Ak

108.

[ £ #%x]1 demonstration of qualities B3 constraction of quality;

Agre 1) Bl B B 2 A ki

[fgrs 2] 1adfiss = s B R BcR s )&

[t 1Y EAEIN —Fhah¥ A B RAmAE Ai i 2 E 2B AR = ANME
[t 2] JEkE A REKH B AR LY R A S

109.

[ 4 %] diffusion effect

CAgre 1Y Mot i AN HRAH, (G0 SRt HRZE A 38 S B 28 1) T BRI AN S B8t R T

[ s5] 1)/ 482 research — > exercise I ANH] LAZEA# office worker 195 57 - #2—> building
SR, A ex IR — A S R AR I — 4.

(sl 21 S5 LEMIE & 1, SERRALAOA Nomt ot HRZL A N JERIMUB], - Bifi 173> ex i
AR, 25RO A Y N OIS ex 1o SEER RN
110,

[4FR] Bl £

Cre 11 WD FATIXRE RN, 2B r AR AN RIE A 2 B D K Ak, S AL
B ST kL 5 5 UK R 37

Ok 20 (B 2 NSACSRIED K IR I {5, XA B S GERF AT AR, Rif
(E3EERS

[52f) 1] “Frz 2

111,

[ 4R Rl se4eseng (fighting brands)

[ 1] RAFDR TP/ NA R BRI RISER ah,  HEH 4R S i a0 4

[5e5) 1] KRR A AP~ BaAabL, FRIREF, REHRE L NAF B WIRAE L 11584
FAENL, EEIRZ, KEWAFX RN deal.

[5e 2R AR AR T ORMAETT A, HEH 7 — A Z 2 B AR L, 0B fd B it & — %,



AFRAAT A4, KFHEZLAT A KRR, NAF B REFF™ T .
112,

[ 4 7K1 psychological risk.

[ 1 ik~ 5 sE—48 sporty style car, FTHI 52X RE MR PR, HE KA
AN BT O BRI Yy, fr AR SE

(2t 2] sbr BWR, XFELRIRIRAT . AR RIVX OGN, ERES TS, HER
HIX % environmentally friendly.

113,

[ 4 7K1 fast following
Ok 1] — DA, B FXAuM) H G, H K Aaa Bt follow, Rttt
e iUl SEEgiIE S

114.

Ok 11 s frdr i) — M B R ECRIE AR E S5 LRl

[eB 11 —Fh GBI ER? O 2, AIRZEREX, (B2 NIRRT R4k
R, G R EA SN, ENTBIR 2 Ak R RN L E, XA AR TTa it
FRAENR BRAF A R

115,

[ 4 %x] hidesight bias

CAfRE 1] AL NI P B0 4558, (HORAEAR A R R 5 B 201 AR st 70 2 1

[sef) 1] RAKS 7 A, noval, th—EARFH.CBA HRAEEE AR anyway, ftid 2
S T SRE IR A H R S b T 3R R St

(et 2] dbii: FRAEHURNIE A7 AR IS R . BRI IR 4

116,

[AfRe 1] MR REZE R /520, —Fbh subtractive, — 7% additive

[t 1Y B0 — Pl VR RETRET, S8 5 B 5 i 22 B AR AN R AN . AR 2 Ak, 7RIE
TEER, AR EESEIE .

(526 2) J5—Fgi 2R — Ssfk B, 18928, J8 7R nT LBk

117+

[ 4 7% 1 Echolocation

[f#F¢ 1] Echolocation, also called biosonar, is the biological sonar used by several kinds of
animals.

[ % 2] It was found out in the 1930s that bats use high pitched sounds like a natural sonar to
locate food and navigate.

[ 5241 1] When these sounds bounce off of objects bats are capable of listening to these echoes
and are able to judge distance, movement and size of all objects in their path.

[ =245 2] Echolocating animals emit calls out to the environment and listen to the echoes of
those calls that return the objects. Echolocations is used for navigation and for foraging ( or
hunting )in various environment.



118,

[2ARY F5 PR AR

(G20 WESIUN

[k 2] EEC

(5] 1] Zar vtk TAENDTR 6 TREL, Mot a . JaRmscEm 1

119,

[2FR)Y B2, BURHLE ;AT 58 —Fh 75 20

[###% 1] 1% M 72 coin and paper bonds

[idke 21 D5 BURFLE 7 RATIAEAL 238 —Fh 07 20

[sef 1) SRR AL 42, FRAT 45 driver 2%k,

[Se] 2)— AR KA AR A, A rT LAZS RIALAR R A ™, I SRR HLE R T, AR A e =
A k.

120,

[ 4 #¢] Business strategy "¢ 51% A

[ 525 11 Mustard & F 89615, LLATSE mustard #RAHBEFE T, A4 lid, RAEFTHF, F1FF
ZJRIRERA T, S BR Bk BRI, BERESoiT 7, BE 2otz b

[ 5241 2 JAppearance X%, cookie box for example, use metal box with nice figures and pictures

HEVESE, K T SEHIRATE L, KEHIF O
121,
Cfefe 10 HRL AR PR A AR T SEbR B AR Z

Csefl 11 74, BrReels. REEMAHKAIETTRIEEK, TRMEIT . XHETMEL
M1, SEbr bR AR %

122,
[4FR] O3 — W&
CERE 1Y 1RA X7 O AR, VRN 122 2 SR VR Ay B8 Al () F 9 OISR 1 25 X A5
i ()
C9ep] 1] —seit, —BEHLBRE /N2, S PR A AT IR T) AT 2 RSPk am ik i 75
Ao ZBIMAIES #s:, W udl, DN s s

1L N vk 3R

1.

[ R ) oA B 5e sl RHE) paper: SK1i—A magazine HI€146 N, AT %21 55F how to start
up business, the businessman called to cancel the interview because he has to attend a
last-minute conference and will not be able to be back (out of town 1) until next week



[ /7% 1] wait for that person to come until next week

L6 s 1) S48 %4 less time to write paper;

[ 5% 2] interview another person from the list given by the professor
[k s 2] area 2 A—FF, ZAXHAS magazine 1R /2% .

2~

[ 7@ ] he cannot ride his bicycle in cold weather anymore.

[ /5% 1] The man can share his roommate's car,

[k s 1] their class schedules are different

[ 774 2] He can buy a used car from one math student at a reasonable price
[k s 2] owning a car is actually expensive.

3.

O] 36 7 — 5k R ERERIZE, S2ib R Ry, RENMBI A —E %,
HRIEIL T, R AR BN A5

7% 11 FaE 2k, e BSeE Mo, 6 se 1A R 58 B T B 7

LR LIRATR AT AN AR b, A R BANFRA AU, B R Z5L, BLFEANGE social,

AT BR AR 1Y
[U5% 2] BUHRAN A2, ALRFEWR T, BORE] 8L
4.

L) LA T, (B2 #5411 hiking.
(7% 11 A2k

[77% 2] %

[ 2] BRAE A 18 E

N

[ 7] This year is his calculus prof.'s first teaching. He isn't used to his way of explaining... The
prof. teaches too fast, he gets confused.

[ 7% 1] he can switch to another calculus section,

[k s 1] has to take it in the evening when he wants to do homework or hang out with friends.

[ 7% 2] he can organize a study group to discuss what they learnt after class

[5s5 2] it'll cost extra time.

6+

[ d] 55224 Sam M STE AR, A5 1X EHIMIETE 2] T professor kAR (1E
HLECTBUMLRT D« {HJ2 professor Ik ¢ BLAA 2 5wk cancel 11X lecture

[ 772 1] reschedule,

(5 5 1) 2 AR R E FEAIL 2 % T

[i% 2] B MR

[Ek 2 /b7 Q&A IFTT, RNt 73k [l A ] R

IS
[ @] 55742595 airport (HASREZEREAMMI A AR AA LT -



[ 7% 1] 4 bus,

[kl 1) 264, Wi BAE 7.
[ 7% 2] $E5EMA,

(5 21 A7y taxi

8~

L @t] A AR & 2 Ja AN, DT & SR, MERRig EARmD
[J7% 11 5 bsers &%,

[k 1] NS5 RE R AE AT

(775 2] S22 0K 1T B[RRI 55— [R)3Z SRR (1 1 3

[k 2] EZE LA

9.

[ R Y 55 AR iR EaR 3 1, IETOE EEAE L Fax T iRe BUONIX 5 URI 2 AR W IR 24
RE, fanIRE] 7, a2 AR EUi R 32 1R embarrass.

[FE 1Y ALT, BIMATE—NERRETUE — AL iR

Ok 1Y IFRARZKIRA L, T IRIRAES R T A eI R T

[7% 2] BEEEAHAR

| §73=1) IBE: S

10,

(iR Y — A AR RR RS T H b EeR, ERD Bt MR EZE &
[77% 11 M EH i,

[k 1] XFAMRIT, FARRARS Rk

7% 2] KN Efh, fMhr)ERN & R EA, FEEEsrmE

Lokt 2] Aig E Cigs, o H A E SR 8 )

11,

Cir) @) A8FEB R B LYIRAT, (H2 BN B iy DA T i B A%
(7% 1] @Al A s B AR

[k 1] i 2 —A Part time job. EAE R K [A]IE
(7% 2] B trip

[k i 2] B 2224 Bl Papers.

12,

L] IR 7ACEE, AEIRSAER L. 35 REAL
[75% 1] [F5H

[k 1] BRAER ] 2 SN, RAT A

[75% 2] &

[k 20 (ER RS EXAK A

13,

L8 Y5 LS 1A SR B, B concert, {HJ2 75 EBTE summer 2 B ANFESETR, (E2 B R #
1T 1 auditorium, FrLl A A JH =X opening



(7% 1] =5,

(88 11 AR

(5% 21 FERA 55— S AT AT BL— i
[H s 2] e e AR /b

14.

[ TEDNUR T, BT &, B EARBETE A TaR 1
(% 1) FEEHS—4

(5 1) nf &R

[ 7722 2] 1 UNDERSTANDING [fjHY & i3t

15

[ 78] he works in the bookstore in college. His job is to carry heavy box which contains books.
However, last week he went to help his frd to move to the new apartment. He injuried himself.
Doctor said that he cant carry heavy things for a month.

[ 5% 11 his boss offered him a job to be a cashier in bookstore,

[ &k 5 11the schedule for cashier only opens in the morning. he has a physic group study at that
time. The physic group is important to him coz he improved grade OOXX

[ 7% 2] he went to find a dish washer job in cafeteria which fits his schedule.

[#k5 2] if he takes the job in cafeteria, he wont have the discount to buy books in bookstore,
which saved him a lot every semaster

16-

[l ] S E Ak BB L A B R TARR, B P8 ME A a My 1, A7 7. a5 RTAE
B 1

(7% 11 BIZ, AN ESRG R Ao BRI A AL

[ 1] ESRARA Z Ok [F] ZA AR A2 AR AE i

[U5% 2] BAEWILIE, BERARMB PG RBAE T T, Sk TR

(i 21 AL ZAF B ALRAE, w2 A — L8t A

17-

(i)Y 5525 2k emergency response team, i 2 K& I 25 DUA B [ K brdE, A I a5
literature reading,

(7% 1Y XA A E R SR

[k 1Y AT, WisRIXFE, AhBA P47 B 23 AN HUR

[ 7% 2] 5 director 1%, ZL3R P 810 A — 2= 8 56 el 2k

18-

L) AT TR, fER— Ak
(755 11 75— 2#R0A AR RO E

19,

iR oAU EE 1 old house, KEIR T, BKH, % 2weeks A1&4F. #HIT1E.
(% 1) BIAAEE, AHE,



Lok 1] E4EUN AN, 1R crowdy, midterm 5t 1, /5% AN KT
(5% 2) SR A AN BLE AT L R s
[k 2] BARMEE, {H2 budget b4k,

20+

i@ — Aoy, AR T CBRTEm, A—TFmc), hERALLFEE— play,
ERME TS KK T . BB, il RA N, WA RS K
FAFFE IR, SRMREE play XAFEE T ORI B WA A X RS, JER%K
A — KA KRB BRI

(5% 1) SFnT L B B0k G2k, X BIFE mAER),

[k 1] (R IXFE M4 AC sociality, ASKLF

[ 5% 2) WTLUAZLE play, fFaFH— EE >,

(55 2] (HRMhserE RERE Y, RERM.

21.

(i @] LA AR 1, BRI S X HE MU ) presentation, B4R 10 708, I
RS 1o BEGIRE T RN 1o B

[U7% 11 BAfs w4,

[ 11 FAEAZ T — N7, ZEAEE Lo bl e kA 2B 5.

[75% 2] BB EHEASER,

Lok 2] S Bpmithitk, FSANEIL A 4xi e

22+

LY AA mm BAR 0T — NG5 journalist 3 PE, (HZARRIBEL LT T, XA TAEM
NI T2 A, BTUANKIIE REAREHERT T PR £ .
[U5% 11] X ALk, Prbl EWr AN RA B, ATBLHIELLE newspaper ff)

53],
[ 21 W3 A R RS vidio 1R (01 e 7

23
CRE] ORIk AR, — 153k A ROFARTE drop J5T TV, 2y 2012 B 4t
CE P EEE
U 21 RAMRE, 4R B T iR

24,

[ RR) ZF 8 SR 2 H 2 45t 5 annnounce [ deadline

[ 7% 1] 2R performance FIRT ], IXFEA 2 B8 K1 7] FF X TE newspaper %
[k 1] 2RI

[ 5% 2) eSS AT ST poster B AL, 12 EEREF H

25+
L&) BAR NS 1 )aT, Fri 8 TR, BOREARLE s B4, R
PIANIESE,

(775 11 9ReEBfE4E, AR i



[R5 11 54k study meeting IR _EA ho
[ 5% 2) & cafeteria J#% 1
[k 2] &b

26+

[ ] group guitar class canceld due to too few students

[ 772 11 hire a prive teacher who would teach the course once a week
[ 5k5 1] too expensive

[ /5% 2] buy abook for beginner with a CD, it is cheaper

[#t& 2] sheis not sure if she could follow

27~

L) fE— MR A TR, FHER B E T E IR 16 708, FrALFET]. mik%
WRIBIRARAE Tt 8. BRI 5 IR s
(775 11 "I LA AT MR TE T 3R

[ 1) Vs O AN RARE T, SR BmE, HRERefrER
[ 772 21 Drop this class and find one at night.
28.

L) R Y& A A Il 2 i ML 2 252 ii— > Research team, {H24th X 2 2231 internship,
Research team 45\ K> T

[ 7% 1] %3k research team #51ih 2 4 (14K

Lkt 1] HIR 2 NARE S INiX 4 research team, 41 5 25 BRIX AN R (1435 7] AR 24X
MLEERNT

[77% 2] R HAh (] internship

29.

[ @] = k™ E 5 RIEEE, #78EE KX E%ON painting, &ZAXERRERE, 8L
LB

(7% 1) S Tt m 7

[k 1] getusedtoit

(7% 2] I 45 5 A

[k 2] be honest

30.

LAY 24t B CUER B AROE, ASRETT— /M, BUE R A B 242 1, 2L detour
AR, AR, TR ST T,

(77 % 1] fi i FeAth 5zam U5 2 b s K 42

(ke 1] S8R MAERE, FOYKEEE, HEMAMITE T, TUEKE EEAS
(775 2] et

(i 2] ZACERAL DS, AL A B A I Bk

31,
[l 222 7E R RADIO CLUB 4734, iR IE2=% 1, A eE2 8K CLUB AFFAIR



E
[i%1]1 B2

[k 1] 4 group meeting

(7% 2] W= KA it

[R5 2] b= A A& RADIO club member

32.

[iA & ] MM AR T B4t 2 i SRS 5 bk i T

(7% 1] S

(€= I (N vl

[ 7% 2) 68— DERERIRLFHI MM DR (GFE) SRALE: MM
[k 2] EkdhS Pud N S routine

33.

1A Y ASKIEBLAE AL I W R AL
[75% 11 MAEAL

O 1] wT DAL 1, JF Hadwr DURTIA A 12 e
(5% 2] WIRAE

(i 21 W DA S, 4B St

34.

[ 7] he is a teach assistant, his professor let him to teacher classes and give a lecture to the
students,this is a good opportunity.but there is just two days left, and also he has a paper to
prepare,there's no enough time

[ 7% 1] tell his professor to cancel the class

[77% 2] fH& R HEwfth B C i) paper

35.

[ 58] She moved into a new apartment yesterday, but there wasn't any Internet access there,
so she could do nothing.(research for study, email someone, etc.)

[ /5% 1] Pay for a Internet install service

[#k,5 11 The woman considers it cost a lot

[ /7% 2] Go to the computer center on campus

[ &k 5 2] the woman says she doesn't have courses everyday, so it isn't convenient, moreover,
the center sometimes is crowded.

36+

[l Y — AN BZES) B A AT internship, i S AE IS T 1755 T, (HREA XK B
(5% 1) s —FRA

[ 1) ATRE A EE

[ 5% 2) UEA IR REE %

[okss 20 MR, F35%E, internship 58 1R B IE Ak



37~

[in@ ] 5452 ks emergency response team, 75 2K &Il 2k LUIA B E Z bR, BA I RN
literature reading, AMLFRAC

(7% 1Y XA A AE R SR A

Ok 1] nSIXRE, A AL E 280 AN HUR.

[ 7% 2] 5 director %, L3R PS80 AE — 22856 Bl 25

38.

[ 2pA e eSO fE S, AREBIERA, 55, TEPRE A,
[J5% 1) a2 LR

[ 11 SRA

[75% 2) JFHERHL,

[ 2] BEiRIRAE.

39.

[a /)Y 5 A AR %6 00— MR AR poetry activity. 45 20 N ACK 2N attend iX &), A
FEIE BN 23 (B A% there are not enough spaces.

[77% 1) 1EXE ARSI S). 5 R VT allow only 10 people 2. %K) 10 ™A
the remained 10 people X next time &/

[k 5 1] Al 14> feel disappointed

[ 5% 2] #E35shHh &M the coffee shop 20 E) the lecture hall, iXFf£, ATE NERA ML S NG
o

40,

L] — AR,
(7% 11 B gL 551, B EETA SR,
Lk 1] {H AT (8
[75% 2] AP BUHER I — 51, ATRURD R %

41,

[l R) 54T T gym K racket A o] LARS 45 gym (HAR #5260 7]
(7% 1) fhnl DU K B3A W AR IR 4 4

[k 1) ABTF AR R 4 AN, T R R A 37 L 3E AR A
[7% 2] B

42

LR — AN RPU T ENBLIAR 19K Ja 25 G 9 1 Se g = 4T ED
(07 % 1] AEVEF 2B A S5 NMTEIFLA RS2 30
(U7 % 2] RRRESIL L SRIe = S s B i (i)

43,

L] B EMRE AR 1) TR RBAE . 35
[75% 1] KIH,



[k 1] HhiAL,
(775 21 M RSB,
L 21 A AU GF TR, ANMERAE

44,

Ll ] A A FIat R A AR 5 1

(755 11 AR ikE 7 —A> apartment, REEEBIRK, HRGEEEFE TR

(7% 2] WA 2B L, ORI HE 5.

[ 2] s K0 hiking 1, — A#EECR AR, Mt ARGTED =AML 5FHIL, el
BUEDE »

45,

i ] BAMI AL T Ah— kA R BB ST TR, XANEE A i Z XK1 band
FsE . (BB 42E /> history paper due BIR, FlFLAH — AN TR 58

(7% 1) BES, FIXFE paper,

[k 1] ZRKIE N

(7% 2] AEHEES, EELHIA

46.

[ i & 1 55 A 25—y Sam (YRR LIE—4L4, AR IRITE 2 5 o 4T HAETRIT party i,
67—/ bookcase FARXEMILEEARZ T . RGIXH NRIE2 G kBl%3E T 2 G0 E M0
parts missing IXANEHT A A T LU U R 2K 45 FA T4 (B T 5K U Sk — B[] 4 replace..

[ 1] H—A

[k i 1Y w5 BN 3 B, 55 2weeks A K# e, #A E house warming. /N E %1% Sam
Ko FERUIATERNALY) AL KR T IR A4 05

(7% 2] ERI—AHT

[k 2] (HR 5, @R ARATHE T .

a7

L) @Y B A% o b i A4 - % K Richard — /M E, Aibr—A4EH party IXANEE,
Wi N, —UIEERR R BE T, i HARMGR], {HRA AN, P Richard #:8 T myH
A 22 XA AR B S, AR FAEREE, RE X H R T,

[ 7% 1) BEAh e B party B9HHRILE M 8GE 25 SE A0

[k 1) 2% T IR I SRR s, B A H O,

[ 5% 2] #ER 3 F4LFE,

[5k5 2] AR NRIAE H e, B ATREAK.

48,
[ ]) AP EERYE, mMEAFXNEEAIER. LAEEA LT paper
[ 5% 1) JF 43R IF 22 E key
(5% 2) RFEZREBE, FOAARKEBIEAA
49,
[REY v, FREEIREED. FRI% schedule in next semester & Al @, IRAHMIEE



LR T . BAN, A LA, FRARAEME 1T economic course, F2 visiting
professor——XXX #f#). H22ER R T 5 & %> 4[] requirement courses.
[75% 1) 548, RATEL audit XI5, XFEARAHE L paper B 1R AT 41, A
FH4H.L> grade.

[ 1Y LA, XFERBMFEAZBREZRAT .

(7% 2) 54ui, AARATLATE summer semester £iX[ 1.

[k 2] LA, (HZIRAE summer — AR TAE.

50,

[ a5 ) &4 —4N5 movie review FIZ Ak Jack C(WrANKHE, &%) HERIK L, XPIAREE %
T,

[7% 1] HHANE—RW, WEFEFRL.

Lkt 1Y 1M AAS AR, £ unsatisfied. Jack HIERCEHEEL T, KFHHK T
[7%2) #—FEftm I E=N E2, 55T movie i, DVD M, music .. [H3 % HHELT,
IELF 5 Bh AR LL AR FT AR AR P 3 24 B O X, A E AR .

[k 21 A28 movie review | HF

YN

[ Y 55 A4 AR o 1 ok iR X SC# R, (R AT WS BRI ] 4 5¢ a confliction between
theclass and the basketball.

(7% 1) #— T IARERER, XM FTER T,

(5% 2) 8RS ok il iR,

[k S 2] (ERFTER R & /0 2230,

92,

L @] LR mess 1, (B2 E IR A
[77% 11 B

[U7% 2] HEHE—DHIAL

[k s 2] 5045 SO A T EAER 2 1R

93,
LT 08 53 A 1 e R At Lo BEVRAG /N R AL R /N 2L STAB R 5 o 31— 2 57 5 LR

(7% 11 KBTS B

[t 11 53,5 CRTEIN (I e e TIRZ 4T

(775 21 37 Haies RS A TR /R, B PR [B1 5K s fa] S 2R Y
L 21 AR R S S B 2 SN R 1 18

54,

L) 42 1% 2 hiking trip, {H2 24K 4 CE %R

(7% 1) EREA A, el DAE hiking BRI, $i)z 28 w) # i 5e il AR
[ 11 s ELRg st

(5% 2] W BBk E

[ 21 BRI AT, HEERZRXRA



955,

L] A AR s, o

[7% 1) 45T

(5 1] NEAR, HE2XE=RER B, 1M#EEE XA B R % reading assignment
(7% 2] 84 L4 FXRANRKT USRS SE B I

(k5 2 IHFES K%, b 543 0] BEA I

56.

ClE ] ZEAER) newspaper | S0, H 2R Ab B H L6 i 5t
(5% 11 AZIR T B

[ 1] B m s 5] 7

(5% 2] i —RIITA], BT 4 A

o7

il BARERSALE, WA Lt

[77% 11 #A4 LB Z 2 professional tutor

[k 1] 4K professional tutor 5, 4254 56 2 (1) T4 BE4 4 5 2 44 ok

[ 5% 2] &% K roommate (G —HEb224E) i s

[ok S 2] EOMRE R, EMERIEFE (RS A basketball team 17 H. % &K Z&—4
double major C[AIf FAEANEALIEED) . ERHRELTTEHOW TIERLCERIRR T .

58+

[ 78] a student band supposes to play music, however the leader of the band is sick, so the
band was canceled

[ 7% 1] play cds

[#k5 11 but recorded music is not as exciting as live music

[ /5% 2] postpone the party to 1 week before the final exam

[k 2] some students will go home and miss the party.

99,

Cinl @Y 55 A i fh AR 3R [ S0 2, (R KK, IXEAE, EagisA b, EagUfERE
ik b, WEA T B 25 (discussion)

(772 11 THaikA iR

(7% 2) DAEAE T, N ARG A F ik

60-

LY — A BAF X — AR T UL A M e A B e — e TR Z5IE 2 kUl S 4 3
FIME AW N % 7E 5258 % shelve books T+ LN /N4 732

(5% 1) dbm DS R F b Fk 2 RS E T 1

[R5 1] 26 S, S bAR KR T

[ % 2) FRHEHAD AN B Wbt TAEML 7, R B SR A )kt PR g s i 4 T %



61.

CiF) @) AR BINR 1, AL B IR E R & > soff
[ 5% 1] rent /.

[k 1Y K58 T AMA

[ 5% 2] F1 roommate 3t/

[k 2] 752 arrange the schedule

62+

(i) 5 HA—> JAZZ CONCERT (M52, {HZUFARINE, FONIE—RME LA 4> PLAY,
Uf A S

[ 7% 1] B A2 JF CONCERT #RJ5 2% PLAY

[ 1] XA FLTF 5

(7% 2] FE_RiESH 1% PLAY.

L5521 28 RAA PLAY BRAR/N T, BEEFREOEE T

63

Cir) @Y 22 i el R AR AN B3+
[77% 11 FA> part time

[k 1) ffe— A 2 Rk
[ 5% 2] #4> roommate

[Ek S 2] i+ K/

64+

[ 7] A boy needs to read a novel in order to write a paper. However, the library on campus is
closed.

[77% 11 To go to another library

[k 5 1 BBut it's too far away. It will cost a lot of time, and the student will miss some interesting
courses.

[ /5% 2] To read another book.

[k s 2] However, the student doesn't like the book.

65-

Ll ] i 5K 1 OANRE(E AL 1 R R 5T 1)
[77% 1] Agyys—kefE, Sedm H AL Re 2
[R5 1) AR A

(7% 21 2R B TRT Tk

[ 2] NEA2E SR E, ThifAR k.

66+

L)@ ] —/~ %A show i, 63 )ifi%5fth extra week to finish his research paper, he do not
know what to do.

[ 7% 1] solution is to live with parents ,which is two hour away from the campus and hard to
get the school resource



[k 1) AT ToRERA 1 EEBRE A 035,  distracting her
[ /5% 2] live near the campus,
[k 2) FEALF ot

67+

LI @) LA MR s gk 2 2 nm e ANFEAR RN RS 1 R, Bde, mfERRSER, B
PARHASN BRI . LU WRss 7l 2 igasa), X HAR SR A AR

[75% 1] ZIREMRS R

[ 11 IRAE S JCEAR I AR B A O 2 E 5

(5% 2) Hgnm—x,

[k 2] ARl 0, ARi2m 5k

68.

[REY MM it & F %2 campaign #37F 0, 7] KA tent
(7% 1) Wil A Z A i —A
[k 1] WS RIA T, mH AL, H—TWEA

69.

[ RRY oA B 5e il studentfilm project, AR EFf)G— Mk, FREANAEHTE,
HRESRKEMK.

(5% 1) SRIA, SURTE= NI

(7% 2) WRFH, FOVHRRSIRE

[k 2) A LB VBRI AR S, w7, 1 H G RELERS, AEZ FEATEREM
N

70+

[l ] — AR R RE A THE (HRAR I RME T2k
(775 11 m55h— AR th KA E T

[k 1] BT HiEEsE

7% 2] AW E TR B REE R

[ 21 AReSitie

71.

LI B2 1 PR R R, e HRHE, B (a2 )

[U5% 1] B4t

[kt 11 Al xR, T H SRR B X A4 X AT

[U5% 2] Bk

[k 2] AR ABIR, XEWIR 1, TAeE b R L TR AT, N
BEW EARAH L.

72+

L&) AR E IR, BRIPREE RS DU (X A —R)IR S 1225 58 BF Wi Wt ik
N R VNIFAET: B Rt
[75% 1] B2 ARTE IR 2R IRE VS,



(75 % 2] FEPE BRI 2 1) 455K s I A 50
[k 2] ATBEASHOAFIRE, WA,

73+

[ /8] 545 travel to montreal H %A 5%
(7% 1] fE&EZ 4T 1 10 /M)

[k 11 R busy week
(7% 2] s

[k 2] Lot A 7

74,

iR Y ZAERRER, Ber s v, ks, SoRER.
[77% 1] HERE
[77% 2] TFERFES

75+

O @) AR ES, BEERRE R T, R s, BoREAL.
[07% 11 B KA
(7% 2] FFHERIFES

76+

[HE] BAZEETEREAR paper, HALTEE museum A HEFEMK, 1 museum B Kk
BRIT, Hagdmds, nRxANBAaLSm A IRE R,

[ 5% 1) [ 5t paper HIZE%iERIEEAL

[k 1) XPEEaR &4 S0;

[7% 2] M4 FIRZIMER, 28525 museum, HRIJA AT LAEER £

[k 2 BAMAEEE, FEREEIH <Ak

77~

L] B amRmit, BEmR.
[77% 1) %K)

[k 011 % AHIK big, looks sluggish
[77% 2), F3E—ME

[k 2] K5t 1, Mo ANE A7

78+

L8] 22 Ui i (1) roommate B 137 R 195 4R 52 o) s B . o
[77% 11 L B
(755 21 LKW ITARME

79+
ClE ] 220K, B — MR UELT 1 2RO E AR R 2ok — 3R, (HRA AN
FRATTRER

(5% 11 iE A2 Y



[ 1] FREHX A
CED T TLEn
[t 2 TR % [ B0 5 e e 1], IS0 R Bl 0 A

80.

[ 75%] man ) roommate ZE#3] in campus, FrLMhE R — s K.
(7% 1) s KK, AR

[k 1] 4L messy

[7% 2] S BIh advertisement

81.

ClE ] 8% TARmHErE G R 1 BRUNE AN, il 2 REVERMIT A3t
(7% 11 25 BrumeEiE+T T

[k 1] Kz

7% 21 WA

82+

(i) A —RE LS RIKE T
[ 7% 11 F1A%5 boss 41 HiE

(E79=0 NEIE &N

[75% 2) E¥ER EPOAS /N

(ki 2] vl DARE EARE

83+

L&) — B AR notes I8%, Tina, R A ZE AW TE 29 45 1 Hh 7755 Tina. ¥ B, 1X A B3 1)
FTHLAE Tina XA

(7% 1) %k dorm

[k 1) XAl part time job HEIRFI T ;

[ 5% 2) ATLLE campus mail 2R 545 Tina THLE =,

(5 2] 1A Tina A RRIREIZEILRA KT .

84.

(@] B /R B e iR AR yb LR B, AR A i 7 — A, (R BRI A0
T, &E

[75% 1) SA RIS OL, R T+

(8 11 FRABAETHE —MES, MhEEME, MR RATALR

(7% 21 B 12 AT

85.

Cinl @Y 55 A4 75 BEAE SRS Py L B S8 15 ARelRl K. (B[R] 2 3R BA
gym Bk, At gym & RATF]

[ 7% 1] 2 town B gym, £ one-month-membership W% 7] Ll cover B FEE. H
THAG At 75 2L T 2841

(85 1) 75 — P H KRS T

4IRS

pain



(5% 21 £ 4hd
[ 2] 2R

86+

[ 1781 The man was supposed to go to the seaside with friends, but Mary asked him to go help
her to move on a short notice because she has to move out by tomorrow.

[ 7% 1] Find someone to replace hime

[k s 1] 1t might not work at this last minute

[ /5% 2] Cancel his appointment with his friends

[k s 2] He has been planning to go for long, and later the weather will turn cold, and they
can't go to the beach any more.

87+

[ The girl dropped her cellphone at her parent” s house, but she needs it to make calls
and send text messages on campus.

[ 7% 1] Drive back to pick it up

[Hk5 11 It would take 3 hours. And she will have a chemistry exam this week. She wants to
prepare for it rather than spend time on the road.

[ 5% 2] Ask her parents to mail it to her.

[k s 2] She could use someone’s phone first while waiting for hers.Con: But they cannot mail
it until tomorrow, it would also take time for her to pick it up from the campus drop box.

88+

[17@] The man has to choose a farther route with more traffic jame because his old route is
being reconstructed, and he has been late for the history classes for serveral times.

[ 772 11 Wake up earlier than usual, He can arrive at school on time;

[ %k 25 1 1Sometimes he has to work until late at night, and he won't be able to wake up early the
next morning

[ /7% 2] He can take this class the next semester

[k s 2] 1t won't be a problem because it's only been 2 weeks since they started this semester.

89.

(iR &R Y 2o B £ 1) RADIO CLUB 244H34T, RIS MI[RI22% 1, ANREZ: R CLUB AFFAIR
T, BEARE, wdhH Db —A> study group.

[h%1] HE %

[k 11 4 group meeting

(7% 2) & KB HA

[okS 2] b KB R b, (H724h s K A2 RADIO club member

90.

L) b URAE R B\, BTRABCA I )2 dining hall iz 548, (H2 40 meal plan B9
& 7R, ARZIRR .

(755 1] Kia e BT LB g

[ 11 HR R k.



(V5% 2] fEivAseg -, 2 F—A> professor [fif
[k a5 2] dhhfe 48191 & hang out.

91.

LY 2R 2 — {22 pet bird 3350
(5% 11 B

[HS 1 WA, (RS b rITE iz

(V5% 2) B L 1% TRy

[5 2] 5

92.

CFRY F: ARAROE G M: X, AR HRIR T, RN T 3IKT, HLERZE T
(7% 1) & T

Cokei 1] RS, BUEAWR, EARHITTHE, i, % AKMETTH

7% 21 B TR INAAREHE, ARITARER O RG25

[k 2] Al AT AT REFE B B BT SRS .

93.
CiE] & — A —RNERE, A 74T, HER TR S 1
(7% 1) #—i

[5k5 1) IARANT, W AARAE R
[ 7% 2] B — band —ji2 & iH
[kt 2 R AR M, ke &£,

94.

LHREY LB Aer B, B, A
CEP ELTiG

[ 1] MACRICHARI T, (ERIBRHE, WaHOEH T .
[ 21 Fi%

[k 2] A7

95.

[ ) A BT apartment, B2 R HCSAHE T, MR LA, hHF
X/ apartment —4F
[ 7% 1] 5 A store ik
[k 1] store A5 %% H
[ 5% 2] Selling
[k 2] AR R i E A
96.
LY 55 A A EAE E et = K a5 8 1
[7% 1] X BN EAZRER, M=K EIR,
(5 1] S ITA—H
(7% 2] w)s B2 LA



Lt 2 B —HE—REl T o T H 3
97.

[ RRY — 5@ RN, B ESINIEE <, BRI TAEH R ik B2, H 2 XAl
T AR RS BIFT T[]

[ 7% 1) BRHAR co-worker i FATR], Z:iHEiE4s

[R5 1) EMOEIRE T, A M EERIIE R TTAE, Ay s B T

(7% 2] TAEZ AT EZHE 2, AEARIMEHOE 22T A28, BmHEa] DU L

R
[ 2] XA TRAR, ERUMRE A FEME T a4 REAIR?
98.

LY 55 A ZAE MBI 25, 0 HAE A — % history paper 25, {H2 22118 & 8]
BT, AT

7% 11 BRI RS AE L, T RAE A

[ 1] 2 7 A9 EE R ) 5 N LR BRI F 183 T

[U5% 2] AN EREN e E ], REEAN, S RAEEE ], BRI

99.

L) BARAREZ S EAERE R LA KD A5, AN (A 5%
(7% 1) AEBIRE LA, BICEILHERTR

[ 11 BRI ARIRA

(5% 2) - REX

[ 2] e 1

100,

[ 17181] the student” s landlord is going to sell the house and there's a buyer who's eager to buy
it, he has only a bit over one week to move.

[ 774 1] afriend of his is looking for a roommate near his university

[ 5% 55 11 he can't concentrate on his study.

[ 772 2] he can live with his parents

[ 55 2] too far away

101.

LAY — ) LS B AR T, MR =R, e N R B AR IR
[77% 1] Wx%E

[ 1] R Bk

[77% 2] fERPRIT R A

(i 21 AERERR, T H AT R TG B S

102,

[ o) /5 )4 4= took 6 classes this semester and she was selected to the women's basketball team.
SERTIEER I ZR 5 T oK 22 12 ST

[ 772 1] to quit the basketball team, since it takes too much time.



[R5 1] fib got in the team after several times of application, Ji(F# 1 1R shamefu
[ 7% 2] to drop some classes which are not so important. Jx IE A& required classes
[ 6k 5 2] good scores in extra classes may make her competitive to attend a graduate school.

103,

[ ] oA AR T A 25 downtown BT, 175241 BISR A B got a $50 parking ticket. it 3f:
ANKEEAR AR %, RUONIH B FMEAT sign.

[ /5% 1] challenge the parking ticket.

[k s 1] it takes her a lot of time driving to downtown and she's busy with assignments.

[75% 2] pay the ticket, Zifbhje Bt A A ACRT LLAE At A
104.

L)) — AL BRI — MR L K237 1 creative writing [ER, {HRHFRER KKE S
short story, ZRJEMh H a4 . XAZEMCRAE short story, (HEEKSRE, KFESME
P

[772 11 %& k&5 short story

(7% 2] S5#LABAR

105,

Cre ] B R Ak 5w, A TAER — MR EZ MBI IRIZ R T .

[77% 11 ATRATAE T, SHARN KRS

(775 21 X TEREIZ B A 42

[k 21 AT KL BB L 0RkAT, REHIRMISr o i At — B Fe2 B iR, S
THHRAT VR

106.

L) ] 2z A B 7 i R) i S il e it eSS AR ANt — ez o R —A play, BEvfheE
WEBEIT—FET, FrAEAER Rl ER i WL . (E2 G B KA A5

[77% 1] FAthk [a] A,

[k 1] (FRIXFE RIS SRR K ) AR, AR5 A23%. (will not see her father for a
while and will miss him)

[ 5% 2) Rz, A2 theater, XAER] LUA A HER A R EI%R,

[k 25 M5 557K 1, 218 & (has some time to prepare for the exam but have to stay up late
and willfeel tired tomorrow).

107,

L) A2 g v B AE S S, HESAE 1, 4R 1Kk 2K _E i) school play
ticket

[07% 11 IR —KREREH B LR

Lk 1] {H 2 dh it 75 i () AGEE 1

[75% 21 BUH SIS

[k s 2] she has made the plan with her friends, the ticket is not expensive



108,

[ 1718 1 The woman is planning to move out of campus and she has found an apartment to share
with herorginal roommate. but the apartment is too expensive and she can't afford it.

[ 7% 1] Ask he roommate to find someone new to share the apartment with her.

[ &k 5 1] Difficult to find a new partner for the roommate within such a limited period of time.

[ 7% 2] Get a part-time job in a restaurant.

[k 5 2] Time-consuming, she may not have enough time to study or socialize with her friends.

109,

[1)@] the man wants to drop Public Speaking class due to the large number of people in class.

[ 5% 1] Switch to evening classes.Only half the number of people compared to the morning
class.

[k 5 1] Evenings are for relaxing. He uses the evening to do homework and watch movies.

[ 75 %€ 2] Take Public Speaking class during the summerThere's no need to worry about it right
now.

[ 5k & 21 He's already takling two other classes in the summer and summer classes are usually
short and intendse, so he would be really busy if he took three classes.

110,

(i) A id R e L, (R IR DR M. WhmT BL:
(7% 1] %A %10 B2 B TR i RESEARCH;

(7% 2] b= K21

[k 2] = A3 5 BUILDING T, AREZ T4

111.

[1A&@] A man is facing a conflict. His professor recommended a topic for his art history
paper. But the only material, a book in the library was lent to another student. He was talking
with a female friend about it. His friend gave him too solutions.

[ /5% 1] You can just buy the book

[k 15 1Jit costs money and he | not need it anymore after the paper. So it may not be worthy to
buy it.

[ 7% 2] You can just go and talk to the other student. And maybe you can work the paper
together and share the same book.

[ &k 5 2] | have already went to the student and that student won’ t finish the book till next
(maybe) Tuesday. And by then, | won’ t have enough time for my paper which will seriously affect
the quality of my paper.

112,

Ll ] 222 B ERAE dh B BRI 520 1, OINETT 4, Tas A A e 3015, 2D
BAHRNY

[75% 1] f#HR 4

[R5 1] K5t

[U5% 2) AT AcHE I 5



[ 2] BB BRI, AU, dibAACH R, (AL R B2 H L AR

113,

[ ) oA BAEAHR K 3% — % paper, {H % 575 too long to publish.

[ 7% 1] M2k cut off the paper / make it shorter it GE7E] HH AR

[okS 1) AR MR EZ, AEE cut, Z5RARLR A2 Summarize 1
[ 5% 2] 32 Hkk summer issue | & % publish.

[Eh S 2] LWAAKEE, FNBBRRKEBUR T, BRANERE.

114,

Cir) @Y 55 A BRI AR 71 5 R RIR MR 25 B 3E, AfA D2 5 . B
R T o (R BRESWAET A, REMRMC, BAEZ/ D00 REKWE, Frblii 1 If he
drives his friend to workplace, he will not attend the meeting on time. X #¥ [ ELE AR 6D

(7% 1) FTHOEEAITR, BOHIEMITA .

[77%2) AL TAE

[k si 2] JFPTREIE 3 boss 2 4E .

115,

[ @) ZoAail 7 — AN AR EE, A cancel 1
[7% 1] —DARIRFBIN
[ 5% 2] 7 video

116,

[ @) — A TIRE, IR SIS A e o NN L & 2 R R T
7% 11 SORA O H ML

Lok i 1] A AL AN E R E R

(775 21 ARU RO A s o /NI R 253308

[ 2] HREZRKHNR)G — K, METAURIMSE BIZE.

117,

CWREY N SARER] T AN, AR BN 5 S R 2FE T WL B M,
AR YR 2 MBI tradition 1 technology. M2 A TERBAHIBA 52, Ao
BRETART, (B UEERRAEM 3T, b

CEDPE e

(7% 2] SR H SRR

[k 2] 2k Hoh s 5 ok

118,

Cir @) ZAREICA R TiEAL, BinaHRHE R E > .
[ 5% 1] rent Hiix

[k 1) W3 Kot 7, AME.

[ 7% 2] #1 roommate JL=

[k 2] 752 arrange the shcedule.



119,

(QUITEI0 B e ad Sy N iV X /R R (S N NI A S SR
7% 11 e 3 a2 T8 N SRR e /A T
(755 2] S unt(al

120,

[ A7) women il T coming presentation #4: 1 handout, 55 EstE Fiftyf, Mk
I handout & 7EAFAL, AL off campus FT LA I [AJ AL AFZ 4201 5% (Problem)

[77% 1] Man F&/rfibAA 4, women AJ DLFF4E [a] %

[k 1] W R IREMSE e it 2 W AE, M R m DL Lk i el 2=

[ 5% 2] A% handout B #if

[5k5 2] & 17, T U AnT DU NS 5 PR it

121,

L] S ACERGE, HEM tv, AP
(U575 1] KAH

[k 1] Kot

[U5% 2] Wi ENE

[ 21 BEsi R/

122,

[ 17181 The girl dropped her cellphone at her parent's hourse, but she needs it to make calls and
send text messages on campus.

[ 7% 1] Drive back to pick iu up.

[6k 5 1] It would take 3 hour. And she will have a chemistry exam this week. She wants to
prepare for it rather than spend time on the road.

[ 5% 2] Ask her parents to mail it to her. She could use someone's phone first while waiting for
hers.

[ 5k 15 2 JBut they cannot mail it until tomorrow, it would also take time for her to pick it up form
the campus drop box.

123,

LA /8] Mary A< K% Jack 2 H5 i 476 . 15 Jack &5 1, £ 7 AIAH A& 2 Art Exposition. 228
KU T

[ 5% 1] WAk Mary 731,

(55 11 Mary R g AL A

[ 5% 2] # Mary

ok i 2] Jack st 2440 525245 HiAth A

124,
Y LSRR A AL, TR 2R i, 6 bt i
(5% 1] BRI R, R IEBBA
Ll 10 60 el B e A4



[77% 2] #1452
[ 21 BN H 57t 1

125,

[7&] The woman has a hourse warming party tomorrow night and she needs to clean her
place, but she's promised a friend to go to the art museum together tomorrow, so she has a time
conflict between going to the art museum and cleaning her apartment.

[ 7% 1] Clean her apartment tonight.She gets to go to the suseum tomorrow.

[k s 1] She will be exhausted tomorrow morning and she won't have enough energy for the
museum or the party -

[ 5% 2] Skip the museum tomorrow

[k s 2] Her friend might get mad at her and the art exhibition comes once in a lifetime and
they've been wanting to go for a long time .

126,

[ Y 2359 4NN summer job, ANEITEILAE A B EA TP
[7% 11 ANk

Q7300 RSP £ E T E(F e

(7% 2] SCATPREAET) rent

[k 2] W SXFE, WA 7 s 1.

127,

[ @] B & FRFTEBR hurt his feet 75 292 hospital clinic,
[ 5% 11 4 KA review session A5 R, 45 PR 2%

[k 1] IR

(772 2) WIRf%, fE0ra FE R,

[k ai 2] S S fEA LT

F U BHRE:

1.

(bt ] 55 fm i s 2,
(R 1] FEEER S m R, ek
(it s 2] iERHIERE NS, AIEREY

2~
[ A.0:] business class it lateral view CITEIRE A 2 N —NHT I SR 1] EL
(5t 1)— AN I I N2 T8 B H A8 Ui 55 rEURE I (AR AR JE 8 B 4R T Mk A7~
T8, R T e ) R R A A T A8 Ath BT 03 T 5 A 2 DL 0 T AT FEURE AT 285 A LA, B A A
(EynilNg



KN

[rhon ] SRR T AFIEKE . SFEEER, ARHSMEEMHE, Rtk T —F. B4
Ja, SRRIRERE T ERRGEE . —BORUFA IR INE T DUEEE A R K.

(s 1] RAETE. BAAF AR, e RILEs, X o3 THEAT Hl 5
[sc 11 BL Wilson 98l —JF46, ARIARZMREIIPE, TIERRRC. JFRA AR T
WP, TARRCE Tk 7o X0, Wl TARZHMBUE S 5L, ROV RFARRESS
WK, AR BRI B 5 YOX AR PRl B 45 e MK K SE . IR AR TR B
MR, ~FERE 7K.

(i85 2] AN INER RS B AR Al o T SEARA ML R, B 2213 3 Ak
P IR A E] HENE G (1 O

[543 2 Wilson F:08 1 B BIR 2 KO8T, [ 2] i . & —R AL E A
WA T HFMAL T Fit, AL T7iE, Wilson 153 11R 2 JF K 7 %
AR NIE 10 4SS

4,

[ .02 farmer 1%&#% desirable feature iR R EYD
[s2f5 11 wheat, JERIRZ AARIRHEEEIFERL L, farmer S50 Le A3 A 4% 22 Fh
[ 524 2] peach JFRESZIR /N, farmer 245 5 SR A 4k S pAE .

SN

(e Y Y2 KW A ATz A A& IR RIS ARNIZAT 4 B 75

(e 11 MOEARZIR AR 450 7 e S i B L Tt ik A AEnE — s

(e 21 R AL

[5et] 2] Bl 7 RK RiEEIZ M0 i i AT A My XA A

popular

6+

[ 0] 55F speed K adaptation.

[t 1] .tough foot.

[ 5241 11 53910 foot tough 4R )5 7] LLTE rough AL i, Fskib A4 BEREE Lt R4
Jii, EIRBAPR.

[t 2] long and powerful leg

(e 2] 302550, JaRBILARIL.

I

[0 ] 256% Scarcity:

(i85 1) W SRR PR AR AT Z D 7, ALK T, AT mk.
[t 1] e E ek wis

[i8 A 2] ARANEIZ 0 R AEX A RAT Tk, Al T 29k Sk

8-+

[Pt IR 5 5 X A host bird 5L, Hd2at 7P T ULW] host bird /E A BT &5 5.
(R 11 B ST



(el LY ETASKI 8L, — BRI AT 5 S I BRdk, fEH# Ok B, iR SR T .
(e 2] MHRBIK &

(2 2] ARG, — IR RERI R S IR IX 3 TF, — BRI & i) 4 e Al
HEH AL

9.

[ A.0:] invasive species. XRYIFH IR B4 6E

[t 1) WsdfREnz, SRR EW# T LAz, Bt DAA IR BRI A4 A7 B

St 1] SRR Fry e 51 2 303K VEVE /N By, AR IXIE A 1 invasive species

| G790 BEINVR 5878 iR

(sl 2] Wil e 5 E iR, v LUE R B /KRN, 208 2R HE L.

10,

[ .01 2¢T migrating animal f¥], migrating animal 5 P4 ™4 &4

[ 5 1] focused,

(2] 1] Y, MATASZERH K EYE=RmE T, EEEMmNSe

L2521 movingin aline.

(st 2), %A —> Navigating HI#FE, ReH:BhiE o DL LA ITHEM H
[ .

11,

[rbone ] 3T (e Pk T B

(e 11 W% 2 LR

CseBl 11 —Sra i s 5L, s R LN, (R RN T C LS 4T BT, B 58 £55 Bk
(e 2] SR =5 A s AN 7 i T

Csetp] 20 A ik f B, SCH, [RIINST E0E e ek, XFEATDLSRHER), OB ™ dh

12,

[ 2] seabird ] challenge+adaptation

[ it 2 1] unlight too bright.

[ 524 1] {EJ2 seabird have small eyes , PBHYGASS5Fk2:, Frbltifg

[ 45 2] salty water:

(26 2] seabird RN —/M4%E ] LL absorb+remove salt, XAF#LRENEIE fresh water.

13,
[0 film BRI type.
(e 11 BoRyEdRE
(B i 2] BEORTESS

14,

[0 ] #eis N ARTE Y anfa 447 plants in rain forest
i 1) 1. KA b, s e a7 LA ISR FH
i 2) 2. BHIRHERHE, GefiK,



L5t 20 A3 RETE MeRE—HE I HR 20 ARG A7 7K, i3] BL| K B3R A L I, s B i R )
NECT IR RE AL SN AR B B ARG HEAT AL SRR IR, I BT AR SR A
7K 51 3t 215 L T )

15.

[0 ] PR RSN 107 2

(i85 11 AR RY

[t 1] M, SHolFLERAEME b

(it 2] JERPURAERR R, COVER THE ENTRANCE. I AB A WAL,

16,

[0 Y HHE2 solidarity iRl &, X Mhaf 2 ASJ7

(it 1) Fra A#R—i&2 1€, FTLL share the same experience, chanllege OOXX.

sz 1) 91752 famer $idthAi]—#2 TAE OOXX

[t 2] each individuals in the society depends on each other

[ 55491 2 HE town B 0., &M TAE, X8 A#f 2 —E T1E, KK depends on each
other.

17,
Crbee ] dh—Fp THSCAT 7 3o HURFATP BRI 6 T PRE . B 13X A A 7 AR

Ab

(i A0 1] AR A BE IE# HI SO AT R T2

(26 1] B i, Bk, "L 14U VRS, RS VRZRE. BEE T, 8
TORRT, BHEMRAT 2 KRV, TR BT 2. A RT T .

e 5 2] R AMIINSESr. 2 0 TARESEH A LRLR, B R T ARIRE, &k
LY E

18,

[rhee ] w s pres 5 F R R R &

e 1] i Tt e, RE TR

[ 1 EetmnpnmE

(e i 2] HAHIS

(et 21 i 0 . T efE 18 RS E 2 i H i E /. AL S, ERIEEAS &
KEHAZ TR Hris Bk 245 E 2 AN E K.

19,

[0 Y AE AT PR R R, —Fo i

[er 1) WIERRMAGTE T, REREE=1TN, KFERBN, PEGA—T
(el 1] B &AM AN ANWRATIE 1, iSRS A

(s 2] fhlie Bikbe, ibikE s, ANESRINMAEIEE K

Cscp 20 fhaig ikle GRAT ERIE Biklia——D EEIEREHE )G, #oEi
R e



20+

[ #.0»] second interest

(iR 1) Mg K—ik—

(5245 1] SL— computer,  i%— vedio gam
[t 5 2] Ui keep ZH

21.

[ehee ] w s A% 5 F R R Bk &

(e 1] BT, 7 2T R,

(24 1 EetmnpnmE

(e s 2] HAHIS

(el 2], dniiidd. mafe 18 AR E 2 RE AN &, MILRMNS, LRmEEA
R EHA S TR, itk Lk sam &5 8 2 i N 23K 1.

22+

bt Y P2 R oRE T i W A% (K 712

(e 1) TP mith, ZJakEtr, aTCABUASRNE, JF B AT G R 5
(iR s 20 el sl R 2 2, ARG L —LL IR b

[5t] 20 SRR AFRIET ETAL

23+

[0 Y HERIBT A B

(it 1] s e

(5261 11 —A> passion plants, i EH-F5% narrow, il insect ¥ ANE, T R&IZAFHF

[ 45 2] chemical defendence,

[ =261 2] potato, 2 insect e IS, B2 reactive, #R ) 0l —F AL~ W5, insect — 1§
a3 | Az, AT T,

24,

[0 Y #EZdk 7 #FP types of company growth: internal growth and external growth it /&
PR Z R X 51D

(25 1] internal 15 302 reinvestment 45 H VA ],  HLlnfif it Aam, SEEHER
[s2f] 11 2445 Wilson Aw], e 7 Frefin, TAEREPL, (AR N .

(1855 2 Yexternal #2340 43 /A 7 2 2811, increase the number of their location 4% /2iX FE,
[ 2] 362 2545 Wilson, JEIEHINAFECH, KA RREE, [FE 4 FHAR T Wilsons
(ZHO.

25+

QAR W EUIRFR DO N = F AN DR T 87 NS

[ig o5 1] AEAEAMTIERES I -

(e i 21 PRHRI A%

[5e] 20 kSt B /NikAT Bl BERBR ] S8R .

pal



26+

[ H.0:] freshwater eco system; 2 ways that human being cause the death of native fish;

[ 5 1] a.is by building canal, results in the coming of new fish speciies, who are predetors of
native fish.

[£ 4 2] b. by cutting trees, left nothing to block the sunshine, increase the water temprature,
less oxegeon, death of fish

27~

[ 2] Archeologists use different ways to decide the places where they should dig for findings.

[t 5 1] Surface feature of the land.

[ 5261 1] New Zealand. It has a typical structure. High land?

[t 2] Plant: certain plants grow in certain places.

[ 52451 2]Banana nuts tree were planted in Central American. These trees continue reproduction.
So archeologists find the place which has banana nuts tree to dig.

28+

[ bt Y 309z B wetland F P b 7 15

(i85 1) FRUR AR TR ez FrEigth, B ki R R
(i85 2] iEpEE R B,

(52 2 WAL ZAZ, B ELAZ

29.

[t ] A ResE A MR LR K,
(iR s 1] AITNEF—ADFSRE TR, R SA SRR RIS 8], LR T s
(e 21 NEARFSER AR, M AR TTRk, AT AR, I A E T -

30.

[ #>] ecotourism

[ &5 1] traditional tourism do harm to the environment, pollution and damage

[ 561 1] ecotourism: reduce the pollution while repair the damage

[t 2] walk and hike on mountain instead of taking the bus because the former do less
pollution

[ 52451 21 h tourists environmental issues and help to repair damage: plant trees in the damaged
rainforest.

31.

[#2] Anti-form artists il art accessible to all the people, FT LARLE i art inexpensive.

[ it 2 1] choose inexpensive painting materials

[s:45] 11 —~> artist arranged stones and used mirror to form a peticular scene.

[t 5 2] put the exhibition outside

L5245 2] %17, —A artist put his exhibition in the fountain area at the center of town, #Mii
XL cloth K47, AP AATTZ syt mT AR 77 (58 ) ik 5



32,

[t 22 0 — M4 name recognition 18 5 28,

[t A5 1) B R UEARETHE] name recognition, R EE ML FE, FFXAZFEH
1% H ELAE AR B 4

[l 1] 99 2 B E 2UR 2[RI 2877 S I 5 2 2 K44 - LU R 1) —Fol,

[t 2) 5K S NAT4 name recognition 1R %,

[scfo) 21 7 H a3 1= S A S UL E 2B E T 2 i S A AL

33,

[02] actor 7t screen Z B E Wik H L@ A 2 character #2<.

(125 1] % actor #)yi# king 2 HT LA king (1) 5 1 2: AL B A8, st G2/ NIafhigsg
Rfih )L, AIREEXT 7 SHLAS H2k

[t 2) SaBCRAAE, ALk actor BN M, MACHIRFERE. (

34.

[0 Y SiATHE SRR R ) dry season WAl AE 77,

(s 1) Z023E T mAsh, KA wildebeest, XANF T —E R JIANHF, 2
JEIX AR, A DAOKCE AR, KR AT LSRR K R, SR Gz

[s245] 2] SRS wildebeest 3| R =T 463 north 25, MMEFFEZ, WA, &7 5=
FEER

35.

[ .01 mermory gap
| Q79=W9 IR:ALN R TI EPSY v 1ib]
[itsi2] HMANRS

36.

bt BRI H 32 A H A RSORT ] 352 AN — R .

(s 1] AETRR T A, $5RSRRE. 2. SEIH, SBSARRNAHA—
P BUEREIFE R X, BB R E AR 5

(e 2] MRTIRBRBEARG A, IR 17— At B2 MASIRE R RS, K
Ko BUERFHETAFER A, /R A— D NEFHE

37+
[0 ] S A PR barrier, SRR HAR #4555 B0 4)

[ 5 1] chemical

[t 1Y 240 I —Fh &4, A4S BT — s M AR ORFE 1T, B ARSI —F chemical
ERXNEY L, HADSIYTICIE S XARIE, B IA SNz

[t s 2] physical

(525l 2] 55 b — Pl i — 1% littlestone FEI{E &4, FTLL block Az, W FHARZHIZA
IR L)



38.

R0 ] B445735, 2T collect information for business marketing ) 2 ANJ7v2:

[t 1] quantity way

(5545 11 —4> car manufacture, use IXAMJ7VAEE KEIAE, KW WAEZ TR P WS E
KA &R P IS E .

[t 2] opinion based il /2 v 6 18 & 2 25 1)

[ 2) ZARA T BN A B EZ TR ESEE/N, HHZTE survey &I,
RILFE car K back seat A @, % F i3 AR,

39,

CrR0 Y PFRAS 5] T R VE dn e CRAr HR AR 1

(& 55 1] tears /2NY bezel(# i¥)tears & continuously [,

[l 1] 72K BARME SR 5 X FiHR Y 75 Bz HE e A iz st T LAV RS LAUL kil bacteria;
(it 53 2] SRR tear 202N A4 A 1 occantionally

(s 20 TEHGMER 5 A 2 B0 sand 7% BIRRAS 5L, <7242 1XFh tear 534 wash 5, LA
7 R i damaged

40,

[ 0] self-efficacy: own belief on the ability to do well in some subjects. A P F two sources

[t 55 1] from your own past experience.

[ 5261 1] you always do well in math exam, X%k 12:1R believe you will do well in math
exam

[ 5 2] from other's experience you observed,they can be a social model:

[sepl 2] W —ANATE 2 similar AR BA conquer X, FI8-4 4015 H B ] LA conquer [A]
M . For example: your old sister plays piano well. you is influenced by your sister. So you believe
you also can play piano well

41,

[ #0212 cues to judge the qualities of products by consumers.

[i&:5 11 intrinsic cue, judging my physical characteristics of products, such as color, texture,
sizes,

[ =261 1] for example, food, if it has good taste means has good quality

[& 45 2] extrinsic cue, judging not by physical characteristcs.

[ =261 2] For example, juice, if the bottle of juice is a good looking glass bottle and has good
label, consumers think it has good quality. So products area evaluated by external packs.

42

(QRPVY WISl R s $iFS

(e 11 [Fl— 7y R AR AN RV iltn A s, DRI R WSORESI AN — B i AZE WO 19145 5
— FEAE Y AR AT A A 4

(A8 50 21 /b WIS R 7RO 222 33 A o )



43,

[0 ] SRS d £ % predator LR H 8 defense ¥ #7772 behavior
(e 1) 55—Fh. Bl fool.

[sefl 1) ft e E R KEE (bite), HITENIA L E K bite,
(&5 2] #4538 LL misleading i &%

[sef) 2], BHARR, skBEE, ibHEEUNENBET .

44,

[F02] zebra F1 trout FiFd fish 754 ik predators 1]

(&5 1] zebra & 174> small hair 2% sense /KIf1i#3), FrLh predators >k 1 'E A 155 AT 018
T, Bk

[t 55 2] trout 372 AT LA keep still 7E7K B2 281, #RJE LA hide (WFANE)

45,

[rFeee Y mH BT 4 2 13778 B S
[ 1] ik product tested, B2 1L dh A2 ™ B A T4 FH LRV 91 3 A9 I AR 78 Jod oK %

>
(o] 1) EFIRFEE W MG, 2GR 7, FIA—FRmPARAAER TR, K
T

[ &5 2) before and after demonstration, it &% 4™ problem A T H 1 7= Sk i v 1 1)
(25 21 —A/NIEKRK t shirt JERALT 7, HHaraiesi74f, M1 soap ¥ 1 LLE,
SR (1 — A

46.
[t ] S G ik R AR A AR — R A MR IR B R/,

(i 1] Wit n] A R A 2
(i85 21 Wk T ABLERIHS 24 4 48 mothering skill.

a7

[0 ] ik Marketing 5211, i services 2 IARE R — NEEM ARG, REHEALLH
PHHE A1 Service f2 4T MR

(o) 1) @i — A, & —A Painter %11l House 1. {HJ21R/D NJniEah, B9t
BUAMOXAS o AR5 W A T A L — L6989 5 5 G T a A E S v, sl TR 2 Nt k.
[z 2 wh i B A 3E PART f0S ) Work 4 take photograph, — & Potential customers
XUt ) TAE P2 AR T i

48,

[ #2] the effect of the expansion of rail road to the business:
[ &5 11 companies can sell products to all over the country
[t £ 2] can locate the factories on places where lack of natural resouces like coal

49,
(0 Y KT EDEEE. QML AL T ELH SR, FTAEE R IR A2 P A4



#l: business plan F1 executive summary

Cig s 1) vl 45: raeff—FEE, aFEitRl, AN RAREAHREREE DGR, X
HERAEH

g 2] W22 HHRIFFTRERZ 1, REEBEXHE WAL, RANEEME, RIOGELD
BRI,

(et 2). MREEEREWR S NRER BT — DA, 1ED A AR, LAEMbATHRI,
ERMREAENZRE, FAREIME, B2 NG 7RI 545 fh 5% 55

50,

[ .02 ] Narrators taken by fiction authors. /R £ 1 2 & 8L 5 /Nt (IR MERL 8, AN B4
AR, A JLAFRRUR .

[t £ 1] descriptive narrator (55 = AFR). 2Rz ERTET, mEEHIEEAN
ISt

(o) 1 R — 5 — 2o L0RiE,  ARAT DLEREADA TR IEFIZ0E, (ERAFIE A 148 AT 4
[t 55 21 Omniscient narrator, #ftA2/R AT LLAIE £ A A OHERES

[ 5245 21 Omniscient narrator, #ft A2 /R AT LLAIE £ A AR OERES

o1,

[rbte ] e m] DUERAF ARG B [ ) i B

(it 5 1] 5ok, sokaEA g ek,

[sefpl 1] 22 K& FI7biE, H—0E 2000 Z4E[7H painting, ZUEIRREEH, AR, 5
IR A 8 3t /K

[it:5 2] shsE S, WHERSR, TiEEK

[ =261 2] ocean B A /NN, HLIHA MM, in good condition i & K N FE IR, ShE!!

92,

[ bt ] ShW e 2 i SRR AL 220 chemical SRAZHE communicate. X R L2205 A 7
R

[t 25 11 JIW7 location: an insect can use this chemcal to guide another insect from food to
home.

(55 1] Z % bee $R IR 1%

[t s 2] this chemical is the signal to show that fmale animals are ready to mate A2 .

[ 52451 21a femle mouse can relase this chemical, so a male mouse can know this female mouse
is ready to mate and can find where it is.

53,

[0 Y NS KA B A48 in forest BERETE RS FI/D YIRS N AEAZ 5 A
(s 1] =M, = slide AR fE.
[ it ri 2] dark green color can absorb more light, the darker, the more light can be absorbed

54,
[ehee ] SRS MR I feature

>

ib]



955,

[eb] S0 T Bk ER T B, PRI

[it s 11 Skt

(sl 1] RN, IR, AR GRUME 755 B sk
K,

[it i 2] Bt Atk

[Sfsl 20 %601 —Fh moss(ReFig), SALTET b, flat JLABKIA A St

56.

Crfee Y PSR SR LR i i Ak
(g5 1] 288 BRI 5% £ features
(8 21 BT TR AT I R AR AR IR 5 4 R LA R

YA

Y T ERPIRTTE.

[& 5 1) ingeneral HUIEH B8N AT, LE XWX NAFHE O

[ sz 1 3258 B slogan 2 last long, 1M A2 414 B 54

[t 0 2] ALK E ™ i Dh g

[ s8] 2 Mol printer, A& &A% printer 32/ % #5717 with computer, slogan #2"printing as you
go"

58+

[P0 YRV Ui AE—A tropical rainforest B[4 7% animal #7E canopy I & tree to tree
FIWIATR T survive ShfE, SHLIZIESE, HEAGH B FP behavior:

[ 45 1]searching food alone, individually K] 91X A4~ Hh 77 HIE& Y918 4380, group —E4 &4,
MBS, % HI4SH better chance %55 2171,

(52 1) 898 ape #ECIKE

(1255 2] make sounds R H S . %5 B R BT SRLE I 1) il oh ATl EEASSRTE A
BRI R el R e

(524 20 Bi—Fifk 7 monkey AT A, SKLEAS /N Co it N FLATUHA I B4 i i 2l (1) Hb
#to

59,
[0 ] ANEFH logo A P TH

[t 55 1] negative signal

(s 1] thin B AR B s A e ), KERASLE

[t 2] A old fashioned.

(s 2] thdn, — A mERHRE A & ISR EIEHUE AR, XFERERDN.

60+

[+ 0] comparative marketing
[t 1) i AARKIIE T competitor (144 publicity of the name
[s2fm) 1] HE soup () 2 1WA taste better A1 35 4% T+ 1) 44 7Bk ARk



[i£ 4 2] insult consumers

(et 20 56 A 5 Ui B & AL, 2 insult 58 B B
61.

[ A.0»] wild animal use nature plants to protect themselves from iliness.
[ 1) YA ezl DL E AR 2% 1 monkey FIRJESE

62+

(0] KT AR MERE AL WEHE IR E .
[l 11 Be—HEN B RE, ASRESIN R0 w1 8 AR 122 BT B RO AR Tk 2,
[ 2] FAESEALLE I 85 1510 % -

63

[ .01 REWARD X F-47 A B F 520

(it 1) ek

(o) 1) A BB M F ISR 1

(it 5 2] [HAS

[t 2] BUONFEASKBOSGEE I AR PO AL % 1 RO 2l A 24

64+

[0 BoEif, XFhE AP benefits:

[t 1] n] LA get food to survive

(241 11 ell fish(?)v] LA 25 shock ARLE /N, SRIGHVEAT 4 &4 to survive

[ 45 2] =LA navigation environment

(24 2] knifefish 7 DABCE ZS4RIIRES, DABfE 7). Hhineid®]—don sk, Blth, K
T IXBEHE, e sad XA k.

65+
[0 Y 1R 2 BRI E A AR Vi waiting time (X FNVAT AT &, SREEIEA R LR FFIN

I IR), T A B N5 A ] conceived waiting time, i /& the time that consumers think they are
waiting. i 5 — BB FP HEES K cut conceived waiting time.

(i85 1) ibBi% A %l fif: Let the consumers have something to do.

(52 1Y 45 7 A1, — 2 fEERBEAR S =1 doctor” s waiting room, JEt—HER TV, KX
BHM, ARARE L 2T —RIEHEM elevator, H—8iT mirror, KEXEHET
RE—F, W2 T, 5t cannot conceived the waiting time 1 .

[t 2) SURBEARA TSR B2 FF T £ A tell them the real waiting time. R AsiEHC
WAFERK, ST M REOAE T T, TRERES.

St 2] X 58 R g fe i DIt K e, ORI\ AV [ 5 AR, 38 2 KIS [H], 3l
13X FP tell you the truth 977X, >k reduce conceived waiting time.

66+

[ Y MY 5] TR B AR FIP R V%
24 1) Bk 2295 emit certain chemical
[ 1) 2500 —Fhkd), 52 3B B chemical, 1) L attract %) i H 78l KX fhd iy



&5 2] friendly way, 724 HFERZHI AP, K keep the insect aroud.
(45 2] 2345 — AMFEYIRE ants SRR TG, IXAEE F 402 ant. Y8 2 BGHR, ant
BSTE T BUh MY 2 AT A A IRz f

67+

[t ] B plowing PS4k
[t 55 1] nutrition ¥ closer to plant
(it 2] prevent &%

68+

[0 ] arketing #&44 A M50 55 I AN XURS:
| G79=I0 WN NS SE LN -
[it55 2] 2 A nTRe S TR R T 10 7 o 1

69.

(e b ASEHUKAT# T

s 1] HR

Cse 1 7 I Sk BE4ERR Ko

(&5 2] HA2Thie

(st 20 REsesn, KR T2 Thie

70+

[ #1021 Reading: In the world of animals, —££714/) confronting and fighting against predators.

[& 5 11 Akind of dove always likes to build the nest on the ground. It's easy to hart. When the
fox comes, one dove always pretends to be hurt, and cannot fly(luring). So the small dove will
survive.

/1.

[rbee ] B BEAEARIR A KA £,
s 11 HES, R, Wi @ps e A K .
(e i 2] RpRTAk, ARG, T AAT.

72+

[0 T BN TS B AR SE B 253 2089 B O i | T s A A 7% 2z A
T,

[igri 1) B —NEEAFEBER/ N, SN)a e fifl, sz,

(=261 11 %172 memo # I [¥) someone in the group will have unique color from others, the
predador will go after him

(it 5 2] A TIE 24X L group break up,

[zt 2 /NEIAT 85K 1, 680 1, MELRE 1, AR5l & &tk —A> group 2184 Eh Ik

73+

Creed b ANT28 A, GRS SR B %
e 11 17 7 BYHIRIR.



Lkl 11 9F 7 lise, ieiess, JFHRART IR,
(e i 2] @34 T BRI Z 50 o — s fites
C9ef] 20 Leamli=e 95, ol == mr DA & BR 9 A 951 .

74,

[0 BEIT YR £ famer i JRAEABATTN crops 5518 K weeds, {H /& 522 4 Bh T crops il .
[t 25 1] BA coffee 15 5 2 PR FE/K 1=, protect fortilized soil wont be flashed away by water.
[t 1] DR e s 8 4 AE L b, TIREE stream il o i iy 2 IR 645 77 1) soil

(it 55 2] HIRBi 1k insect 2217 coffee.  protect coffee's leaves not be eated by insects

[ 2] BONKAE— i insect LLACE iz

75+

[ 0> Ibiology class, the professor introduce one special character of animals, making electricity.
animals can benefit from it in 2 ways

[i&5 11 capture food

[=2%1 1] e.g eel, produce strong currency shock the small fish then eat it.

[t 5 2] do not get hurt

[ 5245 21 DX X 44, build a electrical field to know the dark environment to avoid from rocks.do
not get hurt

76+

[ 0] YHEIZ 5 previous knowledge A& 44 unusual A%,
(2 1) 55—AN% music 247%, JUEEIRICH, WERZS T RIS, AHE recall 4175
26 2128 —ANJFRPE | unusual H 1R B2 IR 5 [ R, common B ANEF[RHZ T

77~

[0 Y P35 7E marketing LR 3, S0 2443 1
Cit s 1) Fdp kb,
(el 1] 4G5 LAT#8 R B, St XA, AR BRME T 7, HH &%
(i85 2] BRICAD) P54
(sl 2 LRG435 R K a8, DERA —IRIINERE T, =N T IR 4, iLIRER,
FEZEH W] LA
78.
[ ] bk e
(i85 1) A E IS R AR A B ko NPT S B3 i e . IMIRAb A b g, 5453
actor 1R powerful,larger
[25 11 . Queen of England iR A 1 XA B flifqih BAFIR &5t .
[t 2] A kb, 245 actor R small, Jcii.

[ 541 2] A man lost in desert Bt 1 X FF-Bt. F1J KK desert th, XA Nt 2318 TC B,
1R hopeless.

79,
[ #1021 psychology lecture, P AT make choice [ strategies,



(1255 1] maximiser s R W RE 2 IR FE IR G — —1PAL 3R B s & a1,
[t 1] satisfier 3 REH 2 H A 755K 1 mh 2296 A2,

[ it 5 2] astudent studing journalis,

[ 5245 21 another one who wants to be laywer for the high salary

80.

[ A0 ] i the two strateges of making the students to follow the rule in class .

[ A0 1] BRAA AR g i) g IX AN E o

[sep) 1] 208 SAE /N EE, IEHE T A VIR B2 RVEFITCR I E , (HRRZ
AA follow. {H 2T g R il e X AN RIE A2 9 T ik 22 A B aF e R 11 25, B OLscE T .

(it 55 2] ik E1A[A] the rule

(st 2] S22 0M e H RN, AEprA A, B E Bl . XTI
FAXTE A AT rule A FALE T o

81.

[0 ] A reinforcement, 43A positive reinforcement il negative reinforcement
T, RIEGIMEEAE UK AN NGB PRI B H A S B ZARP .

[t 1] positive (add the pleasure):

[t 1] B2 B i) food, IXFEE AT DALEAR E 4R ZiX F behavior.

[t 5 2] negative (remove the unpleasant behavior)

(56 21 AEXE - shower, JBARTLASAEN: Iy IKREABEARRIPA W AL T
82

[0 Y TS kS AR i PN T 1

(it s 1] 72 G @i (e ik 32 A 2

CscB 11 BrR M) 3 BRI 13 XA ALY H A 1] B

(e 2] ZEMSCERiN ™ fhah &

Cset 21 AL UMITAA A ANNER, AR IaSal 24 R TR A BRI H Lk

83.

(e ] R, A8 el SRR R as B RO B, A WAgE
(5 11 — N8 D B MME B B, RARBIH &, e iTF ORI R, R

JaFRLIEE
(e i 2] @ B0, I EE LR H ORI T, Mkt
84.

[ rF.0:] barriers for newbusiness. Wil type, #1311

[ %5 1] financial barrier:new business, 7 %2 K &8 84 2 B ) (H 2 X LL 25 H4 7E earn money 2
i /& Jei% cover K.

[ 11 ARETF— A% & by, 5 BEAC B SRAR 5 2347

[t 2]  customer loyalty:make customers stop by your business.

(2 2 AR SRAEARITHIME S D5 I MHE O — S b5 1, WnT ik ias s AR i e 5 s -



85.

[0 ] X T Marketing )74, #85—MARK, MMk adpdid? A J7iE:

[i8r 1] RER B

[ 1 bednh DX A2 B i AR 2t 1) 4 DX AR AR R R bl T 5 4

[t 2] 5K G E 4 Joint Marketing

L5248 2 JLb Anos /&A% Ha Fid () T DICKS: T 55 SO A X R FL P 5 7 5 1) Leaflet T — e 4 o

86.

(0] AR B8 A RETRE 2 MR
(8 11 AR ANBRAR BN 7 i

REFBRRER, HEX M

[ig s 2] iR NBRAR BT AN 22 5] SN v

[sef 2] Ui AN Z% A ], IR bR BTSSR SCRE2E T RO Rt IR A A e A ILL
AR R

87+

[0 Y ZEWH mimicry, 618 £ B dL#045  mimicry REfR4 B

(e 11 —Fhasbi A B A AT T VR B ORI RS (B2 AR E LR HE so the
predator think it is dangerous. i A~ 217 €.

[ szf] 2] —Figk, it looks like the predator, it LA predator & & DL A2 [F 25 AL 07 8.

88+

[ #.0>]1 2 mechanisms to make it hard for the predators to predict the next behavior of the
animals

[& 5 1] Squid don't go straight, and the speed is unsteady, they choose to move in a zigzag
pattern which makes it extremely difficult for the predators to anticipate its behavior

[ it r 2] quid can change into different colors, they can change from pink to blue then to white,
for instance, the predator stares at something pink but all of a sudden it changes into blue, it
confuses the predator thus gives the squid a chance to escape.

89.

[P0 ] SeF i 3SR AN solution
[t 1) H pipe 51 52 &K EEM T35, XKL A salt 717 [k
[ 2] FhiERELE salt soil £ K HIHEY.

90.

[ #.>] Two adaptations of rain forest plants to avoid water accumulation.

[t 1] Coating of the plant

[ 11 Some plants have waxy substances so that when rains drop down, it is not easy for
them to accumulate on the plan surface.

[i&45 2] Shaped leaves

[ 52451 21 Some leaves have drip tips so that water can run away very quickly



91.

[ #.0:] animal live in group which makes diseases spread easily, they develop defenses to
protect themselves

[ it s 1] Behavior defenses

[s2fm) 1] M3 &1 ants <> clean more thoroughtly than 78 7).,

[ 2] Bodily defenses

[ 5265 2] 251) develop #ihfE, ants 2> VIBREKYLIIES /> - Ants give out a substance to remove
virus.

92.

LAY RN s 2 2%, H P4 draw backs,

[t A 1] B FESA A BlHT s A

Csefl 1] el n B, BAFRIE TR Z BRI, /IR s AT &
5E o

(it A 2 — ANk f A 2R R g HoAth 4y s .

[sefpl 2] B ERIB 7, —AMRIEE, T2 ATt 25453 HoAth 43 1 X B

93.

[ H.0]) interview 23 FFh, —FhZ unstructured, —FhJ& structured.
[t 55 1) Unstructured il 2 [ {8 [m] 25

[sef 1) city A RA, RIMFLETEE improve, RAVRBEES
[t 51 2] Structured Ht28 17153 detail, A ETHAE,
[sef) 2] JRECAE improve city, % )2 BAA/E 4 improve.

94.

[ #.0>] business network: a group of people join in one group, they meet and built up
relationship, friendship,they can benefit from each other's expertise, which means share each
other's skill.

(it A1) £ group B A\ H.AH benefit

[ 5245 1] /> restaurant owner, %3k A\ manager financial, 4% /5 #h i business network %
INH T —/> account, Jf H. trust i, bl T DAE B JE AR I A

[t 5 2] WTLA recommended [ IR AR A o

24 2] 473872 restaurant owner, A RILART owner tHAE#K account, XN fi it gk
A LA account i 2.

95,

[0 JF infant ERIERH care  givers < R Uf. T infant SKii, WAIZH, IRUESSRIT,
ERHLIFA R,

[ s 1) 2z 7 A 9286. 5 4> —FE ) monkey  infants. 254> monkey ¥ care  givers:
— MR infant FERIEFIRIIAEE, WA PRI T — DRSS infant 5 MARTE. B
infant 73l & PIFIAN R care  giver 5 FZ I 5178 « SR infant A3 R 4T 22 5 WO HE sk 1m) 25 HENTE,
SRR, ANESZTBF care giver 45 infant FZIFIZR VG, infant #RICH IS ET RS . A EET
2 giver



96.

(bt ROCE RAZ LR b S 1

(8 1] ARt

Csehl 11 SR, e BITJGEMIR, IEMEEE

(B 2] BRETRE, BRESKIIAZ, REFLIBRN, WSHE AN
(5] 2] — BBy, RONTIRE 2 T8 2 Tk

97+

[t Y i A town 2] major city 5 ) TAE M AR Z &R <> return migration. IXFE SR
% benefit

[2 5 1) ARFE IR TRk 7 7 (B RIA8 I8, SR Al 2 B 2 S B U AR ¥ hometown,

(5245 11 —ANE nye TAERI AR hometown 1£ 1 lower price 3£ T ANFI nye —FEEFII55 T
SRJG SR TR 2%, Al [E] St R 2 A ) hometown SE 551+, IXFEZHE T hometown [
RIE.

98.

[rbee Y SRR AR REA RARAR A L AL,

(i85 1] AT T RIRIHES A AL AN R 215, SRR M e
(el 1 Wik RN, A A Dt s Al B9 B2 BB i g
(i85 21 AR AT N B AL 8 RA AR B 4

[sefl 21 TARRMG, ARATEASIREE.

99,

[0 ] flooding XAV SN — g RS 2 A HARNETHH flooding.
(&5 1] flooding & H3#AEIR, B F—FPAqfig tilt (o4 -+
(it 2] 2: flooding R R 1, A AT LAG] K BE

100,
(oY YR wading birds, AL —SEBEXRAEKIL Y8 BARIZ I . (FR T4, AT

LI, 2K T 2 adaptation:

(it 1) e BARME 3 A A R BT A A%

[ 524 1Y 70 1 stork GE R H4 1. .. )E A special beak 1R K H. A sensor, JE % sensitive,
It AR IR s 21308 B ) R 78 st e o0 2 S 02 B9

(it 2D SubfEie 25 sink down, {HJZ stork [KII1R 274 AE sk 7E T b

101.

[rbt Y 8K IS sh A B S Rhd 5 3 (2 adaptations ofinsects walking in water),
it/ 1) BRAG 70, AT LU oK, 1 HAEE kR, giantwater bug, broad and strong leg
(it A0 2] BRACH (thinleg), 7T DLFE K TH P2 70 AT R E, AR K

102,

[ Y Ak 5 SUTR A M A5 3
Q7= RETRSR/RIDE



Csefl 11 Gl yfp], St i s g AR CHLRIHLIR —FErT DULEE R ETHRPIRES

Q79 BETAL Sut Sup R IDENK 4

5] 20 S AR R S 8 TT DAFE K LR AU, RN vl DURETRC U, I AT AL B 4
TR K o

103,

[ #.0»] Two behaviors to help animals get used to canyon:

[ & 5 1] searching food alone. A7 ape, ‘EA1HZI plant scattered in large area, WIS BT
F(ingroup) W&, BYISAEZ.

[ & 5 2] ake sound to mark their territories. 1R 2344 H R4, W e AT 45 b gl 5
FIshk N, AIRESL fight and cause injured. {EA I BRI R A /NOBENIT, FENEIR
2L . FTLAE make sound.

[sef) 21 5 —Ff monkey it A2 IXAEML -

104.

[ 0> Fh crops ZHi5G plow —F, 2 ways that plowing help crops to get more nutrition.

[t £ 1] bring the nutrition to the surface. AS2X{HE FEHSE (RIKHRID

[ 5241 1 Jcorn, when it rains, the water brings the nutrition down , by plowing it can bring it from
bottom to the surface.

[ it 55 2] prevent other plants to absorb the nutrition. B4, ByibEs54

[ 5241 2] corn, weeds, by plowing it can dirt the weeds and the weeds die.

105,

[ #.02] There are many ways that advertisers sell their products.

[i£ & 11publicity,newspaper and magazines. A product can be showcased here because it costs
less money.It is much cheaper than making a commercial.

[ 5241 11 For example a new game is showcased on a technology magazine. There is no need to
pay more to gain more customers this way.

[t s 2] Creditability. Another reason is that newspapers and magazines have creditability.

[ 5241 2] People tend to trust them more and this is a great way to sell.

106,

[t Y it 1 s s 1 i P Jr ik

[t 5 1] BY SIGHT

C9ef] 1] M7 AEmE AR BX, BRERTITTH;

[t 51 2] BY SMELL

Csef] 2 =30t 5 [ vl [ B Al A T AR 37, SR 5760 .

107-

Crbne X SRR AR ) IR

(925 11 A AN —Fh tree SIHERIRAE, (HEZMHLR, BLET S 17 KZH sunlight,
T A AR ) 52 2520 5

[se 20 SEEAE Dy —FiR attractive 151 #EFISEE, (HRERMRIRAIL, Wil 7 K&
7K, AT AMBIREYIBOK 1.



108,

[ #.0»] Process of creating sculpture. The professor mentioned two basic processes of
creating sculpture. (professor [ J515) .

[t 55 1] subtractive process

[ 5245 11 This process starts with solid materials and then you cut piece by piece on the
materials until some shape is formed. /Mt 2 A L VFJL45.  For example, you sculpture a face
and you make a nose, eyes, {HU1F/RAE X &+, you have to get rid of the whole piece.

[t 5 2] Additive process

[ 5241 2] This process is just like its name additive. People add things on to the sculpture. This
process allows mistakes. The main material people use for this process is clay. If you made a nose
and you don” tlike it, #tAI AU AMRA B ST, SR OB

109,

[ 70> ] fter the late 19¢, the growth of newspaper [J4H &S24 K (R BSR4 7K
).

(i85 1] BRMA R

(2 11 DARG AN BAR AR 48H /2 Not available, {H R R AT ENBEA RN K INAR
ERIMEA1R 2 (R 4R n] S it

(i 5 2] publisher A 3= EEE Rk AR, T2 SR E RIRE T

[t 2 A AEFR AR AN G 7 RIE T 2, BT AR AR(E & .

110,

[ —ANEERI/NEEE, B monkey HEMELER I, 1Z/EAMK.

(5245 1] 55— —Ff monkey GEANVEL T T, Fife B4 HBL, XA monkey H 2Nz
22 ¥ 1) - (tender leaves) 5t T LAANTE 208 7K 435

(4 21 55 —4% monkey J& 2 N W JE AUKHE B /N it 3% L 7K 45— Fh spider monkey &
# cup-shaped HEY), I FHEYIVES SEK.

111,

LAt Y SF2 477 Rl i 1 B Qa4 38 H R B

(it 5 1] lizard, RIS, EEEME K, ARECE TREEL, 7 Eiri.

&5 2] GEWriE? Dolphin? ), HESEFIREE AN K TG ERE , keep an eye on, A & 41
%

112,

[ 021 restricted codes, i /& same group A AT LA 1R /D 1936 18 5k v DLLE S bR 2 .

[t 5 1] share same pro knowledge ) A x4~

[scfo) 1] BRA 1A FHAR D (s 5 o] LARRRE , (R ERA 5Im N Z [t 28 2 A5 A4 B B
[ =45 2] picnic &% goat iz |, LUE KK W R EHEE goat, picnic #i5E, R PUMEH H=

2|

It o

113,

[ #1021 reasons of different color of eggs.



[R5 1] WTRUBRRERON , IR SEETTRAE A1k N RS R BA T
(e 2] kNSRS BERER egg B RIS AE, LU duck HER, FEARIRIIT = TAEETS

114.

[P Y WHE VD A A el 78 5 A R A2 A7

| Q79 =N IR 1 2y § N ]

[s25) 11 Y cacua HIAEY), &K HIRZ hair, XL hair BEfS BN E M1 EPVERTE,
IERTSSRITAN

(it 2] B, BhibRmyb 7 g .

(=245 21 Y heion (IFEY, B Rl DAPRIEAK, BiikB OgEAED+ B,

115,

Cebeee ) sy 7447 A PR AL
[R5 11 SR SRR RGN BB s & &
(it 2] B30, BCEA ST K, WidEmas

116,

[ #2] 2 kinds of explanations

[t 15 1] when people believe other things are responsible for their mistakes, like excuses.

[ 5261 1] For example, as a teacher, he always hear excuses like my alarm clock didn't work , to
explain that they didn't want to be late.

[ 5 21 when people know they're responsible for their mistakes, but there's a justified reason
behind.

[ =261 2] For example, if someone ditches the class to go to a job interview thinking the
interview is more important than the class, this kind of explanation is called justification.

117+
(bt Y B b bR P 5%

[t 4 1) HiREEH244%] build construct in shallow water or near shore, iX#¥ construct J&
% force of the wave, decrease amount of water that reach the beach, F&E#IREE IV
=

| Q790 BN U= b NI MR

118,

(A0 ] fREEEIZ Y strategy:

[t 5 1) #A7 rewards program, Z53THi AL

[ 11 % 10 N =BG — M2 i =R

[t 5 2] product design. 2] ()7 i B C 4

(2] 2] HFUERR A B HIE AL AN X6 25 X Bl &

119,

[ #>] Two adaptiations of rain forest plants to avoid water accumulation.
[ it 5 1] Coating of the plant
[s2451] 11 Some plants have waxy substances so that when rains drop down, it is not easy for



them to accumulate on the plant surface.
[ it 5 2] Shaped leaves
[ 52451 21 Some leaves have drip tips. so that water can run away very quickly.

120,

[0y ] Wetland F W5 AR 44
(855 11 W LAAE Y 22 (1B fi By vk 7K
[sefsl 1 RO, ay B K

| §7:9=W3 IEINVSVR-E S A A==t/

121,

[rfee Y A48 —Fh & ) SRS IR ThRE B
e 1) B a3, Reiisman s &, e
(e 2] efexsd WTEA RS, MEEAIL

122,

[ #.0»] 2 advantages of telecommute

[t 5 1] Protect the environment

[ 2451 11 people won't be driving to work any more, cars create significant air pollution usually

[ it 55 2] Offer more job opportunities to people in rural areas

[ =245 2] before they had to commute to larger cities to look for jobs, but thanks to
telecommute, more companies in urban areas are willing to employ people from rurual areas.

123,

[t S AR (5, PiAbf
Uit 11 P
L6 11 R SR (R38R R AR (8 31 B
Uit 21 AL
S0 21— SR b R4 5 TR 2 6 05 5

124,

[t ] PRI HRAR AR AR KR 7 2
[t 53 1] thick tissue CRA HL I 2L () H55 (vital part) A stay cool
(%5 2] drop off CAHRBN M7 ORIFHRI T HIER 70 R EAP RS



